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1. 2 _pameesd sriystpd

vipFE 1.1
1. AXB,AX Auwpgib B X A mé Snewis.

swiors LuwiBd GFuiwe.

[ 83 Guratsn zwriEzar ]

(@)

(ii)A={mn};B=0 1. AXB, BXA wppib B X B eyfusuimp @reis.
AxB={ } @) () A=(2,-23) wpmd B = {1,—4} (i) A = B = (1,4}
AxA={mn}x{m,n} a&nll: A={1,3,5}, B ={2,3}aafed

_ (i) AxBuppd B XA o srens. (i) AXB=BXA
= {(m,m),(m,n), (n,m), (n,n)} a@or? BeoereGuiaiey gen? (iii) n(A X B) = n(B x A)
BxA={} n(A4) x n(B) ewmés & Gs. (SEP-21)

2. A=1{1,2,3} wpgnb B = {x|x eemg 108 elLF HAPw usT elewi} eafed, A X B wpgib B X A
SLAIBOBE STEHIS. () Ga1 Bursip mekEmer
A=1{1,2,3} suwiote LUlBd Geuieab. @
B = {x|x eeugl 10- alLF Pl ust 6ew} 3 pyg— {(=2,3),(=2,4), (0,3), (0,4), (3,3), (3,4)}
={2,3,5,7} aTedls0 A oBmib B & sneviis. (APR-23)
Ax B =1{1,2,3}x{2,3,57} a.&rl2: AxX B ={(3,2), (3,4), (52), (54)}aafsv
—{(1,2),(1,3),(1,5), (1,7),(2,2) A woipid Bs snewis. (SEP - 20, JUL - 22)
(2,3),(2,5),(2,7),3,2),(3,3),(3,5),(3,7)}
B xA={2357}x{1,2,3}
=1{(2,1),(2,2),(2,3),(3,1),(3,2),(3,3),(5,1),(5,2),(5,3),(7,1),(7,2),(7,3)}

6. A={xeW|x<2}, B={xeN|[1<x<4} wpgib C=1{3,5} aealed, OCarBoHsILLBeiem
FLORTUTHHNF FHUMTHS. @ [JUN-23 PTAS SEP-21]
(i) Ax(BNC)=A%xXB)N(AxC) : :
LHS: BN C ={2,3,4} n{3,5} = {3}
Ax(BNnC)={0,1}x{3}=1{(0,3),(1,3)} cecvrurrrruns (D
RHS: A x B = {0,1} x {2,3,4} = {(0,2),(0,3),(0,4),(1,2),(1,3), (1,4)}
Ax C =1{0,1} x {3,5} = {(0,3),(0,5), (1,3),(1,5)}
(AxB)n(AxcC)=1{(0,2),(0,3),(0,4),(1,2),(1,3),(1,4)}n{(0,3),(0,5),(1,3),(1,5}
={(0,3),(1,3)} cererrrrnene. 2
(1) wimib (2) Ompa, AX (BNC)=(AXB)N(AXxC)
{ @31 Burary sswsBEay swore LWibd GFlweyb. J

4. A={56},B=1{456},C =567} aafls, AX A= (BxB)N(CxC) aang & Gas (JUL-22) (sm)

5. A={1,2,3},B ={2,3,5},C = {3,4} wpmi> D = {1,3,5} aiefled (A N C) X (BN D) = (A X B) N (C X D) aieiuig
o ewienown o6 BFTHHBHELD.
6. A={x eW|x <2},B={x eN|l<x <4} wpgd C = {3,5} cialled, QB1BHHILL Beilen FOSTUTHB®6NEF FRUTTESD.
() Ax(BUC)=(AxB)U(AxC) (PTA-2) ({ii) (AUB) X C=(AXC)U (B xC(C)
7. A aeiLig) 8-206IL& GHemmeuTer BUIe) CTERIHETET HEwID, B 6l6iiLig 8-23 6l GHemBeuTed LIST 6Teuidene Sewid WBEID C ereiig)
S OLLILDL LIST elamiserean Senih eiailed, dpdsemiieupand gumiss.(i) (AN B) X C = (A x C) n (B x C) (SEP-20)
aanl3: A={xeN|1<x<4} B={xeW|0<x<2}wpmb C = {x € N|x < 3} er6t1.
(HAX(BUC)=((AXB)UAXC) (i)AX (BNC)=(Ax%XB)N (A XC) senusnaupenpd giumirde.
CQRlLA={xeW/x<3}, B={xeN/1<x<5},C={357}aaio AX(BUC)=(AXB)U(AXC)gms aimss. (APR-23)
2A={xeW|0<x <5}, B={xeW|0<x<2},C={xeW|x<3}aalso AX(BNC)=(AXB)N(AXC) mF
gfurirés. (PTA-3)
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7. A eleiiug) 8-malL & GenmeuTer Buied elewiseier Hewild, B eiaiiigl 8-83 6llL& GenmeuTen LIST 6l6Ig6lTeor
&ewnd LoBBID C aTamigl Sl enl [ienL LIBT 6TeIbeNeiT HewilD 6TeileD, SDHHEMIL_aBanBF SLTTSS.

() AXx(B—C)=(AxB)—(AxC) -
LHS:  B—C={2357}— {2} = {357}
Ax (B-C)=1{123456,7} x {3,57} (e
={(1,3),(1,5),(1,7),(2,3),(2,5),(2,7),(3,3),(3,5),(3,7),(4,3),(4,5),(4,7),
(5,3),(5,5),(5,7),(6,3),(6,5),(6,7),(7,3),(7,5), (7, 1) }eceeror 1)

RHS: A x B =1{1,2,3,4,5,6,7} x {2,3,5,7}
={(1,2),(1,3),(1,5),(1,7),(2,2),(2,3),(2,5),(2,7),(3,2),(3,3),(3,5),(3,7), (4,2), (4,3),
(4,5),(4,7),(5,2),(5,3), (5,5),(5,7),(6,2), (6,3),(6,5),(6,7),(7,2),(7,3),(7,5), (7,7)}
AxC=1{1,234,5,6,7}x{2} ={(1,2),(2,2),(3,2),(4,2),(5,2),(6,2),(7,2)}
(AXB)—(AXC)
= {(1/),(1,3),(1,5), (1,7),(Z,2),(2,3),(2,5), (2,7),(3/2), (3,3), (3,5), (3,7), (4/2), (4,3),
(4,5), (4,7),(5/2),(5,3),(5,5),(5,7),(6,2),(6,3), (6,5), (6,7), (%2),(7,3),(7,5), (7,7)}
—{(12), (22), 322), (42), (5,2), (622), (7/2)}
={(1,3),(1,5),(1,7),(2,3),(2,5),(2,7),(3,3),(3,5),(3,7),(4,3),(4,5),(4,7),
(5,3),(5,5),(5,7),(6,3),(6,5),(6,7),(7,3),(7,5), (7, 7) }uerererere. (2)
(1) wppid (2) mps, AX (B—C) =(AxB)—(AxC)

uuimpFE 1.2
1. A={1,2,3,7}&B = {3,0,—1, 7} aiefled, Liaitaumeuaieupmled eleneu A 0(hibgl B SHTT 2_BaB6IM@GLD?
R, ={(2,1),(7,1)} @ oz 8urra’rg1 asmrlzk@a.;a&
AXB = {1’2’3,7} X {3,0, _1}7} Gwwors uWiBd Gauiweyid. @
= {(1;3), (1l0)F (1! _1)l (1)7)F (2)3); 1L A = {1’2’3’7} . LDH.}@‘IL.D B = {3’0’_1'7} 6[6@60’
(2,0),2,-1),(27),(33),(3,0), e S
(3,-1),(3,7),(7,3),(7,0),(7,—=1),(7,7)}| () Rz = {(=L1D)} (iv) Ry = {(7,~1),(0,3),(3:3),(0,7)}
(2,1) wigid (7,1)€ R, sr.asrr..1.4: A.= {3,4,7,8} wg‘m@ B = {1., 7,10} araflsd Le‘h@.n
5 (2 1) (7 1) ¢ AxXB B 6WIMhIH 6160 ST A -e0mhbal B -5@ e 2 meneld
ayensd> (2,1), (7, spesems? () R, = ((3,7), (47),(7,10), 8,1}
R, syoviz A 6dmibg B &amen o me| evenev | (i) R, = {(3,1), (4,12)}

(lll) R3 — {(2' _1)' (7’7)' (1,3)} (ii)R; = {(3,7), (4,10),(7,7),(7,8), (8,11),(8,8), (8,10)}/
@i Ry € A X B
R; ooz A e0(Hbgh B &6 2 me SySLD.

2. A={1,2,3,4,..,45} vpmo R e 2 mey “A -uller 155, @J occwienlenr eufdhHID”’ 6T
uemIWI@BISSILLTe0, R— g8 A X A- uWleli 2 L semions e11pHis. Geud R - &a&men LOgILISSHMNSU|LD,

NFFHHMBWID HT6IS. @ Bz Gurep zewdEmar
CarhssiuLg: A ={1,2,34,...,45} swwons Lupe Geimieyd.
AXA= {(1;1), (1,2),(1,3),(1,4) ... .. (45,45)} 3. Ream gm 2 me {(x,y)/y =x+3,

R oot 2 mey “A- ulsh 1851, @i eTevienied eMHBHID x €{0,1,2,3,4,5}} aieniss  Qn(Besamiir Beiensg.

STa QIDILIDIGELGADEI. %ﬁ;ﬁ_rzgogﬂ;rjzz?smg,um NFFHHMBUID BHEwIL_NS5D.
R ={(1,1),(2,4),(3,9),(4,16),(5,25),(6,36)} cQ: Rmm; -

RCAxXA {(x,y)/y =x*+3,x € {0,1,2,3,4,5}} aionics

R -&&ren wHusido= {1,2,3,4,5,6} CanBHBUILLBiTeNG. Q&6 HIILBHMBUID

R -samen siFssn={1,4,9,16,25,36} \__Tesasmaud i ie. (PTA2)
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1 - 2 _pom6epd FriyseEsh 6> @

4., OamEsBUULL 2 _BejEeT geldautsimpud (1) Sbys@&S UL (2) euedyuLd (3) ULigulsd @

(wpepulled Gilds.
. &3 Guratsn mwriEasar
D {(x,y»|x=2y,x€{2,3,4,5},y€{1,2,3,4}} gwiors LUl GaueyLb.

1) swys&Y UL

4. OamTBsHSULILL 2 B6)H6T @I6eT6TEnMBULD @

CamThealI L, X = 2y X Y (1) @uys@&H UL (2) iUl (3) LLIQUIeD
y =1 aafsd, x =2 wopuled eiss. (i) {(x,y)|ly =x+3,x,y
y =2 aafed, x =4 ' SBwemey @wisv eremiaseit <10} (JUL - 22)
6LEM.1.5: UL S0 ST LI (BeiTem L& L Loteisl P
(2) euemyLILLD OBBID Q HEWTHBEHEHTE 2 Benaldh GHNEHMmE!.
y b 2 _memex (1) semrsl Lenioii] (e (i) L iguish

(pemBHeMev  61(p&Hib.  (iil) R 61 oHiLsd  LoBBID
3 rFssmeEs srens. (MAY-22)
2 <2

1

P Q
e \ .
012345 °X
\ )

3) ulwe aemm: R = {(2,1),(4,2)}

5 @n poeasdHa 2 selwrenjser (A) sipdsismen (C), Gweorenjset (M) wBpid Bjeurassir (E)
aFw prearg Ufleseaflsd usmiwmenisest 2 efteneny. A, C, M wimpid E Uifle) uswlwmrenysend
saBwumsei wepBu T 10,000, T 25,000, T 50,000, T 1,00,000 ey@b. Ag, A, Az, A, wH@ID Ag
&6wry o gelwmenjser. Cq,C,, C3,C4 PHCWTT eTWdHHTH6eT. M, M, M3 4&CuTTH6N
Gwevrenjmeir. wBmID Eq, E, <aCuny plyemdlsst geuj. XRy eeim 2 _meilsd X eailg Yy
siLahSGHS OaTRSsLIULL omFluid eeaflsd R - 63 2 _menel, suflengsd Gamgse epevOTHa|LD
SILYSGN UL apeownsed GUILLGs. @

sagwmisen (S) = {10000, 25000, 50000, 100000}
usslwienitasit (E) = {44, Ay, A3, Ay, As, C1, Cy, C3,Cy, My, M,, M3, E;, E,}
(a) uflenss Gamgsmeir (b) @bE@N ULLD
R = {(10000, 4,), (10000, 4,),
(10000, 4,), (10000, 4,),
(10000, A5), (25000, C,),
(25000, C,), (25000, Cy),
(25000, C,), (50000, M,),
(50000, M,), (50000, M),
(100000, E,), (100000, E;,)}

E

1. f={(xy)lx,y € Nopgib y = 2x} gieng N-6i1 185160 @F 2 _m6) 661, OHIIISID, SHGnewr O ILISLD

BEID AFFEHMmBHH HTENH. RbHH M6 FTJUTGLON? @

y=f(x)=2x

f()=2(1)=2 @31 Curary m:swrizsar

f(Z) — 2(2) =4 Gwors uWiBd Gauiweyd.
f3)=23)=6 a.&n1.6: X ={1,2,3,4},Y = {2,4,6,8,10} wipid @
f(4) =2(4)=8 R={(1, 2), (2,4), 3,6), (4, 8)}eald R iz ®

FMTL el HM_(BH. GVID DIHET SIS,  FHIEHENT
WHILUBD OBBID IFFEHMBHDH HTEMISH.

f oueng Neir 18Hmem @t 2 me)
fer wAwsd ={1,2,3,4,..}, f e smewew wHIusd = {1,2,3,4,...}
f e eiFgsd = {2,468, ...}

f e owyes uLsHeleba, X € As6L 961 @k ¥ €B Bnd6Ww. @b, f @6 &Iy uGID.
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2. X=1{3,4,6,8} ateits. R = {(x, f(x))|x € X, f(x) = x* + 1} aietip 2_meunengl X-ad®mbaE N-6& o
Fmur@Lom? [ @31 Gurshy markzmar ]

Qarpsbsin g, X = {3,4,6,8} @D gwons LB Geriwieyd. o)
Y ={1,234,...} a.&1.1.7:f: X — Y e o _menmeng f(x) = x2—2
R={(x f(x)/x €X,f(x)= X2 + 1) o160 QUEnILIMIGSILGEBS. @nig x = {—2,—1,0,3} wipd ¥ =R
. f(x’) X241 ’ (E'lﬁz;re; QB TewT_T6L (i)7f -ufledr 2 miisEemen UL 19uisdBeb.

- - i) f @m grurgLon?
f@3) = 32+1=10 a.&nl8: X ={-5 1, 3, 4} wopmo Y = {a, b, c}eefsv,
f(4‘) =4>+1=17 X -e0mbhsH Y -6@& Lsiaumd 2 meybeied slenel FTTUTEGD?
f(6) =6*+1=237 (@) R, = {(-5,2),(1,a),(3,b)}
f(8)=82+1=65

(ll) RZ = {(_Sv b), (11 b), (3’ a)! (4’ C)}
R = {(3,10), (4,17), (6,37), (8,65)}

(iii) Rs = {(=5,a), (1, @), (3,b), (4, ¢), (1,b)}
wFHlLsD X-60 2 6o @albeurm 2 miis@G N-60 @@ Bipsd 2 [ 2 6iT6engl.
o, R ez X-e0mbs N-6@& @ FTTUTGLD.

3. Qer@ssiulL  gmy f:x > x2 —5x+ 6, aafed, () f(—1) (i) f(2a) (i) f(2) (@v) f(x—1)
S Bweunens wHNIGS. (2m)

f(x)=x?>-5x+6
A f-1)=(1D*-5(-1)+6

=1+5+6=12
(ii) f(2a) = (2a)? — 5(2a) + 6
=4a*>-10a+ 6
(i) £(2) = 22 — 5(2) + 6
=4-104+6=0

(iv) f(x—1) =(x—-1)?2-5(x—-1)+6

Gwiors Lulbd Gauiwieb.

[ 83 Cursry mwHEBHAT }

5. f(x) = 2x + 5 a6, x # 0 ereuiled w%é SHITEUINE.

6. @m & f gl f(x) = 2x — 3 a160 QI TUIIBSLILIL L T6D
) fO)+/(1)
2

- mb srans. (i) f(x) = 0 a@ubOurwa!,

x @6 sreus. (iii) f(x) = x aafled x m& Hrewms.
(iv) f(x) = f(1 — x) e1efl6d x WM& HTeHS.
a.@r.1.9: f(x) = 2x — x’amé QsTBssULLBeTengl eafled,

=x2=2x+1=5x+5+6 (i) (1) (ii) fx + 1) (iii) £(x) + (1) cuuiouponss sras.

=x—-7x+12
10. a@e_ﬁls‘b LGITEHT @ILmegurujlsi) BT6TEH [r,u'u&,qﬂa'sr @sﬁmmm5§aﬂ6§r e TG L
gmb  wppid - Smimeoiu e ugsisn  BSGNS | g Gs x| (oY,
MBI (BeiTena. Sib® eleuyriseaier SjgliLienLulsd e LOTeRIOI]T, 35 56
o umib  (y) |BEID (peiiemhiend Hemd (X)-HBTET  2_mene 45 65
y = ax + b eiond smBUSSTI. @G a & b ygAwenst Tsle ST, 50 69.5
() @b o _pauTengk FTILTGLOT 616 JYIMUIS. (sm) PTA-4 55 74

(i) a oBpIb b —ps& BNewis.

(iii) apoirenmienasuisn Bmemd 40 GF.5 el@fley, SibH BUT 2 WITHMBE HTEWIS.
(iv) 2_wib 533 o@D eiefed SibG BHLF6N, (peTMbIMBUIT BNHMBHS SIS, ¥

OaThesIILEH Y = ax + b
(i) snbusEBUUL D

X-60 2 6l @6lOeuTh 2 mIid y-60 @6 @ Hipsd o (1 GCETemiBeiTend.
SYIo, elCal RbH 2 Me| FTTLTGSLD.

(ii) a wBEIDd b -&  SHmew

S L suenenru el b
35a 4+ 4 =56 oo, (1)
450 +8 = 65 e 2)
O 6
—10a = -9
a=—=09

10
a=09eer (1)e0 UggdHui
35(09)+ b =56
31.5+ b =56
b=56—-—315=245
a=0.9 sy b =24.5

(iii) wemb = 40 @&.16,a = 0.9,b = 24.5
y=ax+b
= (0.9)(40) + 24.5 = 60.5
(psitemhienasuilsit Hembd 40 Q.15 eTel6n,
SibdH pufler 2 wgb = 60.5 SmigeoLd

(iv) 2_wgib = 53.3 omigevd
y=ax+b
53.3=(0.9)x + 24.5 =0.9x + 24.5
0.9x = 53.3 —24.5 = 28.8

_ 288

X = E = 32 Q7.5
Db BUFl6, (peitemhienauis BHembd = 32 F.15

wtsteam100@gmail.com

WWW.waytosuccess.org


mailto:wtsteam100@gmail.com
http://www.waytosuccess.org/

1 - 2_paysepd Friysepn &>

4. ULGHH OBTHRESIL L euenguL 1D f(X) -6 ewevlons, f(9) = 2 e6iiug COHeMaréng.

swiors LWiBd GFuiwed.

[ &3 Guratsn mwrizasar ]

(i) Tereuid FryLsBefen N ILIEM6NE BTIH

@) f0) (=) f(7)

® f(2)

) f(10)

(i) x-er enbwgIBE f(x) = 1 s BmeEn?
(i) f(x)-sor (1) wAHULSD (2) IFFHD HMewIss.
(iv) f eteop Fmiied 6-601 [Bliped 2 ([ 6T6d6N?

7. 24 QF.18 ubd SEEIGTEN FHIT QNG HIWNYEIHHSH! BTG CLPEMEVHETEVID
FID  SIETE6TTeN  FHITHBMEN Oeully LLGHIFHe0 o eitemeurm Guwsbmd SHmhd @® Oy
CawwlLGaABE. Rbsd GULuisr &1 oene| V sy,

V & x-ulenr smjurssd @BIUIGS.
8. feaem &my f(x) =3 — 2x eten auenpuUBIGBSILGHEBE. [ (x?) = (f(x))zsr@ﬂsi) X-26 HI6uNs.

9. @wm olrend 500 &.b8/wewl CossHded LBsHBE. olwrend ‘d COsmemsve) OFsLMBBE
UG BTeVHMS L(wemlluied)-sor gmijurs CeuellLBHHIS.

1. &86)p CHETHSBILLL eIILLKIGST FTjenld @GMlbal6meelr e6idh SHITaNbHa|ID. 66N &6ThdbaHT 6l
BMEIHMBULD QSTGSBEYD. (2M)

&SHHIHCHT_[BHF
BansHemenuil e’ (hibdl
OBTHEHSBILLL
GUEDETTONIWITENEI,  FTT6ML
SNl BB6160m6V o160l
OpeiauraBal. g Glearentlen

QUEMBITOIDIEDUI & HHIHEHT([H

P opmo Q «dlu 8
Usiterimeriley Fibd)bBmEl.

e

(AL CE:T: NN
AUEHSITEUEHLLITENEI,
gl @& Bl
67 GleurenfleL
AUEHBTTEUEHTEMLLI
GHHIHCHT{H P
616018 @ Lj6TTeriufev
QD)
FhBBEBHI.

831 Burarp :owsEzaty

Gwiors LWBS GFuIwe)D.

1. &6p OarhHdaiulL GUEDJLIL BIBET  FMenLIS
GG BeeuT oI6uId ST BHALD.
GNEDLBHEHHHMA STTMHMBUID CBTHHBRLD.

(aw)

(iii) (iv) |
|
|
I
™ %) £

61.&M.1.10: GH5HECHTB CaFrHememenuill LIWISTLBHSSI!
eieu@BlD  eUenJULHIB6TND  eTemed  FLIenends
GUBGID eeidh SHToTeNbsan ? @

[ 831 Bursty HMTEZBHAT )

awiores LuiBd QFule)D. ) \

61.8M.1.12 S ol L &C5TH CammHememenulll LWTLBGSHS SDoHEemIL FTLS6T60 6Tenel Q6BIGOHTEIBTEIN6) 6163 &HIT6NIs.

()

.

—tf N JP
3 o \ X o) X X /|0 X
X X /[ /
\\ P17 /

J
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2. f:A - B aeip arjureng f(x) = g — 1, o0 euDIUIBIGE ILGEDE.AnE, A ={2,4,6,10,12},

B={0,1,2,4,59}. 945 @nsaL Qurtws Fmy f-g3 Ueeumd wenpseisd @&nlds. @

() euflenss Gamgmerien Hewid (ii) on_Leuenewr (iii) onubys@ms UL (iv) euenguLd | APR-23
A =1{24,6,10,12}, B = {0,1,2,4,5,9} [ G351 Bursiy mrEEmar }

_x Gwiors Lulbd Qauned.
x)=-—-1
fe : 3. F={(1,2),(2,2),(3,2),(43),(5,4)} aisip & iene (5m)
f(2) = P 1=1-1=0 (1)@ SIDLB@S LD (ii) on Leusme (i) euemguLILID @psoIDTHE
4 BB ESHAID.
f4) = 2 I=2-1=1 samnl1l: A ={1,2,3,4} wpghd B={2,58,11,14} esien Bn
f(6)=9—1=3—1=2 sewhibelT e, f:A—> B eigub  gniny  f(x) =3x — 1 eteuiés
2 CETHEBUILL_BeiTongl. @FFmmilmend OQsmean® (i) SibLsS&GMH UL
f(lO) = 12—0 —1=5-1=4 (ii) =i’ L euenemr (iil) eulemaFCamomeiedn emid
f(12) _12 1=6-1=5 (iv) suemguL b eyBweuienps GBlss. (PTA-3, SEP-20)
2
() aflengs Gamosmefsn Hewiid (iii) @uwyseH ULD (iv) susmyuLID
f =1{(20),(41),(6,2),(10,4), (12,5)} A B ; .
N Jx) )
(11) S|L_L_660)600T 2 4 *(10,4)
x [2]4]6]10]12 s A 3
feo[1]2]4 |5 1014 P e
12 7 g 1] d

0 2 46 8 10 12 '«

4. f:N >N eaemp amy f(x) =2x—1 e eUDIUGIGHILLLTH DB @EOIDBISE QBT yeomed GLosd

FmJLY @6Vemev 6160 ST (HS. @

f:N->N eaemp gmy f(x) =2x—1 e auenguBISa LGS BE. SibLSGSMILILLD
x=1 eafieo, F(1) =2(1)—1=1 o,
x=2 aefld, f(2)=2(2)—1=3

x=3 aafler, f(3)=2(3)—1=5 ﬂ

fiN > N e armiled N 60 2 6iten @euOaur®m 2 miis@n N 60 GeusuBeoum
o mIlsEpLeT OHTLTUUGSHSLILIL BeTengl.  sieiGal [ UG eiBIhE @emmer
FMTUTGID. UETEL HIMDHILIBHIHEL 2 6o @I emLLILIHL  61601H6THHE)
ALBHH60 (et Bevensv 6ieiGal [ yeigl Goed &y Bevemev.

( 83 Guratn mwriEzar )

§ Gwiors LulBd Gauiwieyb. ]

a.&n1.13: A ={1,2,3}, B=1{4,5,6,7} wpmnd f = {(1,4), (2,5), (3,6)} sueim A -a9mibs B &snen &y f op@lb.
f oz QapIsE @emrer Friy oemed sy Fmiy Gevenev eteis ST [BHd.

5. N> N aem &mny f(m) =m?+m+ 3 e amIUBIGHILLLTN SiF QEIDIGEE QDTN &L
6Teldh &BTL_(Hb.
f:N->N aem srjy f(m) =m2+m+3 e umyuUBIGSILGEBS. @D
m=1f1)=1)?%*+1+3=14+1+3=5
m=2,f2)=2)*+2+3=4+2+3=9
m=3,f3)=03)?+3+3=9+3+3=15
m=4,f(4)=(4)?*+4+3=16+4+3 =23
N-6it  GeucuBoupmenr 2 minidsmen N 60 2 6iten  GeuciBoum 2 misEHLST [ pVSHI
QFHTLTUUGHHIUSTEO, [ UNISH QENDBIHG GEIBTN FIIL GLD.
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6. A=1{1,2,3,4} wim B = N eeirs. Guwaud f: A4 - B syengl, f(x) = x3 aien  susnrumisbsiLGS s

aafled, (i) f-ulehr elssasmas srais (i) f eoleuens FTJY cSH SHTERIS.

A={1234},B={1.23,..}
OasT®ssiI Lg: f: A — B wipn f(x) = x3
Of()=13=1,f3)=33=27
f(2)=23=8, f(4) =43 =64
f-en eiFssd ={1,8,27,64}

(ii)A-uflesr GleusaBaumiman 2_MILLSHem6TT
o ool OeucuBouml o mIIEEDHL6T [ HeSHI
OHTLTUUGSHSHIUBTeL, [ elohilgdl — QEIBIHG
@epIer FITY Uu@Ww. 2 € B -5& A-60 (psi2_(H
@eLEUTHBHTL QB @ 2L &I Y GLWD.

B-s0

7. &6 CETBHBILLL eIt FMLD SMUBSF &Tjum,

A fRo>Reyem f(x) =2x+1

€

f(x)=2x+1 ) B
f(O)=200+1=1 /?\ _f;i 1
N z
f=21)+1=3 l-1_1 )
f2)=22)+1=5 =)

f-D=2(-D+1=-1

f(=2)=2(-2)+1=-3

f(=3)=2(-3)+1=-5

f- e eiFFsd={1,3,5,—1,—3,—-5}

A Qe OausiBaip 2 _miiseEndd B G
CeoucuBoump  Plpsd 2 H 2 _6enEl  OBEBID
B@er @eitaimm 2 miiniB@io AGH Hips o
o eitenigLeienCer [ SmUBF FTIY HSID.

(@)

[ B3 Bureary zwsBEaY ]

Fwors LuiBd GeuiweyL.

a.&1.1.15: f: N - Newews ammmeng f(x) =3x +2,x €N
61601 GUEDIULINIEBEBLILIL L 60

(1,2, 3 ulstr Hlpsd 2 (mHebmemsiiss HiTeniic.

(i) 29 & 53-ufeir (Wi 2 HBHMeNSH HMewis.(PTA-3)
(iil) emmIeir euenmemis sevis. (MDL)
CQ: A =1{1,2,3,4} & B = N er6iis.Goguid
f:A > B agng f(x) = x2aen suenygibsLILGEABS!
aieiled, (1) f-ulehr eiFFaHMBE HT6UIISD.

(ii) f ercueuems iy etenés smewis. (PTA-5)

SevemeouiT? 2651 GllenL_HHTN HTJMHMHH Fn3ib.

(i) f:R > Reyemg f(x) =3 —4x2 (M)
f(x) =3 — 4x?

£(0) =3 —4(0)2 =3 AB
f(1) =3-4(1)* = =

f(2)=3-4(2)>=-13
f(-1)=3-4(-1)>=-1
A 860 2 6iten OeusiGaimp o miiEssit 1 BpId
—-1&83 B @60 @6y Hipsd 2 @ o 6ieng.
soGol f UNH QHIDISHS GBI &N
SPUeL. a0 B @60 2 6o geuGleum(h
2 minE&D A @60 (psiie_H 2 6ileng sleGe
[ ez Guosoamin <y@i.

ooy f @MUBEF &My Si6v6V.

8. A={-1,1}wppw B = {0,2} eens. Guaibd, f:A — B sgeng f(x) = ax + b een euenywpIdHHILLL

Guevamiy erafled, a wBEID b — MEb HT6HIS.

(@

A={-11}vppio B ={0,2}
f:A - B syeng

fF-1)=0=a(-1)+b=0
fF()=2=a(l)+b=2

[ @31 Gurakp m:wEZGBAY }

gwiors Lulbd GQFuieyb.

e.erl.14: A={-2,-1,0,1,2}
By f:A = B eeip amtureng
f(x) =x%+x+ 1Gwe> &y elaflsv,

f(x) =ax+b eaem g4 b=0...(l) B g s
ouEIWIBISSILIT LGOS L{_}_ b=2...(2) TS foams R-fnhn R 5o
""" s Fiy. Gusatd ol f(x) =3x—5
A B (D+(2) 2hb =2 6160 uenILImIGSILGEBSE. (a,4) wHpib
f (1,b) erens QBMBHSILLLTE @ LOHBBID
b=1 b -wier wHismensd srenis. (PTA-6)
- b =1 a6 (2) 60 LygHui CQ: R ={(x,-2),(=5»)} ST6iILI)

[f 61 6liFgsld = glensmiodiLsLD]

at+l1=2=>a=2—-1=1
eteni@eu, @ = 1 wopgo b = 1

FoalF Frmemus  GPEG0WwaMsd X

BB Y sweuBplen &L |Hmerd
&nenis. (PTA-6)
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6x+1 ;-5<x<2

10. f:[-5,9] > Reetim srjureng Ueieumors aismyupissiuGang f(x) =1{5x2 -1 ; 2 < x < 6 aer

3x—4 ;6<x<9
AIENILBISEILGSEBE a16fs0, L6l HaIaTOIBMmDBS HIewis.
O FEDH@  @FD-fO) @@ E) W) LTI o

6x+1 if-5<x<2; @hg x=—5—4—-3—-2,-1,0,1
f(x)=45x2—-1 if2<x<6 ; @mie x = 2,3,4,5
3x—4 if6<x<9 ; ®mE x = 6,7,8,9
D F)+1@) @ F) - F(D
x = —3eaafsd, f(x)=6x+1 x =7 eed6), f(x) =3x —4
F(=3)=6(-3)+1=—-18+1=—17 FD=3(7)—4=21—-4=17
x = 2 eaafe, f(x) =5x%2—1 x = laafey, f(x) =6x+1
f(2)=5(2)2-1=20-1=19 FO=6D+1=6+1=7
F(=3)+f(2)=-17+19=2 A f(D) - f(1)=17-7=10
(iii) 21 (4) + f(8) (iv) 2f(=2)-1f(6)
x = 4 ataflev, f(x) = 5x2 — 1 F+(=2)

f(4)=54)?-1 x = =2 aafed, f(x) = 6x + 1

f(-=2)=6(-2)+1=-12+1=-11

=80—-1=79 6 s, £(x) = 3 s
x = 8eafed, f(x)=3x—4 x = 6 aaiey, f(x) = 3x —
_ f(6)=3(6)—4=18—-4=14
£(8) = 3(8) — 4 (6) = 3(6) — 4 = 18-
:24—4:20 x—46[60ﬂ6\),2f(X)—5x _1
= f(4)=54)?-1=80-1=79
2f() + £(8) = 2(79) + 20 2f(-2)-f(6) _ 2(-11)-14 _ -22-14 _-36 _ 9
=158 +20=178 F@+f(-2)  79+(-11)  79-11 68 17

831 Cursry zawszaat

swors LwWipd GFuiweyL.
x+2; x>1
2; —1<x<1 oew cuHIWMBIBHHLLILL TV
x—1, 3<x< -1
(iii) f(—1.5) (iv) f(2) + f(—2) syPweuppilein HAILBM6TE ST6wID.

N J

/

9. f etetim amuneng f(x) = I
) f(3) (i) £(0)

o)

2x +7, x <=2
er.&am1.18: ammny iR > R semg f(x) = { x?2—2, —2<x<3 oan UMIWBIBGSLILL LT,
3x — 2, x=3

Of@ @2 G f@+2£1) () O

B WeuBPeT LOFHILEHEN6NTE  SHI6mIss.

- J

11. yelufyiny eflensuler smyemions t elemeseied @® GOUTMET &L&GWD SMToTend S(t) = % gt +at+b

ooy QaTBEBILL(Beitengl. Qhg a,b Hwensy wrfledsst (g uerg yeluifiny elengullsr smyewiors

gBUGID (PBESID). S(t) MBI QEIBISOETEHBIN FTTUTEGIOT 6160 SYITUIS. @ PTA-3

S(t) = % gt?+at+b (a, b Awemen wredHei) /f@isl Curskp sewdpmat swos LU e, |

t =1,2,3,... elleumgssit 6160 61(BHHIHGSH 66N er.8m1.1.16: S welwisd aflehepTaEeT, @ \
_ _1 2 OaTenL.  eTVIDL|BHm6NS QBTG QHEUHEML LI

t=1 5(1) T2 g(l) + a(l) +D 2_UWITSHmSD (QF .16 Lfl6V) & 6018585 (BB BTTEH6IT.

_ Slaliset Qurgieutas, h(b) = 2.47b + 54 - 10
616013 FMTemll QHBGL LWSTLIGHHISPBTTH6T. Shidh
b sz OFHmenL eTeVIDLI6H [BeNOmEID.

() h g @WIHES QMTAIST olenF CFmabs.
(ii) OmewL steuDLIeH [BomDd 500515 siafled, b
BUfledl 2 WITHmBHH BHT6ub.

%g+a+b =0.5g+a+b
t=2,5(2)=§g(2)2+a(2)+b=2g+2a+b
t=3,53)=;9(3)*+a(d)+b=4.5g+3a+b
S, A uflelr QeuciBauml o miisendd B 60

CeusiGauml Mipsd 2 ([ 2_6iengl.
oeniGor BFH RPAMIHG GEIMTET FTTLITGSLD.

(iii) puflenr 2 _wigib 147.96 QFif erefled, Sieui

Qg,rrsml_ 6TVIDLIGH  [HENTHEMBHH  HTENI. j
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12. t et Fmjumengk QFevFwenisd (C) 2 _sitem  GQeulILBeNcONUILLD,

uryeiiniiiged  (F) 2_eiten

GalliLBensvenuid @ememis@d FTiuTG. Guoaid 9iE t(C) = F ean auenjuipisasiiLr LmsD,

@i F = gc +32). (D) t(0)

(i) t(28) (iii) t(—10) (iv) t(C) = 212 g5 BBHEHGWOUTHI

C-sii wFH (V) QFeodled wAlD umyeiiafl WD Fwowrs HmpeEL CuTwa GeulLpenso

LB WeUBHBE  HIL(515%.

t steip gnuTengl t(C) = F aion suenjumibsLGABEH. BhiE F = %C + 32

(i) £(0) =2(0) +32 =32°F
(ii) £(28) = 3(28) +32
= 9(5.6) + 32

=504 + 32
= 82.4°F

(iii) £(~10) = 2(~10) + 32
= —18+ 32
= 14°F

(iv) t(C) = 212 aiafled

gc +32 =212
%C =212 —32 = 180
C — 180%5 — 100°C

: =2
(V)t(C)—F@rE.J@F—SC+32 @
t(F) = C @uie C =§F+32
QFsvdwery  WHUYD urgeiiansl. gD

FOWTS SHIEGLD CUTISH CeulILIBlensvsmUL
t etenn OEmeiten
t=2t+32°
t—ot=32°
5

SeUBpD (— Z) A0 OLIBES

—i(e=3e) =322x(-3)
—2t+2t = —40°

—5t+9t _

= —40°
4

4t _

T =—40° > t=—40°

1. &6 OarhdsiulBeten f OBEID g aigild FIJLSMeTL LWeLBSHS f o g wbEld g © f-|é Brems.

fog=g-ofeasug FHur CFrges.
Dfx)=x-6 gkx) =x*
feg=feogkx)

=f(gx)

= f(x?)

= X2 = 6uveeeerens €Y
gof) =g(f)

=g(x—6)

(1) i (2) e9mbal, f o g # g © f, swibievenso

(iv) fx)=3+x,gx)=x—4
fogx) =f(g(x)
=f(x—4)
=3+x—4
=x—1 . (D
ge f(x) =g(f&x)
=g(B+x)
=3+x—4

(1) wispid (2) eSmwpsl, f o g = g ° f, swib

( 831 Cursary zwHBBAT )
L Gwors Lwipd GFuiweyL.

(aw)

1. S8 OaETBHEsULL(BsTen [ BBID g

GID  FMILBemeN  LWweBhd fo g wBpid go f-ms stewie. fog=gof

x+6

stemg s Cergés. (i) f(x) =§ ,g(x) =2x2 —1 (iii) f(x) = - ,J@)=3-x W fx)=4x>-1,g(x) =1+x
er.&m.1.19: f(x) = 2x + 1 wiyd g(x) = x2 — 2 etafled f o gopmid gof - &Teams.
6l.&M.1.20: f(x) =V2x2 —5x+ 3 8 @@ griuseier Csmiure @Gnlos.
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2. fog=gofeaaieo k-ulei wHiewud srewis.  (5M)

. Burs, BB
M f(x) =3x+2, gx) =6x—k p B o ]_\
fog()=f(gtx))=f(6x—k) 2. fog=gofasier k —ulsr whlemusd sreis. (5M)
=3(6x—k)+2=18x—3k+2 () f(x)=2x—k, glx) =4x+5
o _ — a.&nl1.21: f(x) =3x—2, glx) =2x+k wopgo fog=geof
g f(x) g(f(x)) g(3x + 2) 6Tedllev, Kk uller LoAIEnLIS SIS,
=6(3x+2)—k=18x+12—k a.&1.1.22: f o f(k) =5, f(k) = 2k — 1 aiafled, k -ullsin

w@iienLids srevs. (APR-23, PTA-4
Qempssiu Lg: fog=geof \ enLds e, ( ) @ /
18x—3k+2=18x+ 12—k
M8x —M8x — 3k +k =12 -2

—2k =10
k=-5
3. f(x)=2x—1,9(x) =2 aafisv, 4. f(x) = x* —1,g(x) = x — 2 wigd )
fog=gof=x ewé aszrrl'_@as. @D gof(a) =1eaeafed, a —pé sTeis.
Flx)=2x—1 (QES(C:F: NN ¢ @
a1 f)=x*-1, glx)=x-2
90 =77 » . gof)=g(f(0)
fegt)=1flg@) =f(F)=2(5) -1 =gl -1 =22-1-2=x*-3
=x+1-1=x..... (1) QarBassi Lg: g o f(a) =1
g°f@) =g(f() “o3m
=g(2x—1)=2x_2j=2?x=x...(2) 22;4-'_
(1) wipgd (2) od@pe, fog=gef=x a=+2

5. A B,CS Nuwpgibf:A—> Beemp smy f(x) =2x+ 1 aeneyp wigib g: B — C syemg g(x) = x>
GTaeYlD GUENIUIBISBHLILLLTE f o g oBpId g o f —6r eiFFsHmds HIemIsH. @
fiA-> Beaap smjy f(x)=2x+1, g:B->C s g(x) = x? aianayd  euenywmIbsILGSBES!
sy A4,B,C € N

fog)=f(g(x)=f(x)=2x2+1, fog Wen eissm={y/y =2x%+1,x € N}
gof)=g(f(x))=gx+1) = (2x+1)%,go fulsn efgsan = {y/y = (2x + 1)?,x € N}

gwiors LuiBd GFuiwea|b.

6. f(x)=x2—1eaeo(i) fof (ii)fofof—pé smems 2M) [ G5 Gurip mawkaek

DOfef {@)fofof a.a;r.l.24: (x) = ?g +1, g(x). =x+ 3 (g@
EXE NI @® STLIE6T, LOGVILD
fof(x)= f(f(x)) fofef(x)= f(f(f(X))) gff(x) = fgg(x) aaflsd x-mé srems.
2 SivGL LulBS:
=f(x2—1) :f(f(x _1)) 8. f(x)=%,x¢—1 eiid. X = 0 ererflev,
=(2-1)2-1 = f((xz -1)%-1) f(f() = —)1—6 , 6lens BT (Bb.
=f(x*—2x2+1—1) | 9 oy f wppo g sswema f(x) =6x+8;
= x* — 2x? +\L—\1\ — f(x4 — 2x?) gx) = % eiefled, 1) gg G) —ufleir  HIEHLIS
— x D2 _ [x4 _ sz]z 1 kaarrsm’naa. i) gf (x) -3 eteil sueied a@@]eﬁ/
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7. f:R-> R wign g:R - Royenz awpempbu, f(x) = x5, g(x) = x* aen sumpupissiulLiso, f, g

ALmE RABIGE GEIBIAST LOBDID [ © g @AIBISE @HBTEN FTTLUTGIOT 6I6NDI SHJTUIS.

ftR—>R UEB 61601
QUM TWINBIGSLILGEBSHI.
foft)=rf(f)
= [(:%) = (9)° = %
fof() =% =1
fof(2=@2*
feof(3)=0B)*
f 60 @6uleuT® 2 mIbGID GleusiGaimme Hipsd
o B 2 oengl. ooy f QPHBIHS ~ @EHBTEN
FTTUTGLD.
g:R - R auem g(x) = x* etem
QUMTWINBIGSLILBGEBSHI.
gog)=g(gx)
= g0t = (9" = ¥

flx) =x°

geg(-D=(=D*=1

geg()=D*=1

9092 = (' &
—1 wpmd 1 Huwemen @By MHipsd 2 mHeme
Osmemi(Beienen. eliGoy g UNH PABISHES
QWIS FMTL| DI6L6V.
fog) =f(g)=fx"

= (x*)5 = x2°
feg()=(1)* =1

feg(-D=(-D*=1

—1 wBmpd 1 yHwemen @B PHipsd 2 Hemel
CsnewiBeitenen. eenBeu f o g UMIH GENBISES
QPENBTET FMAL| D|6L6V.

8. GargsasiulL f(x), g(x), h(x) fwebens CasTemi® (fo g)oh = fo (go h) s &M _BHs.

(iii) f(x) = x — 4,g(x) = x* wpgw h(x) =3x—-5

fogx)=f(g(x)

g h(x) = g(h(x))
=g(Bx —5)=(Bx—5)2

=f(x?)=x*—-4 & = 9x? — 30x + 25
(feg)eh(x) =fog(hx)) fo(geh(x)=f(9x* —30x + 25)
= fog(3x—5) = 9x2 —30x + 25— 4
=Bx—-5)?2—-14 = 9x% — 30x + 21 oo 2)
=9x2 —30x+25—4 | (1) wppd (2) sdmba,
= 9x2 — 30x + 21...(1) (feg)eh=fo(geoh)
Byl
' (5m)

8. Garpasin L f(x), g(x), h(x) adwesesmn Csrem® (f o g) o h = f o (goh)eawms & Bs.
(i) f(x) = x2, g(x) = 2x wpmd h(x) = x + 4

) fx)=x-1,9gx) =3x+1 wippd h(x) = x>

a&rl23: f(x) =2x+3, glx) =1—2xwppid h(x) = 3x eeisd fo(goh)=(feog)eh sen Hueys. (PTA-5)
gl Lulsd: 6. f(x) =x2%, g(x) = 3x wigp h(x) =x — 2 aafsd, (fog)oh=fo(goh) sanr Muieys.

9. f={(-1,3),(0,-1),(2,-9)} qyenz Z -6l Z

-Bane @m GBflw &y eafed, f(X)-Rd Sreis.

f={(=13),(0,~1),(2,-9)} euemgi Z-0@bes!(2m)

Z-samen Gpflul &y oy@lb.
fx)=mx+c
f={(x,mx+c)/ x €Z} aenn 61005
f(-1)=3=>-m+c=3...(0
fO)=-1=c=-1 (2)
c=—1een (1)60 LNyguiL
-m+c=3=>-m—-1=3
m=-1-3=-4
S f(x)=—-4x—-1

10. @ WeaBmis Camiumiger wg, C(t)
616011 P0G Gmiflut &BEI,
C(at, + bt,) = aC(ty) + bC(t,)-

Uiss OFudspg. Guoeid Qg a,b
SFwenan womiledaeit eteiey, C(t) = 3t
AH @ CHrflw sBm ees HT[BHS.
Cty)=t (2m)
C(ty) =2t@mgt=t, +t,
ct) = C(t1 + tz) = C(tl) + C(ty)
t+ 2t =3t
.~ C(t) = 3t e Gpilu &bE YGID.
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@ix i - 1 ]

4. A=1{9,10,11,12,13,14,15,16,17} aens. SeogluiBdasTer @i
LOBEID f:A> N seng f(n) = n-gi | | e etewr: 1,23 — vuiibdlbmns
D BLILFLI L& syeni m € A) P afleurm etemr: 6 — LUiBF 1.5 60 - 8 b eflewm GUTEIBS).
or: — wufd 5 60 - i Gurred d
uMIWLBISSLILILLT6L f—ei1 euflongsd Camgssefisi ol steft: 8.9 = LB 1.5 60 - 6 ayb ofleam LGN
NSNS 61(1pHIGd WHBEID [ —eir iFFHHMBD

SITEUNB. _ N P
A=1{9,10,11,12,13,14,15,16,17) @ | 5. f(x),_\[lf 1=V1=x"asip sTyLis
LHUUSHMHH BTEID

f:A—> N sengl f(n) =n -6 SiHsULS LSBT (2m)
&Trewil (N € A) o160l IDIUIBIGSLILIGAMBSHI. Flx) = \/1 +v1 = V1= x2 siamas

£ =1{09,3),(10,5),(11,11), (12,3), (13, 13), OBTBEBILIL G,

(14,7),(15,5), (16, 2),(17,17)} x € (—o0,—1) U (1, ) a1eflev, f(x) <pemsi

f e efggsid = {2,3,5,7,11,13,17} GlLout - 46060

9=3x3 10=5x2 11=1x11 x € [=1, 1]aiefled, f(x) euemgi Guows AGLD.

12=3%X4 13=1%Xx13 14=2X7 s~ wdiusd {—1,0,1}, —1<x<1

15=5x%3 16=2%x8 17=1x17

7.A={1,2},B=1{1,2,3,4}, C={5,6} wipw D = {5,6,7,8} aaied, A X C g4z B X D o_| semion
olenF FHLMToHE. @
A={1,2}, B=1{1,2,3,4}, C={5,6}, D={5,6,7,8}
AxC={12}x{56} ={(1,5),(1,6),(2,5),(2,6)} ... (1
BxD=1{1,2,3,4}x{5,6,7,8}
={(1,5),(1,6),(1,7),(1,8), (2,5),(2,6),(2,7),(2,8), (3,5),(3,6),(3,7),(3,8),
(4,5),(4,6),(4,7),(4,8)} ... 2
(1) iy (2) eSmpa A X C € B X D.

10. efraumeuemeuBmlen LOGHILILIGHRIBENET 6I(LSHISH. @
D ) =2 iii) g(x) = VA —2
x =9 aaflev [(9) euewyuimIBHLILL 6l606m6v. x € (—o0,2) aiailsd g(x) <uengH Ol Sisvev
oeiBeu, f eidl x =9 ey  eT6060T X € [2, ) areflsd g(x) oum@ Guoul

QUGS EHBGID aUeNTWBIGHLILGEBHI.

o f e wHiusd = R — {9} - etei@al FHILBLD [2, 00)

i) p(x) = —= iv) h(x) = x + 6
D U  el60eT @ISO  eTeIBEThEGID h oyl G16060T  BUIE  FIEIHEHEGLD
QU WIMISSLILIBS BSHI. UMTWIBISSILBSBSI.
~ eteBeu, wAILBD = R - oGy, wAiLsD = R
LWBH BT H:

1. (x? —3x, y%2+ 4y) wppid (—2,5) e aflnss Camessit o 616aev, X LoBBID Y-36 &Teis. (2M)
2. A XA srjedwer GQUmBHsL Lsvelesr 9 o miisefled, o miisst (—1,0) wspid (0, 1)-b msEna
oTedfley, A-60 2 _6ie 2 _mIlIL|Hm6Nd Bk, BHID A X A —6i 18HIp6Ten 2 milisemend &rewis. (2M)
3. f(x)= {“x -1 x21gg4 GaBTHEHILLLT6D,
4 x<1
() f(0) (i) f(3) (i) fl(a+1) (a=0aams QaEThBHEHULBTENE) pBHwieauBens &rems. (2M)
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1.

2.

2. xwrslpd QABTLIaFans s

udpFE 2.1

3 g0 aGdHGID BGurgl 168 2-mF SHISHsmigul
SIMNSHB NS (PDSHHMEMUD HTEHIS. @
q UGl DS (PSS 616015,
AUGSH = 3 By gl = 2
wealll GSH0 HmISCHBBSHSle Lig,
a=bg+r, 0<r<b
q=0,123,4..c6015.
3g+2=a (+b=3,r=2)
gq=0= 30)+2= 0+2=2
q=1=> 3(1)+2=3+2=5
q=2=>32)+2=6+2=38
q=3=>33)+2=9+2=11
s Bema (wupsdsen 2,5,8,11 ...

@® BUfiLd 532 UhOSTLIgHeT 2 silemer. Sieuiy
aflmFd@ 21 YhoSTigsen eiHd SiBdHs
ellpoenTy. eihHmen aUflenFHeil (PP GLIEID
STSIYLD LoBmILD 615 & 60601 WS 19&H6iT

BEOGSGID D ETawis.  (2m)

@@ BUfLD 532 LhosTligsen 2 eiere.
el aflengd@ 21 LhOST 19H6iT aisHld
SIbHHH ML erTi.
AUGLGLID eTewt = 532 »s
AUGHGW etemr = 2 21[ 532
W GSDHe0 SimansCoBpHHlar |42
ug, a=bqg+r ,0<r<b }cl,f
532 =21(25)+ 7 Z
mey = 25, 188 =7

=~ 25 euflengseit (e GQuUEID 7 LhOSHTL a6l

1BHLO [HEBGLD.

[ 831 Cursry ZwEZBHSY ]

Gwiors Lulpd GQaueyd.

6L.&M2.1: BOLWOLD 34 GBxs HWIBHsT o eienan. @6ubleuT(H
Guiuisad 5 GCas@der WLGHEL meubs  RuGeflsd
Crb@HBMEN MeUBD 6THHME GILIL19H6IT BHemeu LOBMWID 618 GH6EM60
Crb@®6N BHIOBHBGID 6160 HT6wIb.

SvGL LWiBS:.

2. @@ uredsMIflLid 175 oLy u&b ureud 105 edLLj
SIHEMOLILITEVID 2 6o & SeuBenm iU Flo OHmeiTenene]s
QBT G HEUNHBWITEN HEVEITHEIMED DL HHI MBS
eeUuUtUGEBT). (1) @siaurp aBUSBG&HS CHemeulILIGID
Hosiimeleln DIAHBLLF OEmeienene] eleievse)? ER6ieUTBTS

(i) erboHemen  @eveit __ LiabuTed  opmid (i)  e@emLoLILITED
Bl 1Y HBELD?
4. 107 yous 4q+3, q ereiug gCHMID Y (P 6T6B 6eulgesd

SIEMOULD 6160 [51316) .

3. OsnjFdwren @Qm Vens (WPupdserer
QUmHSBSHBLEVET 2 YO QIGLBID 6160 [HBIC|S.
n g n + 1 ydwer OHTLTFFwrer SR
Wens (WpsHeT aais. (n+ 1) =n? +n
n=2m+ 166z QBenBLILIEHL  6T6N0T 61601b.
n”+n=02m+1)?>+(2m+1) (2m)

=4m?+202m)(D) + 12+ 2m+1)
=4m?+4m+1+2m+1
=4m?+6m+2=22m*+3m+1)
A&l 2 60 UGUBLD
n = 2m &gl ST ML LILIENL 61601 616015,
n?+n=02m)?>+2m=4m?+2m
=2(02m? + m).
A&l 2 60 aGUBLD.
[ B3 Cunrery zswsBzaY ]

gwors uind Geuiwelw.

~ BlepLlidbsiul L gl.

Gm)

5. 6lbd Wema 1ppellel eJHHHMBUID 4 DUV IGHESLD
Gural B8 0 (o) 1 LB HmLsGD 6160 BBIeYsH.
6LBT23: QBEMB (L(PSHSH6Me euTdsIomeg 4q + 1. (@QhE q
SUSSH] (L(SHEH6TT) 6168 6UI96Nls0 DIEMLOUID 61608 SHITL(héb.
SIVGU LWIBF: 1. 616060T DB (LPURSHHET N —HEGLD
n? —n e 2 —Sie0 IGULGL eTem Bieys. @

4. a, b wBgib c 61603 1enE (PPHHEmeT 13-5,60
AUGHSOUTH B EG WBFHE6 (WPpemmBul
9, 7, 10 e@ieb a+ b+ c qyomg 13 6o
QUGSUGLD oter HlemLd.
a, b oBEID € 6T6iB  10lWB  (Pp(pdHHemeT 13
6V UGHGIDOUTEHI HeMLH@GHID 153 &H6iT
wpempGuwr 9, 7, 10.
a+b+c g 13 60 QUGUGBID  6TeN
PipLlbs Gouemibid. eteiBel, sau@GHdh = 13
Webell auGHHH0 BImamSCHBBHSIEN Lig,
a=bqg+r,0<r<b
a=13q,+9,b=13qg, +7,c = 13q; + 10
a+b+c=13q; +9+13qg, +7 +13q; + 10
= 13q, +13q, + 13q3 + 26
a+b+c=13(q; +q, +q3+2) + 0 (1885 =0)
a+b+coygk 13601 IDLBIGETH 2 6iT6NMHI.
~ @5 13 0 eu@u@BLD.
831 Gursiy =wrkEEak ]

swors uwiBd Gauiwey.

Sl LulBd: [
3. a,b,C 6l6iiB eTEIBEMET 13 UL UGHEHSID
Curg FemLE@G WHaEem (wempGuwr 9, 7 wimib 10.
a+2b+3c 1 13-960 aGGEG0ELTEH Sl bELDb
IBSHeMUISH  HTETID.
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6. waefligsl @S0 aufl(psnmenwill LWSTUGSHL LsieumeuaneuBiledr L5.CLIT.6u SHTewiss.
(iv) 84,90 wppw 120 @

a=120,b =90,c = 84 aeis

W6l UGHSH HmeSHEHBBHHI LIy,

a=bqg+r,0<r<b
120 =90(1) + 30
885 30 # 0

90 =30(3)+0
88 0.

~ 120 oBmid 90 syslweuBmlen 15.Gum.en 30.
d =30 wimib ¢ = 84 suFSweuppilen 15.GLIT.61
el aIGSH0 BmaSCHBBSHH6T LIy,

c>d

84 = 30(2) + 24
B2 24 % 0

30 =24(1)+6
1555 6 % 0
24=6(4)+0
155 0

1

90

120
90 3

30] 90
92

0

~ 84,90 wipid 120 yalweuppiledr 15.Gum.eu 6.

[ 831 Bursarn zeowkExat ]

swiors LWBd GFuiwey.

6. WHeligsll auGHHSH00 auLfl(LpeHBENUIL
LweTLB S LsialmesmeuBlen L5.0UT.60 SHremiss. @
(i) 340 wipp> 412 (i) 867 wimId 255
(iii) 10224 B> 9648
o.&51.2.2:  LsouBld — @elQeutemiied  a-ewwl  b-sped
AGHGLOUTEH FWLEHGWD Fe| LBEBID LBSHeDUIH HT6wiD.
(a=-12, b=5 (i)a=17, b=-3

(i) a =—19, b = —4 @

61.&m.2.6: 396, 504, 636 yFweuBPled 15.CUT.60 HT6EmI.

@ (SEP-21)

-ndb Hewr Cauewn(pLp.

7. 1230 & 1926 AW slviBMeN UGSGWOUTH 15F 12-85 HISdmigwl LOSLCLIFILI 6l6wTenswIsH ST,
1230 1oBmId 1926 @l cTemdemen lGHHGIDOUTH] 168 12-2m& HJHanigul
WsLEUfW  eTeviTenemrd Hmevwr GauswrBLD.
1230 — 12 = 1218 wBmid

1926 — 12 = 1914.

a=1914 wimpib b = 1218 eeis

a>b

(oM

[ @31 Cursry :wrkEmar ]

G&wors LuiBd Gauiweb.

9. @ Wewd (LpIpemey 88 6L UGEHGLELITSH 158

61 B sHMH. 6% Wensd (pupemer 11 Us0NEGHSHSLD
Curgl P HGID HemUIS SHTewIH.

61.&5M.2.5: 445 BBID 5728 @ GBI L eTemieurmen

wsell aIGHH60 HMaISHCHBBHS6ET Ly,

a=bqg+r,0<r<b
1914 = 1218(1) + 696
188 696 # 0

1218 = 696(1) + 522
88 522 #0

696 =522 (1) + 174
88 174 # 0
522=174(3)+0

g 0

1218

1

GBS Burgl (peupBuw 15 4 BBID 5-83
HJHamIgWl OSLGLIMWL  eTenTeneId: & 6mILSlH.

1914
1218 1
696 11218
696 1
5221 696
522 3
1741522
522
0

£ 1230 wBmId 1926 &Ul 6lIGHmeN QIGHHGIDOUTSHI 168 12 —m& HIHawigul WOSIGLITW etemr 174.
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8. 32 wpmppb 60 FweBBlenr WBHCOUMm CuTEH aGHS d eaeis. d = 32x + 60y ealsd X BEID Yy

6160 (LP(IDSHHMETE  FHT60S. @
QETR&HSLILLLS: 32 WBmId 60 (2) bz 32 =28(1)+4
S weuBplen WBHIOUH CuUTEH IGHHS d, 32-(28x1) =4

Wil aIGsHH0 SHimandCabmoHdeE L, (1) e9mmpa= 60 = 32(1) + 28
a=bq+r,0<r<b

60 =32a>h ”ﬁ 60— (32x1) = (28 x 1)
60 =32 (1) + 28 vorvoo (1) SR 4= ?2_[6;)_(32“)]
s 2 7 4=(32x1)—60+ (32x1)
3 _22(1);4 ......... ) 4[22’% 432014 1) 60(1)
28 = 4(7) +0..(3) 4= 32(2) + 60(-1)

d=4=d=32x+60 rx=2y=-1

4 =32x+ 60 ( Bz Gursty m:ewhEmat W
| awions LuiBd GFuweb. )

.EB1.24: 210 & 55 syPueupen WBLOL®G OuTEH auGsHemw 55x — 325 616l eugeiled erpdlenmed x-ulsh LHIILIE HT6uies. @

10. o6 B ABSSOHS WNd (PIPHSH6T FMTLST 6TMIH6T 6160 [HIBINS. @

n,(n+ 1) sieien SBHHBHS LMD (PIPHH6IT 616015,

WoHell aGSH0 SlmansCoBBHIle Lig, 1
a=bg+r 0<r<b nln+tl
n+ 1> n. aeGeu n
n+1)=n1)+1 1| n
n=1)n)+0 | 12
B8 = 0. ugsd = 1. 0
n, (n + 1) sisiueneuppien 15.Gum.eu 1
- @emed FMTLIST 6TEmIH6IT Y GLD.

. n @ @Guwed oot olafled, 6bH N |2. M BB N RUIED 6IEIB6IT 6laM6D, 6lHSD
WHILSEHSS 4" Bl 6 6163 BevbBHSEMBH m-uler PIBEMES 2™ X 5™ elehp  olew 5

Csmewi (Lpigu|b? (am) 6D BVEEHEMBS CBTHIG 1IgUyD?
Camhesi’Lg: n € N wppi 47,

— (OF 3 (G %: TN M 5T}
n=1234%.. T T (2m) | SEP-20
41 = 4 sWwions LulBd) QEunLeyb. @ mmn €N LOBMILD 2" x 5™

2
4- =16 61.BT.2.8: 6" Sy, N QT GUIO 6l6wl n=1m=1=2"x51=2x5=10
43 = 64 T8 EUIPETled SIEMLOUID 6TEWIEHET 5
44 — 256 g6 Bebssms  Caran® n=1m=2 =221x52=2x%x25=50

- apigujom? 2 &gl e H@&HH

45 = 1024 \ SWID @i n=2m=3 =22x5%=4x125=500

4% = 4096 52" eiEH B L LILGDL 61601 &LGLD.
: 561 OLIHSSBLIGVST 0 6O (LPIYSIBSI.

BP0 mbg, 4" e n & iy
S enLLIuenL eTewienad HbGHWD Gurgr 6
B0 WYEBGI.

2" X 5™M60 5 60 (IplguyibLilg M && 6lbh
LD E60en6v.
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3. 252525 1opmid 363636 e erewiEemen 15.0um.e | 4, 13824 = 22 X 3P aafled, a B> b —ulesr
ST WIS (am) wHE sreas.  (MAY-22) 3|13824
252525 et &myeniabelt 51252525 314608
5150505 13824 = 2% x 3P 3[1536_
=5x5x10101 10101 2512
363636 1 STyaRiEei 2|363636 13824 & smailuBsHs, 2[256
2[181818 9 a3 2)128
32
+ 252525 woppib 363636 3|30303 eianiGay. 2% X 3P = 29 x 33 2[16
o 10101 ' 2[8
aFweumspler 18.6uren 10101 wa=9wsmnb =3 i
2
{ 831 Buralrp z:wrdsEsar swors LB CFUWeD. J
o1.&1.2.10: a’ X b® = 800 siepauTy SEWID @H Wens (pIpHseT ‘A’ BmpId ‘b’ ST @

CQ: p?> x q' x1* x 5% = 3,15,000 eeiimaurm Semiowfd aieflsd p, q, r & s pAweupien el smend sreams. (APR-23)

6. slglLeL. elemiemiwed CHBBHMBL LWeILBH 408 wB@ID 170 eI6hip  slevwidemen L5.QUT.LO  LOBEBID

15.0um.6u SHTEHIs. 2|408
408 oBmiId 170 &l eTewisemen STFILILBGSHD, 2|204 @
408 =2%X2Xx2x3x17 =23 x 3 x 17 wimib 2[102

3|51

170 =2 x5 x 17 17
408 wpmitd 170 syPweuppilest 18.6umw =23 X3 x5%x 17 =8 x 15x 17 = 2040

408 iopmip 170 spFwieuipiest 15.0um.en = 2 X 17 21170
_ 34 5[8s
- 17

7. 24, 15, 36 Fw eeisenTed LHUINHNY uGUGBLD WSO Y5leuHs sleilenewis HTewIH. @

3X2X2X2X5%x3=360 3|24, 15, 36 2777
24, 15, 36 gfweubper B.0umo 360. 218, 5,12 360 23?]999
@I‘I'_F)Q') eTeml 360 @J,GU GH@')IJ@LD 2 ;, 21 g 2799
Basneuiw 6 Sevds aai 999999 > e
= — | 2520
= 999999 — 279 3799
= 999720 2520
279

8. 35, 56 pmId 91 Y aIGHGD Burml 15H 9. (pHev 10 Buled selemrmemTsy 158U Tl6S @
7 mH HIbamgwl WaFFABIW eTemr 61517 . . 0
35, 56 @I 91 SydueuBEe (am) MEULERYW AP am aBi?  (jyN-23,

WPFHe0 10 BuleL 6160IH6IT JUL-22

BGuTo = 3640 1,2,3,4,5,6,7,8,9,10.
Wl aIGSH0 SimandCorBpHHl LIy, - o
a=bg+r, 0<r<b 1,2,3,4,5,6,7,8,9 wpmib 10 suduieumpi e

B.oumn =1 X 23 x 32

n=235q, +7
n=>56q,+7 7|35,56,91 =8X%X9x35
n = 3640+ 7 7Xx5xX8x13 =3640
= 3647 SopHed 10 Guied  steniidenied  Lglulle
. Gopamauwrer, 0&FABL aewr 3647. GULSSW Ffiw eteir 2520.

wtsteam100@gmail.com WWW.Waytosuccess.org


mailto:wtsteam100@gmail.com
http://www.waytosuccess.org/

2 — atHEBD AFTLIMFMFSEHD @>

Ui bbmas:

5. pfi X pfz X p§3 X pf" = 113400 @®i&, P1, P2, P3,Ps o6iLen gm auflensuisd Demiohs LIST
STEWIHOT  LOBBID X1, X, X3, X4 6IOILIET  (LPIDHEHET 616060, Dq,D2,P3, Pa LOBBID X1, Xz, X3, X4
B WeuBPlel HILBmend Hrenis. (2M) ‘

or.&mM.2.7: Oarhosiu L srpenl LflesHeded, m oBmId N 6B semisamend sramas. (2M) -

LBM2.9: 7 X 5X 3 X2+ 3e6iugh @ LG eenienim? o ekl elenlsnul HUTLiLBSHSIS.

(PTA-3) (2M)

1. Welrou@pld FoemimrBosamen Hevme| CFUILIGEmIQUI GmBHSULF Wehad (P X —6i1 EIMLS ST,
[@g} Curetp sewsBmar swwors LB Q&u‘.lu.lsmb.}

(i) 71=x (LDL(B 8) @ 1. eiou@plo FoemUTBHHEemen Blenme| OQFIWISSIgUl  GHMBHSLIL F
L . — . Wema  (LPp X-631 LDFILINLIS SHT6mIb.
Oer@osiuLg: 71 = x(1oL6 8) (i) 78+ x =3 (oG 5) (iil)89 = (x + D(wrps)

(iv) 96 == (o' G 5) (V) 5x = 4 (10'.G 6)
or.&r2.12: 15 = 3(o G d) aiehimeurm Siemwoud d-uflsi 1oglienLg
71— x Sienghl 8 @6 DL MISTELID. SoTeNdbes.
. . 61.8m.2.13:  LsiieumeustiouBB@&L QUTBHSHHIIgU GHmBHBHLL F
GMBHIULE WS P X = 7 Blens x-m& smans. (i) 67 +x = 1(ol G 4)
(i) 98 = (x + 4) ("B 5)

71—x =8k, k —@®m wap

2. x gl LB 17 —ullelr B 13 2 L 661 QhSemnaours 2_siengl eafed, 7X — 3 UGl 61bFH 6TGRIEMIL 6T

. Lo
@ggri::z"ij:@i@EwiB (o 317) [a =b(wiBm)eefsd aXc=bXc (o @Bm)]
7 ou60 GLBSS 7x =91 (0. 17) (2m)
7x —3=91 -3 (0 (17) 5
7x — 3 = 88(1or @ 17) 17[88
7x —3 =3 (0. 17) [+ 88=3(o®17)] 85
~7x —3 yegl 3 2 L6 QphiElenFalrs SmabEID. _3
3. s 5x =4 (@G 6) (2m)

Camhosi Lg: 5x =4 (o 6 6)

[ 831 Cursrp mawkEmar

5x — 4 = 6k, k IGIUND] swiors LuiBd GFUIwLeD. ] @

5x = 6k + 4 4. &rde: 3x—2 =0 (06 11)
__ 6k+4 or.&m.2.14: s 8x = 1 (oG 11)
5 ar.81.2.15: 10* = x (01" @ 19) sr6imaummi  Sieioujd

X-@lewLs HembdBs. (MDL)

Ok + 4 oyonzpl 5 20 UGSUBLD. a.&512.16: 3x =1 (0@ 15) 6l6hip  FoGIUN_I9BE, 615506

k=16,11,16... (W 61601 HTemelT 2 6ierian elend Senrss. (SEP-21)
k=1 y= 20+t _o+4 10 _,
5 5 5
k=6 y= 2O+ _36+4 40 _ g
5 5 5
k=11:x=6(11)+4=66+4=7_0=14
5 5 5

~x=2,814..
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5. pBused 7 wefldE@ 100 wenfl CHISHIHBEL!
e GoylD eredren? [

83 Gurarp zwEZBBaY ]

Gwors uwiBd Gauiweyid.

(aw)
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+ 2, —x+2z=-3..... 4)

B)>x—-2z=3
4)=> —x+2z=-3
0=0
@Grg 0=0. OsthsHsliiulL FLoeTUTL_ (B
CaTEUIBGE eememBBD STeyser 2 6wi(b.

(i)2y+z=3(—x+1); x+3y—z=—4;

3x+2y+z=—%
2y+z=3(—x+1)=>2y+z=-3x+3
3x+2y+z=3 ... (D
—x+3y—z=-4...(2)
3x 42y +2= > (3)
DH+@)=
(D)= 3x+2y+27 =3
2)=> —x+3y—z=-4
2x + 5y =-1 ... 4)

2X(2)=> —2x+6y—2z=-8.... (2)

B)= 6x+4y+2z=-1.... (3)

4x + 10y =-9
+ 2, 2+ 5y = =2 (5)
®H- OG)=
(4):? +/§/ =-1
(5)=>Lx+hby=—2 .. (5)
O O @
0=—1-2
0= —2H9 0= 7
2 2

@rig 0 + %@asrr@éaaaul_u'_l_ goeum’_(H Cam@iy
QHRIBMLOE] DBBEH. FwaTLH  OFTELIBE
BTeYD6IT E606n6v.

[ 831 Gursip m:swrkEEar ]

gwiores uuiBd Gauiweyb.

6L.8M.3.5: $jbs x+2y—z=05; x—y+z=—2;@

—5x—4y+z=-11

6.8M.3.6: $jbs: 3x+y—3z=1;, -2x—y+2z=1;

—x—y+z=2
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(i) ZX="2="Lx+y +2=27

y+z z4+x x+y
4 3 2
ytz _ z4x

4 3
3y+3z=4z+ 4x

i x+y+z=27

3. HIHST, HHHS LOBDID euTewl PAUI cpeifledr
gymEfl ewgl 53. HTHSTelE euwgHed LTS,
SHHmSUIET WL  pIfled @  LURIG
BB eureniulle auuIled HTeTElsd @ LKIG
S8\ weuBser Fn(HH60 65. BTEIE
YBBEHBEG (P HTHSHM6N6T eI
cuTemilulledr euWenHBLITEL BT6iIE LOLMIE 6eTeulsd

4x -3y +4z—3z=0

3 2
2z + 2x =3x + 3y

3x—2x+3y—-2z=0

x+3y—2z=0 ... 2
X+y+z=27 ... 3
MH+@)=
(1):>4x—;’//+z=
2= x+3y—2z=

5 -z =0.... 4)

)= x + ;/{, -2z =
3x(3)=>3x+3y+3z=81
= = = G
—2x —5z =-81....(5
(4)x5=>25x—-52 =0
(5) > —2x —é = —81
H H &
27x =81
:%:3
x =36 (4)-60 UgHuiL z = 15
x=3,z=15aen (1)-60 yaui_y =9
aaiGou QETESsLILLL FweT B OCaTaLBG
98 9® e 2 mi6.
[ @31 Curary zswszzaly ]

S&wors LuiBd Geuiweyib.

X

6L.EM3.1: HEmHUl CUUIHTENH LoH6e eUiendil CLme sl
LB UG UB UGLEBEREGL DG  Sbmauis
QULIGTENGH! LoB6HI6N ULIEHSLIBLITEL [BT6NE LOLhig DIHSBD. HHMd
LOBOID 0B HBEUTHHUI LN (AL BKE6T6V) &Brracénaa.@

61.&I1.3.9: (LpSH6L 6l6uTanilel (LLDLOL I, EJ6RILMID 6T601 LOMBILD
APEIBTID  sTevdiomiledl &) OLHBIG pBweuBplen FaBHe0 5.
(PH6L  6I6WT  LOBEID  PEOIBITLD  6TENTGING  (LPLDLOL MG
S @wieuindleor NG RNNGIE @yemIL_mb 6T6U0T 60T 63T
(POWLHENGES H0EE BID CUBIISH 2. (pH6ev slemiswie S
DL i@, LOBMID G)J6mILTD 6T6vTemNed (LPLDLOL MBI Sa\ulsuibslest
Fn(BH6N6NHHSH!  CLPSIBTID 6lemTenenid HIPHH BTD GLBIISI
1. QT SIS LP6ITNI 6TENIHEN6NS  HTEIIH. @

apauflelt HHBEUTMSW GULINSHH HTEHIS.

auTemiuiedT euUH = X PTA2

SIGUETH SHHeOGHUNeT euuldH = Y

SIS HTHSTlET g = Z (5M)

gymam euwg = 53
x+33/+z — 53
x+y+z=53x3

x+y+z=159.... (D)

O%G §z+§y+ix =65

3x +4y + 6z =780 ...... (2)
BTN UL MIBEHHG (LGOI
ameniiulesr auwig = x — 4

SleUeTH HHewdHulen ek =y — 4
SRleNH HTHFHTalET alulgh =z — 4
z—4=4(x—4)

z—4=4x-16

4x—-z—-12=0

dx —z=12.... (3)

(1) X 4 = 4x £ 47 + 4z = 636

= 3x + 47+ 62 = 780
SHeHeNS
X _ ZZ — —144 ............ (4‘)

(B3)x2=>8x—-2z=24
4 x1=> x—2z=-144

=) & (+)
7x =168
x =2 =24
x = 24 ete1 (5)-60 NygHui
4x —z =12
4(24) —z=12
—z=12-96

—z=-84 > z=284
x=24; z=84ae (1) 60 ggHuiL
x+y+z=159
24 +vy+84 =159

y+ 108 = 159
y =159 -108
y =51

- aumemiuledr euwig = 24
Sleueng FHhHmsuler euwig = 51
Sleuengl HTHGTalen euwig = 84
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@@ cpaievds eauennsd, EeVbSRIB6T6N FnBH60
11. @evssnmensn @ LOMBS euevons  auflens

5.

@bdHl, USH LBPIL oUBH UL
Crm_(Baefeir GThg W] I 105 BBID

TBIeNTed LBl 6TewT  Lienipwl - eTevdiemilelr - @Rl Curss  GET.Goeien  atiolEms 12.
IDLBin&Eail. 46 SiHED. LUSHTD B BevbasHHlem a0 @reip  aemd  CHTL(Beasere
@® wLEGsTG HIEID B QussdmBSH SasmBmU  @LIOTBBID  QFUIHTe)

Gl lgaTeL QEMMTID G DevdHID HMLBGLD 6laev,
SlbD CPeNeVBDH CIEHINEMD BTGB,
apelevds etewt = 100x + 10y + z
(1egb Revdsid = Z, 104D B60HhHID = Y,
10010 @evdbsHid = X)
Bevdamhissien ampsHer = 11,x +y +2z = 11...(1)
QevsEmIBmeT QL IOHHSH  oIeVTH  auflens
omppslenmsd Lalw etewor = 100z + 10y + x
100z + 10y + x = 5[100x + 10y + z] + 46
100z + 10y + x = 500x + 50y + 5z + 46
499x + 40y — 95z = —46.............. (2)
x+2y=z=x+2y—z=0....(3)

MH+B)=

Wwhmsw gl el 320 P sfoEna
aafled, eIHBHEm WHFH, USSH LOBBID
Qoual Ut CHT.GH6T 2 6lenen? (5M)
5 epumls Gurl(Baeflsir eTewTeniHme = X
10 epums Gurl(hasefeir eTewTemntHemed = Y
20 epumul Grml_(Boerie eleitemildbend = Z
x+y+z=12..(1),Cwrss wAi= 105
5x + 10y + 20z = 105

+5 x+2y+4z=121... (2)
wWPpHeo @i ouemd GBI (herilenn
eTevdTemN dsemEEmUL @ LOTMBMID GlFU I

10x + 5y + 20z = 105 + 20

10x + 5y + 20z = 125

(1):x+y +4=11 =5 2x+y+4Z:25 ...... (3)
B)=x+2y+#z=0 Q)=>x+2y+42=21
Y ()= 2x +y +47=125

2x+3y =11.... 4
(1) x95 = 95x + 95y + 957 = 1045
(2) = 499x + 40y —/Qéz = —46
594x + 135y =999.......(5)
(5) = 594x + 138y = 999
(4) x45=> 90x + X35y =495
(=) (=) (=)

= = ) )

=Xty J—
x(-1) x—-y=4 ... (4)
(1) X (4) = 4x + 4y + 4z = 48
(2) > x+2y+4z=21
ODE = =)

3x +2y =27 (5)
(5) > 3%+ 2y = 27

504x =504
504 4)x(B)=>3x—3y=12
= or CHOIC
x =1een (4)-60 x =1,y =3, e6m S5y =15
UySlui (1)-60 ygHui = % =3
2x+3y =11 x+y+z=11 y = 3eaen (4)-60 x=7;y=3¢em
2 +3y =11 1+3+z=11 Uyglui (D-s0 igglui
_ -y=4 +y+z=12
3y=11-2 4+4+7=11 xX=Yy xty
g 9 ’ x—3=4 7+3+z=12
y=5=3 z=11-4=7 Xx=4+3=7 | z=12-10=2

=~ Bpemeuwimenr et = 100x + 10y + z
=100(1)+10(3)+7=100+30+7 =137

@31 Gurerp merdgaar
swiotd LuiBd GFuiwie.

6L.&BT34: LisioNaemeden. Cuimen g SHLasmil Cumiiguisy, Cotsd Lfiasst 24

(5m)

~5 epumul Gmrl_(hewerien eTevenllbens = 7
10 epumul @Cmrl_(hwerien eTeutenidend = 3
20 epumul GmrL_(haberiied eTewT Gmllbemad = 2
[@51 Burarp mrds@am*}

gwiors LuiBdl Gauiwe)b.
SPGLLUIBSE: 3. 20} epeISlevdse

QBT SHABLY CUT 9H6led QUEBOLTHHOND 56 Lo @HIBHLILILB6TeNgI.  (LPSH6ILLD
CuBLINBEE 5 Leeeend, @emmild GuBLeNmHEE 3 Usiefaenn, —psimmiLo
CuBLIBNBEE 1 LoD SiedsilLB. cpsmmiL D CLBBaIEeTe creumeumibemd (LPSHed LOBHID
@b @ hiseneril  LgHSHenTeelen  cTenIemNBmBUIT FBHGHF FLOD 6Ny, (LPHEV,
@Jevn_MD OBEID PeMBTLOL D CLIBBAITHEM6NT 6TEITEINENEENULIS  HITCHIE.
SGLLLIBA: 2. o Lsieulsd A, B opmid C etetiB el Lifleyseled 150 Lomemionaeil LhaTss
GayasLLIbdemey. Lifley A-uledmbal ey C-&5@ 6 LomsmieyaseiT LommBmiLl L med, Em Lifleyssfisvio
Flowen LomewiauseT @dULY. C 1fle) wmewaisesn erewisniaamnauisn 4 0L hig oBpio A ey
LoTemTaJEe e cleusmismad @aunBen elsHunso B Lifle] wremeljssisn sreumemidmede@d FLob
6T6Tev, cLpedImI LIflesmeflen 2 6iTer LOTERIeNH6N 6N 6TenTemTEenNdEemUIS HT6uIsb.

sTendtendied, LISSTD G LOBBID EIBID S

N6VSHHMHIBEMETT BL_LOTBBIeIHE0T CLP6VLD
HoLd@d  UHu e,  GemBaHsULLL
oTeuoTeuNedl  (LPLDIOL TBIDEBSIL. 54 SiFsID.

Can®dsil L eTeGemmB  198-23  gwl igevmed
BVHHHRIBET G AUVLILIGHIONS aIflend  LOTBID.
QRMTD @ NevbEHMBNIL.  DIHB(LPSTT6T
USSTD QL DeobsbHe BB LOLHE, BIBID
Bl RevsasmS el HBPsTEN LGSTD G
QouEBHABGHF FIOD  6l6iev, OBMBHBBLILLL

GTGOTENENIED  SIT6UIIE. @
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1. Spdasramid UsVIBIILE CoTensusmseiian 15.61L.6u
semis. (1) x* +3x3—x—3,x3+x*—5x+3

o (sep-20)
fx)=x*+3x3-x-3, g(x) =x3+x?>-5x+3
x+2
X +3x3 - 0x?—x—-3
A+ x3 — 5x% 4 3x
GHEGINCGIENG)

253 +5x%—4x -3
253 +2x%>—10x + 6

1.

x3+x%2-5x+3

(=) = =)
3x2+6x—9 o
3[x2 + 2x — 3]

3[x? +2x — 3] # 0 @mhi® 3 aeg g(x) e
AUGHHBH  DI6V6V.

x—1
x2+2x—-3 | xX*+x*-5x+3 2.
2%+ 2x2 — 3x @
=) (_/);ﬂ (jz)/,( v
— — + ol.
—x7 25 +.3
+ ) )
0

4.

o (X)) & g(x) eyPweuppdan 15606 x% + 2x — 3
f) &g

€

2. eieumeusieuBpii@ L5.4..0 SHTeviiss.

(i) 8x*y?, 48x2%y*

(i) x*—1, x2—2x+1
(iv) x® —27,(x —3)%, x2 -9
SieoLLuIBE:

Fwiors LuiBd GFuiwa|b.

[ﬁg} Gureip m&@m}

(sm)

SpssTamid LOIDILILE Cahmeneusseriet
15.0L1.60  HTEHID.
(i) x*—1,x3 —11x2 +x — 11
(i) 3x* + 6x3 — 12x2 — 24x,
4x* + 14x3 + 8x% — 8x
(iv) 3x3 +3x% +3x +3,6x3 + 12x% + 6x + 12

SvGLLUIBH: 5. IGHSHH0 LIgpenBenwll LUIeTLIBHE S
2x* 4+ 13x3 +27x% 4+ 23x+ 7, x3+3x*+3x+1,
x2+2x+ 1 dueupfer 15.0U.61. &Tes.

ol 310 x° +x%2 —x + 2 &2x® — 5x% + 5x — 3 gfu
LoVl 5 Comemeusmeiien LEOLLEI HTeuiib.

&M, 3.11: 6x3 —30x% + 60x — 48,
3x3—12x2+21x— 18
Camemeusmerilen L5.GILL6N ST6EmIs.

YR AT LISOSVIMILIL |

@31 Curakp ZewEGHaY
swors LuiBd GFuieb.

(aw)

LedreumeueiouBPB@ L6.0LUT.LD STenic.
i) 9a3b?,12a%b?c (iii) 16m, 12m?n?, 8n?

(iv) p> —3p+2,p*> — 4 (v) 2x% —5x — 3,4x> — 36

&1.3.12: LeiieumensneuBiiBg S.4.0 SHmeis.
(i) 5x — 10, 5x%—20

xy(k? + 1) + k(x? + y?) & xy(k? — 1) + k(x? — y?)
B weuBmlen 15.8.10. &6,

(2x% = 3xy?)? = [x[2x — 33/]]2 = x%[2x — 3y]?

3yl]* = 23[2x — 3y]?

(i) 4x2%y,8x3y? (vi) (2x% — 3xy)?, (4x — 6y)3,8x3 — 27y3
4 wBpio 8
S @ WLImBNS 60T
B0 8 (4x — 6y)° =[2[2x -
15,610 : 8x3y? 8x* —27y% = (2x)° -

(By)3z = (2x —3y)(4x% + 9y? + 6xy)

..o 23x2(2x — 3y)3[4x% + 6xy + 9y?]

1. eireummeueneuipfled (wempGw f(x) wmppid g(x)
Sweuinlen 15.6L.60 WBBID L5.H.0 HTewis. GO,

f(x) X g(x) = (18.8.10) X (15.0L1.6Y) GTGILENBEF FHLIMTdbS.

(1) 21x%y,35xy?
fx)=21x?y =7%x3Xx%Xy
g(x) =35xy? =7 X5 xx Xy?
B.8.0:3 X 5X 7 X x2 X y? = 105x%y?
W.0u.en:7 X x Xy =7xy
Ffumirgsev: f(x) X g(x) = (B.8.10) X (15.61L.61)
21x?%y x 35xy? = 105x2%y? x 7xy
735x3y3 = 735x3y3
f(x) X g(x) = 15.8.10) X (18.0L.64) 61601 FAUTTHSIILIL L .

831 Curerp m:awrisgaar
gwions LulBd GgFuneyb.

[ J

1. Ueiionmensmauipped wpeomBu f(x) & g(x)
Swepfer  15.0u.en & 8.HD  HrewiH.
GLoguild, f(x) x g(x) = (B.8.10) X (15.61L1.6m)
GTIINSE  FHLTTHS.

() (2 —Dx+1),(x2+1) @
(i) (x*y +xy?), (x* + xy)
CQ: @ Wns (PWHEsT P LOBBID g
Sfwsubens p = a?b® wpypib g = ab sar
611D QUISVID ; A, b 6T6lUe LIST 616161
eiedtev, 1B.8.0 (p,q) X 8.60u.61.(p, q) = pq
oong Fflurybs. (PTA - 2) @

(aw)
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2. BPael eeubeurm GFmg LIS CxTeneumsisn L5.8.10 SHTewis.

() a? +4a—12,a%> — 5a + 6 @apler 18.0uT.e1 a — 2

fx)=a*+4a-12=(a+6)(a—2)
gix)=a*—-5a+6=(a—-3)(a—2)

L5.0um.6) :

a—2

f)xg(x) _ (a+6)(a=Z)x(a-3)(a—2)

5.0
B.8.0: (a

18.0uUT.61

3. Ueeumd @euQeurm BGamg uUsOIBILLIECHTMoUGM6N 15.60IL.6u SHrewiss.

(a=2)
+6)(a—3)(a—-2)

) (PTA)

|

&3 Gurary zTwHBBAY

Gwiors uuiBd Gauiwed.

]

2.
15.8.10  BTeviIss.

(i) x* — 27a3x, (x — 3a)? @aupeir 16.0uT.6u (x —

SpeHem  @eldeurm  GaFmy UsvepItLs  Cameneuserieim

3 a)@

@w

() 12(x* — x3),8(x* — 323 + 2x2) Qaupfenr B.A10 24x3(x — 1)(x — 2)

fx) =12(x* — x?)
= 12x3[x — 1]
g(x) = 8(x* — 3x3 + 2x?)
= 8x?[x? — 3x + 2]
=8x*(x—1)(x—2)
B.Aw = 24x3(x —1)(x —2)

83 Gurary zwEBEaY
suwiors uuWiBd GFuiwe)d.

[

3. Ueiteuld  @eiQeurp  Gamg
(1) 3 +y3), (x*+x%y?2+yY) Qeumen

@ +y) (A +xy +y?)

BHT6MID.

3y 200 —
5.0LLel = fx)xg(x) — 12x° (x—1)x8x*(x—1)(x—-2)

15.4.10
18,660 = 4x%(x — 1)

24x3(x—1)(x-2)

LGOI I | BHTemaIH6lesr  15.GlLI.6u
15.41.10

(aw)

4. p(x),q(x) eaep B uRIBIIE GCoTemeusefsn .80 wEGID WB.0U.6 CETHHSLILIL BeiTee.

ouBBledmhgH SPHBRIL_UBNDBE HeILMbEH HILLS.

€

616001 18.8.10 15.@IL1.6 p(x) q(x)
i |a*-10a*+11a+70| a—7 |a*—-12a+35| ?
@) 8.8.0 = a® — 10a? + 11a + 70 a’?—5a-—14
1B8.0u.60 = a —7 a—>5 7—10a2+11a+70
p(x) = a? —12a + 35, q(x) =? °—5a®
( ) __ 158l.oX18.6L.61 =) ()
q\x) = p(x) - + 11a
_ a®-10a”+11a+70xa-7 —8a? + 25a
a?-12a+35 )
(a®-10a2+11a+70)x(a<7) —
- @7(a-5) 1:7+ 70
—14a + 70
(x) =a*—-5a—14
1 + =
=(a+2)(a—7) 0

|

831 Curary m:wHBHAT

swiors Lulbd GaFuiLieyb.

|

4.
SIDHHILIBMBS HMIL N HHI BIiL|s.

p(x),q(x) eeim &® usvempIis Cosremeuselen 5.8 wHED 5.0 QeT@asiILL Beitenar.  Seaubnledmbal

(sm)

61601 18.8.10

18.0L.6u p(x)

q(x)

(i) (x* —yH* + 2%y +yY

(x*—y*

(x* —yH(* +y* —xy)
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uuiF 3.4

1. Weieupd ela@spm Boreneusemen slelwl augalBSHF FHHEGD. @ [ Ba1 Guraty merksmar }
N~ -1 x*-12 D=1 _ x-1 gwiors LulBd Qeuieb.

}x2+x x(x+1) x(x+t) | x 6.&M1.3.13 : eldHwm Comensusemern Graﬂu_lzeulgemeb FHEGHD.
2 _ _ o x-3 L x2-16
(ii) X levls = (r=9)(x7) = ﬂ (I) x2-9 (“) x2+8x+16 @
X% —4x+4 x-2)(x=2) x-2
2
(iii) 9x*+81x 9x[x+9] _ 9(x%+9) :i Gz CGurskm Smalt
x3+8x2-9x  x(x2+8x-9) (x+9)(x—1) x—1 Gwiors Luibd GeEuneD.
(iv) p?-3p-40 _  (p-8)(p+5) _ (»=B)(p+5) | SwwoGLLWIBH: 6. Lseupd eSSy CoTeneusemen  sleril
2p3-24p2+64p  2p(p2-12p+32)  2p(p~8)(p—4 e T
P P b I;(fs b ) p( =4 Al ACEGE, ()x2“+2xa+4- (i) —4-10x2 @
T 2p(p-9)
2. HPpoeaii CxTemausEnd@ MevsHLILLTL WHiEsT SmULI6ET DeUBBE HT6HI®. @
(iv) x3-27  x3-32  (x-3)(x2+9-3x)
x3+x2—6x  x[x2+x—6]  x(x2+x—6) 831 QU!I'G*Q) 66‘“&@86‘?
p(x) _ (x=3)(x2-3x+9) Py awioras LuiBd GFUIWLIeD. @
q(x)  x(x+3)(x-2) 2. B1peHa_ CHTNIBEDHHE 6MeVBELILIL L LDHIIL|H6IT
+3 -2

@@Lnja'ﬂ SIBENMBE asrrsm'ﬂ&.
x?+6x+8

() y2 -25 ( ) t2-5t+6 (111) x2+x-2
61.&M1.3.14 : Leieumid Camemeuseflen allevdsaii L

ollevdbas W srem q(x) =0
x(x+3)(x—2)=0

x=0 x+3=0 x—2=0 LDQ):]I.JLl&nFTGW&
- — — .\ x+10 __7p+2 .
x=-3 x 2 (I) 8x ( ) 8p2+13p+5 (MAY
~x=0-3,2
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5+1=0

= X =—=
x=5 p

Db 616wl 5 616Ml6D, DB HEMEVBLL i

SibFH 616w —% GTN6D, SDUH6N HemevdlH — 5

[ @31 Burstp Z:ewrsBmar ]

SWoms LuiBd GFuiule.

(W)

12 18 X 16 18 Seneyset Qemawi_ @ GFaous augall yhmTamad &bl W IBLLT Siseopsiten

Cumpdenr Gousld = x .15 /el

Quoress sipp =90 &b
B HHISECHT6TEmHD GBI = T;
__ &mw
17 Gousid
T, = 1—0 Lo6w

P sMNeSILGD Gousd= 15 &.15/ 16w
BGu@bdlsn Gausid = (x + 15)&@.15 /ioewf
Qwreds Hmyb = 90 &5
90
27 (x+15)
Gpy elsHwnFd = 30 ML risei

BOLUTNS SImodSELUIUGBLEUTSH, SiBe OCrhsl Uiy 285 FHJ WLLITS AHEHESBSHI.

HOLLTENSUN6H DIBVHMBHD HeIdH (BSb. (5M)
Benb = 1615, [~ _ —-b+VbZ—4ac __ —56+,/562-4(4)(-93)
3iHe0D = 1216 . 2a 2(4)

pooLLTBUls - B _ -56:+/3136+1488
SIH6EVD = W Lom -561+68 ®
SBOUTEI, [Hermbd [ T 3
= (16 + 2w)m 162w W= _56tes _ 12 _ —56-68

oiseod = (12 + 2w)m —1 5; 8 ‘ Y

~ (16 +2w)(12 + 2w) = 285 - T8
192 + 56w + 4w? = 285 W gl et @mobes CeemiB
4w? + 56w + 192 — 285 =0 et -
2 —
4w + 56w —-93 =0 " SOIBEVID= 1.518
a=4,b=56,c=-93
[ @31 CGurstp zwriEz:al }
Swions Luiid GeFunLeb.

8. 10 1§ ubsd SjeaYsien FHIT QNYal HevhdHler BhHalsd, @m FHT 0] GLenLWD Hewens &BBF Frmer @
DIHEV(IPSITEN  FTEW6N  LITMSUD DS SILGABH. @ FHF WL GuwenL BBID LTS AmdHS  (PemBEL
I3 wpmib I4 eremeuTE OThHeHF OFevey 364 elafled, Frenen LITENSHUTGH DIH6VID  6l6dT60 7

Sleo@UUUlBH: 12. 320 8 SBpene] 4800 &.5 LFlLeTaD QETemL CF6IaIS 6Ugalll LHIBTmR DHIDHS (LPIQUIDT? D 6lsilev,

DIBHEN [B6NILD, DIEHEVLD HITEMIH.

3. @ Gumbm 90D OCotemeveneuF Fmenm GCoaussHHd SLEIWBH. DiHenr Gausd 15 &.ub/oewd

SFBRSSUILLLT6, Lwiewr GrI 30 BLOLMIEsT GHmBABSHI 616ile0, CLmBHN CousdHmdd B BHsb.

1
T, — T, = = e
1727 (5m)
90 90 1
x x+15 - 2
90(x+15)-90x _ 1
x(x+15) 2

90x + 1350 — 90x = %(x2 + 15x%)
x?+ 15x = +1350 x 2
x?+15x — 2700 =0
(x—45)(x+60)=0
x = 45 (or) —60
X 10emBWTE BHHBH Galewn(ib.
~x =45818 /iwenf

-2700

-45 +60
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[ G331 Curstp m:ewrisEEar

Fwiors Luind GeFuiwieb.

61.8.3.39: QFsiiensnuledmhs alhBTFFSHBEG 240 H.6 HMIHMBHE HLbB @ LWHeT OHTLTouswgdH@ b @
alenge] OFHTLJouewngenuiai. 1 wewl GBI FnBHeOTHSH CHMUILIBSMSH. LwewseT GHTLjouswnguies Geusid, ellenye
QamLjeuewnguisit Gousdhemdel 20 &1/l Gemmey eeilsd, @M OBTLouswigsbellen Fynaf Cousmiomemend HemiobdHb.
SpoGLLUIBS: 11. 36 HiB HMHMS @B UG BOIM L HHsr HewFulsv B &G0 CHIHMESML 618y HemFuley &L &G GHID 1.6
el GBID SHHIND TBHHGOBTETEBEL. HEIM L HHetr Coumid 4 &.ibfiveml 6l6fls0, SemFoupm Biev L&t Gousbid 6T6dmen?

CQ: Peweowimen Bilsd 18 &S/ emil BoumssHdHlsd OFevad @ SWIHATU LL&TagH 24 S HMIHms Bilelr SHenguley HL&EID
CrrsHems ol BHflsn e1dHjHensulsd &L5H FnbBHeors 1 wewl CHID CHmaulLIBGEMSHI. Hilet Gausld @Hmenis. (MDL, PTA-2)
CQ: @ OaTLY euetig @® GEUI L HMTHMS Fgren CoubsdHdlsd &L EABEH. OHTLT euswiguies Gousd 10 &5/ weml
SIFPBRSHULLLTEL 2 el ChIHHBE (WelanHTECa @GR L HMIHmeH DDLUWD. WBBID CHTLY euewnguis Geusbld
10 &b/ wenl @GempHsiUL LT 3 wenll CHISHABG LIBEH ASGBI L SHTTHmS DML WOelled DibdH QHTLYT 66wy
DIV HH HMTHMBHH HwIshd [BHb. (PTA-5)
CQ:9®m wawbhas sl Geuswigwl CBIHSHIGHEH 30 BULDL STOSLISH LUBULLLE. 150 &5 HMIHHe0 2 siten
CrmLHmas gFflwmen CrrHHed CFamenLUl BH@IDL U IpHBIOT  CoudsHmd ewld@ 25 & AHBUUGSHS

Cousminguimbaal eefled, L&PHSI6T 6UPHHLT CoubHmBH HTEUIND.

(PTA-6)

4. qwm Ouemewish auwH s FeaTHfuls alwemdll CuTeL @MOLMIG DGO, WHH UFIBHEDHHSL
Uet 8 euwigiseiei GLImBSBLEVET 375 elaed, FCaMHfimaisn HBOLTMSW 6ULIMSHH HIT6HISD. PTA4

FCamrHHUle euIFH = X,
Quemtemflledt eIUIGH = 2X
MbdHl IHLAIBEDHHG L6
F8a1Hflulletr ek = x + 5
Guewrewilenn euuigdl = 2x + 5
2bDI UE(BHHEHBESL!
el @ euIGIH6N 6T
QumBSBLsVET = 375
(x+5)(2x+5) =375
2x% 4+ 5x + 10x + 25 = 375

[ B31 Buraip seuripsar ]

Fwiord LuIBd GFuiwea|b.

61.851.3.36: @ojaien  HBELTNSHW
aIAeT  SHIOLBICHETH  @silenBE
Fl 1genmed  AewLLgl,  GLoyevedt

By uon_Teni(BabETHE S (pHEmSILI
QULIENSILD Siefledr 4
BB EHBGL LhemHiLI
QUULIEHSHULD QUIHBHH

B LLFHBSGHF FIOD 616660, Diewflen
SBOLTEMSHW  QULDSHS — HTEwIH.

(PTA-1) @

2x%2+15x—350=0
(2x+35)(x—10)=0

(W)

2x+35=0
2x=-35  x—10=0 -700
35 RN ]
X=—-= x=10 3% 20 -10
2 2 4
~x =10

[x sewnglins WS WTE BHHH

Beuemi(BLD]

F8arapfluilen euwigkh = x = 10

SLeIHHeT  Cuewtenlledsr auwId = 2X
=2(10) = 20 syemBHsi

20 8 ellLqpsiten @@ e LgHHlehr LfiFuied sbubd @i GUTHSSUIUL CoueiBd. gCHMID @

all LSt R (wemansefed OUTmHSHULILBsitemr P opmid Q eTepid sHeymeiisd SmbsH SOUSHBE
@oLULLL  OFHTeneveyderien elGHWTFD 4 1S o eilemeum@ &L [BL(PQUjor? b  ealed, S

SHa)H6Mel(HHEH HDLHMS elalalene| CHTemsvailed QUTMHHH BCalswiBID?
(y+16)(y—12) =0

Oamhasaiul L elleuhigseer Lig

X — 3; =4 P @pa) y= 16 @lmm@ 12
i J 56-;3]‘ E o0y fevawrs Rmbs CalewmiBLh. +16 -12
UL $%/6V(BbD, . )
APQR @®m  GomGsremn N\ ~y=12
(WpSCHTEMID  6TETLIHTED R Qe | — 4+ y
PQ* = PR* + RQ? —4+12=16
2 — 42 2
2 xory x =16

(4 +y)? +y?% =202
16 + y2 + 8y + y? = 400
2y? +8y —384 =0
2 60 IGHES,
y2 + 4y —192 = 0

SID, SHIDLID L (LPIQULD.
gQeneiisv 16 —12 = 4

P edmpbal 16 15 Osmensvueieid oBmid Qelmhal
12 15 OxTenevailsVilD SHIDUID BL (LPIQUJLD.
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6. 2x2 eameEmBUMLL &HUY CoHafbsefe Sl LHHembal i LsHAear urdulet  eaujdasape
clewionleEen®d OSTai CHaibdel @M WISHEHEF OFOHemer. WeHIBGL L SHHe0MmbH @eirLge0
LBl um@ OsTewi CxheaisssT 9ICH WISHHIHEHF OCFevHlemer. WsHween QrewiG CoHeibameiT LOWILD
S evfled Fballd Cammemnen erafled, COTHBHH CHatbHeMei clemIEmIEMB 615HSHM ? (5M)

&I ChHaitmeien eramienidms | 2x%2 —9x — 18 = 0

— 2x2 (x—6)2x+3)=0 .y
Sl LGHeil  LUTHUNT  6UiTebHeLP60 ¥=6=0 2x+3=0
xX=6 2x = -3 26 Rl
elemIemNBmed = VX2 = X 3 2 -
X=-—=
QETUFeL 61 (B UBIE OaTemi 2
o 8 ) 16x2 X =6 [x g ewaswnsd RmeEs CouewiBLd. |
Copaftdmel = - (2x%) = . . . ... 2
9 9 s Qwrhed Cohafidsellsn semenidmes = 2x
BHsiten Rrenih Coeibssn = 2 =2(6)2=2(36) =72
16x? Gurak, e 1
YR PR P gt Ay
0x+16x2 61.51.3.38: @F @L HFl60 X2 oIenEIBST Sl LIoTE @HBEH6N. GLosniss
2x% — [—] =2 FuIsTed, 10x oeembiseT  gileGHF OFamer; 6llgsd @M LhG
CaHT LHFBGU UBHSH. LSH(p6iTen cpeiiml Bmamgsme Hiflsd  ellensnuimigesr
18x%2 —9x — 16x%2 = 18 olaflen, QLOTHSH SIS 616uT6mTHeNHEMUIS SHTEUTSH? @

7. 70 8 @eoLiulL GOxmensveiled 2 _siten Qm SEIGH6Tsd QT @elSFULBSBSHI. (PH6L DPESlsd 4
UTL SJHEHLD @IediLmd Sihisled 9 UTL&JSEHD LTBABIIHsT. FIo @al jenalsd Qengamwis GHL s
alpbUD @wm BUF M SPHSHSEHSS DmLulled omig HBe GoaustiBb? (GUILUY @6 enaysefisn

aldlgpld, LU L OFHTensva|mseien alfbssden alldsIpld FIoD). (5M)
< (2)-g (1)-60 Tyguic
: 10 x+y=70
P ' ‘ C24 -
v Q ~+y=70
P-aps6v oipmisd, Q-@IewiLmbd SiJmisld 2y+3y=70%3
SITRIBHIBEHHBH L Cuiwimenr Girensvey= 70 15 5y =210
@@ BUT B[ DTHIBHISEHHE RenL ulsy _ 210
pB@ st O er6iis Y=
(PGSO STRIAL LIML_SHJHerledn stewtenidbens(P) = 4 y =428
21D opmhded LT Sjselien ereitenidmns (Q) = 9 y =428 een (1)-60 s
P oBmib O-eyb@ @enL Buiwimenr GeTeneve] = XI5
x+y=70
Q wipnd O-a1E@& RenL Cuiwime G Tensve] = Vi
X+y =700 (D x+42=70
4_x2 x=70—42
-z
T =28
B HUBUIPLD SITHBHAPSVLD 61(HHD
2_% x =285
3
_ Z_y 5 SbH BUT P-edmbal 28 1B  GHTensvaisibd
X = (2) Q-a9mbgk 42 15 GHTensvaiad BiBs GeuswmiHLD.
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9. @m OFmBstewmr WECaTameHHlen &Jewid 25 OF.L5 LOBBID DSH6H &Dmene] 56
WECHETISH AP LUEESHS JieTDeUS SIS, (5M)

A a+b=56-—25
a+b=31
b=31—-a

25 0ot a? + b% = 252

a’+ (31 —a)? =252
a?+961+ a? —62a = 625
2a? —62a+961 —625=0

B = 2a? —62a +336 =0
b =a6s.s 2;%6‘;16“@51&568 0
h=b Gsif a®—sla+166 =

(a=24)|(a=7)=0
a=24 la=7

&jewid = 25 Q.15 24
ampene] = 56 QF.15

a+b+25=>56

swions LuiBd Geuney.

@F.15 eTeilev,

[@u Gursiy m&@m}

Fwiors LuiBd GeFuiwieab.

61.8611.3.37: @

17 ong Benapsien  @f ool @
Fauflen 10& FTUIHSIGTENSH. HewT, 66w
LBEYID CFRGHHIF &Heuf WD R
OFmiBs e (WP &ECHTEHMSB
2 HeUTHGSemer. Fialflen Siguiedmbal
gewiulledl D9 (LPEMeN QUGN 2 _6iT6T HIJLD
gewiuflel Gsv (Lpsmenr Fouemyd OQHTHLD
2 WIHmESaL 7 Sl GmBe| elelev,

168 FOUFlG 2 _WITID HT6emib.

PN

-7

& (p&ECaTemeFHet Fflul LbHHH6 Dene] 7 Q.6
[@g} Guratry zawEZEaT

am@u_u.‘ﬂméﬂ 13. @m BHMHHL LiBuUsL 2 Wweuledmbal t HOLBEEREGL LIBE& 3 LoD SEDLaISHBE 2 ful &Hiev

@m&lrrezi@] e el 3 BOLAB6T @Hemme)| 6l6ileD, t-Uledl LOHLIMLIE SHTemIb.

14. @fF aurm&i]so m aflmaulsd 2 sen SHEMBHET6 clenlbmed DbH AJEE o 6en QrsHs  auflengseen
TN HNBHGHF FIOWD. @eIbeuTm auflmauilsd 2 6o QBHEMBHMEN 5 GHMBHH OLOTHS 6UfleNFHETT6H 61600160 HENHEMILI
Qrlliursdlenmsd SPrEed o 6ol SHbmdEeran slamiemlbmes (psimuel 375 AHBFHGWL. DTRSD HlOubHHIH60

Qmba euflengaerien eTenTenNHMBENUIS HTCTINH.

(uulip# 3.13 )

1. Uemeumd SmUugF FLoUTHHMN6T LPeOkIb6TeT HTENIDMUIS FnBib.

H15x2+11x+2=0
ax?+bx+c=0 o _Ler guuiL,
a=15,b=11,c =2
A= b?—4ac

(JuN-23, SEP-21) M)
[@5. Bursvp m&@m}
aw)

swions Luiid Geulwieyb.

1. Ueteumd QmUEF FoaTUTGSHET6 (PRGN SHETENDMUIS Fnbidb.
(x> —x—1=0 (ii)v2t? -3t +3v2=0 (iv) 9y — 6V/2y + 2 =0
(v) 9a?b*x? — 24abcdx + 16¢%d?

=0,a#0,b+0

=112 - 4(15)(2) = 121 — 120 CQ siupd> S@LIgs FWHLT 96T (APeBBaTST SEEDIOMILIS STamS.

A=1, @hi A>0

2x%2 —x — 1 =0 (APR-23)
61&5rr340 LedioumD @BLIQF  FLOGTLTHEEME  (LPEUMIGBETEN  HEMEDLDEDUIS  BT6IIE.

“+ (LpEUMHIBGTT GUOUI LOBEID  FLOLOEVEEV (i) x2 — x —20 = 0 (i) 9x2 — 24x + 16 = 0 (iii) 2x2 —2x+9 =0

2. OamposslUlL. FoLTBS6M6T pekEsT GLoul LBEID Fb eafed, K-uleh LaleNLS HTBIS.

D Bk—6)x>+2kx+1=0 4 60 UGHED
A= 0 k2 —5k+6=0
a=5ic—6, b=2k c=1 k-3)k-2)=0 ¢
(2k)? — 4(5k — 6)(1) = 0 k=3 Tk=zo09 N
4% — 20k +24 =0 “k=23

[ﬁgl Burarp s:wrEsgsay swwors Uwibd Q&u‘.lu.lsmb.}

2. QETESHULLL FeTTBS6MsT ApsurkissT GOl WBBID &FI0b elefed, k-ulsn wienus srems. (ii) kx? + (6k + 2)x + 16 = 0 @
a&1341: () @mugs swemm G kx? — (8k + 4)x + 81 = 0-ul6ir cLpeuriuBsi GLOUI LOBEID &0 6Tefied, kUl LSiENLES ETams.
(@ii) (k+9)x?+ (k+ 1)x + 1 = 0-ulsir cpsvriuseit GLoul Gesvemsv sTelsv, k-ulsi LogLienLIE STemmis.

CQ:9x2 +3kx+4 =0 orohiB BHLIQF FLOGILITL Q6T cLPeLTHIBET QDU LOBBID &b elefled k-6 &I &rewias.(SEP - 20)
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5. (c2 —ab)x* — 2(a? — bc)x + b?> —ac = 0 el6iB FWELITLIQ6D APEURIGST FIOWD LOBEHID GLOUI 6TaflsD,

a=0 ooz a’ + b3+ c3 =3abceasn Hepd.

A=0

a=c?—ab, b=-2(a?— bo),
c=b%—-ac

b? —4ac =0

b? — 4ac = (—2(a® - bc))2 —4(c? — ab)(b? — ac)
= 4(a* + b%c? — 2a%bc) — 4(c?b? — ac® — ab® + a?bc)
= 4[a* + b%c? — 2a’bc — c?b? + ac® + ab® — a®bc]
= 4[a* + ac3® + ab® — 3a?bc]

= 4a[a® + b> + c* — 3abc]

\ “b?>—4ac=0 ‘

4a(a® + b3+ c3—3abc) =0

4a=0 | a®+b*+c*>—3abc=0

a=0 a® + b3+ ¢3 = 3abc

BlepLIbsIu L&), [ﬁgl Gurainp més@sm*}
awiots LWiBH Qeuieb.

(Pras]

€

3.(a—b)x*+ (b —c)x+ (c —a) =0 16N FLOGLITL 196 (LpeUrEIB6T GLOUI DBBID FLOW elaflsd, b, a,c UHW®e Q@ Fnl (B

OHTLJauflenFenul SeDISHEID 6160 [HIBIe|S.

4. a wpgld b Guoii alesst elatiev, (@ — b)x? — 6(a + b)x — 9(a — b) = 061 cPeUHKBSIT GLOUI LOBEID FLOLOEIEMEV 6TaT [HeHLIEEAD.
amn342 x2(p? + q?) + 2x(pr + qs) + 12 + 52 =0 a@id ST I9BE OLUI APSOEIBST Eedene0 olamd BT (B, GLoID

pS = pr, eleifled, cLP6VMIGSIT CLOUILITENEN6 OBMILD FLOD 6160 [HBIRS.

CQ: (1 +m?)x? + 2mex + (c? — a?) = 0 ety FLOGTL 96T ApeorEsT Fob siaflsd, c2 = a?(1 + m?) (SEP-21)

Cwip# 314 )

1. 8B QET@saUIULL Gxrensusensn a + [ oBEId aff eumufleors LOTH 611SHIS.

na B ey 1o 1 iii) Ba—1)(3—-1
D3 t3a (D) 2 + 522 (iif) ( )BB-1)
@ B _ 2B 1 pra | Ga—1DBL-1)
3B 3:2+323th a?B | Bla  a2p? = 9aB —3a—38+1
~ T3ap _ B _ _
(a+a/3)2—2a/3' (ap)? 9af —3(a+p)+1
o 3af

()

(iv) 5 +

a+3

B

a+3 | B+3

a
+ B+3 _ a’+3a+p%+3p8
a af
_ a?+pB%+3(a+p)
= —aﬁ
_ (a+B)*—2aBf+3(a+p)
= pr

2. 2x*—7x+5 =0 66l FWATLIQET APORIBET o OBHID S 6Tafsv, LlsTeueuaTOIBI6 LIS

srais. [GPly: Sja Comauisme)] (i)i+% (ii)§+§
2x*—=7x+5=0 iyl
@2+
a=2b=-7c=5 1,1_pra
a+ﬁ—_2 @ ﬁ_ ap
e _ atp
-7 - af
a+ﬁ_21 7
c —2
O.’,B—; ;
> T2 _
aﬁ:z =2%5

(iii) 71z +

a+2 p+2

a+2

€
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N B
(i) e
2
@ p_oept_ (aepro2ap _ (§) 20G) TS _se-a0 220
B« ap apB ; ; 4 5 10 @3 Guretp sMrsEzar
() a+2 + B+2 swions Luibsd Gauieyb.
m)—r+——
B2 a+2 3, %2+ 62— 4 = O-ullsw apeobimsit @, B eisfish, dEpssai eupens (M)
a+2 | f+2 _ (a+2)?+(B+2)? (APEVHIBETTERS CBTEWIL. @BLIQF FLOSLITL DL & HT6wIsH.
— = . - 22 -
B2 | a+z (a+2)(B+2) (i) a® wipgd B (i)  wibmid = (i) a*B wipd B2 a
QP4 At B A+ oI 15. f(x) = x2 — 2x + 3, eT6iim LSOIBIILES
= wpr2at2fia Camemeuulleh cLpeLmhIB6T & WBBID f 6T6iMleD, SIPHHEMILIBENM CLPEOBIBETTHS
Caremi UsbeIBIILG Cameneusnuid srewis. (1) a + 2, + 2 (ii) Z—: ,%
_ a*+p?+a(atp)+8 q@n34k x>+ 7x + 10 = 0 sigud SIS g8 cpeoissT @ oppid S
af+2(a+p)+4 sleiien, Lsimimaistafen i memens stens. (i) (@ — B) (i) a? + B> @
. ﬁ . 2 32
_ (a+B)?—2ap+a(atpyrs | (i) @’ =B (iv) a* + p* (v)%+; (VI)%+;
- aB+2(a+p)+4 11345 3x% + 7x — 2 = 0, 6l6hp FLOGILTL Q6T APeOMISST & BDID S @
2 2
N2 s ; 6T6uM60, QBTRHSLILL B6iTen I Hewend SHrewis. (i) % +§ (ii) % + %
= m ET346: 2x2 —x — 1 = 0, 6l6hp SFOGILTL 196 cLpsumIEsT @ LoBEpId B
E+2(E)+4 olelley, &6 OCBTBHBIILLL  APEVRIGMEMUENL U SHLIQF  FLOGTUTL 6nL_&
sreans. (i) %% (i) a8, B*a (i) 2a+pB, 28 +a (MDL)
2 -5+14+8
4744
_ 44—9+17 _ 49:68 117 2 117 13
=5, . — B5+22 — ., N, T oL T o
S+11 = 4 27 54 6
. . .. R 13 . . , .
4. a,p eeiuen 7x* + ax + 2 = 0-ule cpevrissT WBEID B — a = - eteufleL, a-ulleh LIS SHTemIs.
LpTA6, MAY-22 |
7x2+ax+2=0 (_2)2_4(3)_£ @
a=7b=a,c=2 7 7 49
b _-a @t _8_ 16
at+f=—=— 49 7 49
c a? 169 , 8
a = - = - - =227 °
A 13 49 49 7
(,B—a)=—7 a? _ 169+56
12 49 49
. 2 _
— =(-= 225
AR, (ﬁ a) ( 7 ) 2= Ty X 49
24 g2 — = 16
B*+a® —2pa =3 a’ =225
2 _ 169
(Cl+ﬁ) —Zaﬁ—Zaﬁ—E a=+15
169
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AP _ AQ _ PQ

AAPQ~AABC, —=—=
AB  AC  BC

4P _ PQ PQ_3_1
AB  BC BC 9 3
BC = 3PQ

1. AABC-uieéir ussmsst AB wppid AC-ulsh bgieiten Lsitefisesit wpwenpGw D wimid E syeng DE||BC

CINBAITHI  SIEDLOHBIGTENSI. (am)

@) 22 = wppid AC = 15 Gs18 awied AE-ulsin wHin| snaws.
() Gmoverd Bxipsesiig, — = = Gz Gurarp smrkEmar
DB EC suwiors uWind GFuiwe)D.
EC=x, AE=15-x 1. AABC uisin ubshmet AB wimid AC-ulsn Bgeter  (2M)

31« yeelasenr (wpewp@w D wipmo E sweng DE||BC  etiimeurmi
4 x Semwpglsitengl i) AD =8x —7,DB =5x—3,AF =4x—3

3x = 60 — 4x wimib EC = 3x — 1 sleafle0, X-631 10&iI| SHT6wib.
3x +4x =60 er.&m4.12: AABC-ulsv DE || BC, AD =x, DB=x—2,AE =x+2
7x = 60 15 B EC=x—1 oeafed, udssmser AB wommid AC-ule

60 HENBIGHENENEH SIS,

D aL.&TA4.13: AABCuSen Usshmst AB onpip AC60 SEmiohs Lpsfiash
x =857 § C wopGu D wppio E  Gosub, AB = 5.60518, AD = 1.4 0515,
AE = 15 — 8.57 AC =7.2065.18 wppip AE = 1.8060518 eeflsv, DE || BC sleiss &m_(héb.

AE = 6.43 Q5.5

[ 831 Bursty BTk ]

swiors LulBd GaFuiLieyb.

a.8m4.15: uLsHeo LA-uler @mawoailly AD o@wb. BD =4 65.6,DC = 3 0515 wB@ID
AB = 6 Q.15 aafsv, AC-mwis srenis? (PTA-5) (MAY - 22)

6.8m4.16: LL_sHev, AD ereiiugl £LBAC-uleit @mawoeul puingd. AB = 10 QF.15,
AC =14 Q@5.8& BC =6 Q.15 etels0 BD wimio DC-g3 smemis. (APR-23,PTA-3)
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2. ABCD a6y q@wm Ffoaussbdsd AB||DC wippd P,Q e (wempu udbsmiset AD  oBgid
BC-ulen 18% Siemobgisiten Lemaiaer @b, Guoaib PQ||DC PD = 18 0F.15, BQ = 35 G&.15 oixid

QC = 15 0.8, aefled, AD HMewIH. D C
ABCD s @@ sfaussdso AB||DC 18 N 15¢m JUL-22
AC-3 Qevemisd g PQ-emeu R-60 FhaHHBEI. N ! ggcm @
AACD 6o, PR || CD |
o .. AP __ AR A B
Bmpevery CHmmLiLIg, o0 = me
= (1) (1) wippid (2)-096bs!
18 RC M
AABC &,RQ || AB 8 3
o o 3x =126
Bmpsverd GoBBLILIY,
126
o Re AP = x aislep,
35 _ AR
15 RC AP = 42
7 AR AD = AP + PD
3= e 2
=42+ 18 = 60 Q5.8

3. AABC-uleb D wppid E e6iip  Usitefiamsit (perp@w udsmisst AB wipid AC sgdweupplen Wi
aimwpgleienen. (i) AB =12 Qg.8, AD = 805.8, AE = 120518 wpgd AC = 180515 aefled
DE || BC aien Hpieys. (M)
Car@hdssin Lg: AABC-uisv D woipid E steii  Lisitefiaen (pemm@ul
usshiseT AB wipib AC idweuBnien WH DiemLohHEIsiene.

AB =12 Q@s.5, AD = 80Q#.8, AE =12 @515, AC = 18 05.15 (@z1 Burakp merszmar
.. L. . . L. . swioras LuiBd GFUIwLeD.
Bpevary BapBmoHBle HlmenHEoBBHSHlsiLg,

3. AABC-ufsb D ot E 16 Lsitenliasit (LpsnmBl LIssamhiser

4B _ AC = 12_18 oA AB wipip AC idweuBpien 151 iemLobSIeT6ITe.
AbAE 8 12 VA YANEANT (ii) AB = 5.6 G515, AD = 1.4 G518, AC = 7.2 G515 woppid
3_3 J D—E AE = 186518 aafist DE || BC sion mois.  (om)
2 2 N ( :1:! / \é ) ' ’
= DE||BC B ¢
P - . ~ AR _ AQ ... QB _ DR
4. uLggled PQ||BC wpgpid PR||CD eefiso (1)~ =—— (ii) 10— ar Bmieys.  (2m)
~ AR _ AQ .y B _ DR
@ AD ~ AB @iD) AQ AR P
AABC & AADC oV, AABC & AAQP-sv, PQ||BC Q_~ \H
PQ||BC & PR||CD o P,
chmE T Bapevay BaBmosiig, \R<
Bmpevery CHBBHBIGLIY, AP AQ ~
AQ . AP . . AR . AP E - Q_B ................ (1) D
— = oBEIb — =
QB PC RD  PC PRIICD B3 Cursatrp :ewkigmat
AQ — AR = QB — RD ” swors LwWiBd GFuiuew.
8 RD - 4Q AR Capeverd CoBBSHSGLIY, a.&4.14: LLsHeo, DE || AC
>L411=241 AP _ AR (2) | wbwid DC Il AP aiafeb, 4
a0 m T s o .
QB+AQ — RD+AR (1) LD[D@]L'D (2) = EC CP BISYS-
AQ AR (PTA-4) @
A_B _ A_D ﬂ _ A_R ﬂ _ ﬂ % _ % B E ¢ P
AQ AR~ AB  AD QB RD ~AQ RA
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5. AABC-uien 2 6iiGsn 2B-g3 qm Coremnonas Oxmen. Fnigsmo PQRB swmwbgeieng. P, Q wigid R
eTedien (WempBw LbshEeT AB, AC wppilp BC 185 ommwbgieisn Lsielast & b. AB = 12 G518

ppib BC = 6 GF.18 elaied, sMLFHIHH6N LbshssT PQ, RB-as SHIemisb. @
AABC-uiett o 6@em £B-23 @m Gomewiorsd A
Casmewi TS0 PQRB  SieniophaI6ieren. (1)-e9 b3, HC“’P 0
PQ||BR = 4RBP = £CRQ (5% Gsmemimidbei) 6-x _ X
£BAC = £RQC (958 BGotammiss) 6. % e
12(6 — x) = 6x ¢ : >
E — % 1) CIN
SC T g ( 79 —12x = 6x
- AABC~ARQC (AA el gl penpiiLig) 72 = 6x + 12x
FTUISHITHIHG LibH 66y X 616015 72 = 18x
(ie)PQ =BP =BR=RQ =x Lo
AB =12 G518 wimib BC = 6 G518 1
= x =405.15
RC = BC — BR
. PQ,RB = 4 Q5.18, 405.5
=6—Xx

6. &fleuso ABCD-ulsv AB||DC,E wpgip F emeiiuen (penpCu Senswnunm ubshisst AD wppid BC-6i

R . . . . . AE _ BF
B85 senobgisiten Lsefiast, Guwend EF||AB 6o SenobHTen =5 = pc o Boieys.  (5M)

Car®saslulLg: Ffleusd ABCD-ulev AB||DC,E wpmid F eeiuen (pspmpCui @enemruiiBm Lidamigei
AD wipip BC-6t 1551 Siembdisien Leefsst, Guoed EF||AB

BD-2 @emewiss g EF-g23 0-6fls0 FhaHbama!.

AABD-s0, EO||AB /\
B0 o E o N\
o5 = g D (Bzever0 BpBBHS6HLILG) / " \

ABDC-sb, OF||DC 4 " ’
BO _ BF . S &) 6
e C— (2) (Bmsverd BabBSHS L)
AE BF
M &Q@)= =%

7. uL&Fev DE||BC wppio CD||EF eeflso AD? = AB X AF eien [Hpieys.

AABC-s> DE||BC wipio EF||AB
AD _ AE

5 T g (D (Bmpeverd BapBmEHA 6N BlenenHCHBBHAH6LILG )

AADC-sv EF||DC
AF _ AE
AD ~ AC
M &)
AD _ AF
AB ~ AD
AD X AD = AB X AF
AD? = AB x AF

................ (2) (Bxoverd BxrpmoHRen Hemend8HBBHI6IG)

wtsteam100@gmail.com WWW.Waytosuccess.org


mailto:wtsteam100@gmail.com
http://www.waytosuccess.org/

<£§ Qaumfss awp - 1090 iy smrss

8.

10.

eieugeusnuppisi AABCulsb AD syengl LA uieh @GEFLOaIY G sonsF CFrgbsayb. (5M)
() AB =505.15,AC =10 05.15,BD = 1.5 5.5 wppw CD = 3.5 6.5 /r
B D C

earhssiul L. AABC-6v,
AB 5 1
E = E = ; ..................... (1) P

BD _ 15 _ 15 _ 3

Gwors uuiBd Gauiweyd.

[ &3 Gurary mTwHBBAY ]

DC 35 35 7 e 2) B 8. Ueeumevemeupmien AABC-uflso AD  <syevg
AB | BD D c 2A Wsht @mEWOaIly Sy@T e CaTabsa)L.
D&@)=>-# (i) AB =4 0s.8AC = 6 Gs.8, BD = 1.6 G515

+ AD syeng LA ulsit @mFWGaIl Beraney. wippo CD = 2.46g.15 (JUN-23) (5M)

uLsded 2QPR=90°,PS ez  2P-ulet @mawGeunly  Gweub, ST L PR, eeflev,
ST X (PQ + PR) = PQ X PR eien H\mieys.
UL e ZQPR = 90, &

PS syeng @mawbeuy wipid ST L PR

PQ _ QS . .
T Camewt @HFLOIL Y CahBmLilg, P
PQ 4 _0S o
E+1_5R+1 BmHUBIPLD 1-18 gl L 1
PQ+PR _ QS+SR _, PQ+PR _ QR 1
o = sr TR g (D a
APQR wimib ASTR-60, 2QPR =90° 2£STR =90° 5 R
£PRS = £TRS = 4R sjeng Gungy,
. PQ QR _ PR
AA g penmriLig, oF TR T g e (2)
PQ+PR _ PQ
M&@)=>—F—=5

ST (PQ + PR) = PQ X PR. Hleplisbaslin gl

prBaEyb ABCD-uleédo AB = AD, £BAC uwigip £CAD-uleén Gxmemt SmFweelllgssit BC  oBmid
CD gu ussnsmen (WeopBu E wippid F eeip Usiefseiey Fhdlbalemen eefsv, EF||BD
61601 [BImI6Y . @
briagiD ABCD-ullso AB = AD, £BAC wmpib £CAD-uilent Bsmewt QmaFwGeulgssit BC wmmip CD
B LbsmIGEmeT (BB E wmmib F eleiip st ®eried &Fhgs)dbaleiment.

sSiemli: AC & BD spduiebens Qenemishad.

AABC-60 AE syengl £BAC-6i1 Gwrem @mewOeu 19 Sy@Ld. D - ¢
= Gamewt BmEWOI Y CHBmEHH6 Lig, £
AB _ BE 1
T o (D I .
AADC-6v AF yemg £DAC-61 Gammemr SmFGall 19 @D
: Lo AD _ DF
= Gamewr @maFleul 19 BHBBHH6H Lig, T
oyenmeo, AD = AB =22 =25 ... )

AC FC

_DF
FC

1) &2)=>=

ABDC-6o = 2£ = 2F
EC FC

= EF||BD (Ggevad BaimHale SHlamenshCoHbmebsan Lig)
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1. @@ weigen 18 15 SpHCs CFeim Lieieny 2415 eu_&6H Gzl Gurein mewdgadk
CFsvdmpmeir. QT b5 Bensouledmbsm ] SMHBEID gwions Luiid) Qe weyb.

OFTemevemeld SHTERIS. S a.81.420: @ ofendE SbuUSHSH 2 WFD 6 15, SiH6
Oasm@ésiur Lg BC = 1816, BA = 24 6 opulelhs 815 Gprmealss o sfien @o UFS,
’ @ sbusmsd CprEd  @n  GUUILL  QFTemsvey
tigrasyed CaBmLiLIg, N BHIBEME. SbUSHE 2 FHbGID HHBOUTWRS LFH
AC? = AB2 + BC? = 242 + 182 AmpEGID R SHIABGD LU L OFHTemevey, L&FH
BDLUSMS BCBTHd BEIHH OCHTmevaB&HF  FLob
=576 + 24 8 30 6 oTenlleD, BLSH  Sguielmhal  LFS  HSBOLTWES

=900 = 302 6161RI6Ne)| OFHTemsvellsy 2 6iTeng)? @

AC - 30 LB B 18 15 <

2. gmmededr el 1960 mba1 Cagioerdsi 6l 19i@&HF GFevsv Qyeii® eufimsit 2 _sitsren.
@m af ‘C’ e OBm PUTEF GCFsLFHTEID. LBOPTM euf B LoBpId
A gdu OxmessT anfunssF Gssveusn@id. 6oy utenkd € auf

CFsvabCUTEHI CFHTemevE)] 6l6leusTe) GMMBUWID? (ULSHMSL LUILIBHSHIS.)
s)=+1.52+22 g
= V225 + 4 =625 = 2.5 spwevssan —
C Ga®m afwurs QFamBred 2.5 enoeussT OlFsvsv GeauemiBLD.
A Gs®m wppe B Osm enfuns Geamrsd (2 + 1.5) = 3.5 enwsd Gasven GeusmiBLp.

=~ Gmrg utens C oufF GFsvsdBLITEHI GHTemeve| 1 MDD EHEHBUILD.
[ 83 Cursry mwHEBBAY }

@ oy

1.5 smisbaer

Guwiors LuiBd GFuiwe.

or.8m4.22: goufledr oiuleldphal 4 g CHTemevelsd 2 6iten genflureng seuflsn o Ffenw 7 Slg 2 wiphHHe0 @
OaTROWweNsd Chpemeuwiten eemfluiel BHonbemsHd S, ellenlenll @ &HFL QL SIHHSHHOME HhsH. (MDL)

a.&1.4.23: @ elorend elore Pevsowibms ol B Geewhs el &@ Gbradl 1000 &.if/lweml Goussded LBHSBE.
2185 Crysdlsd wBOBT® elwrand 8% efloren BHameowsHms el G CwGsowWbhs GuBE GBreds 1200 &.15/weml GousbHaed
UBSA B! 1% wenl CrIHHBGL LIBE& B® NTahSEHHE DML OHTense) slsieueTe] EmHobEGLD? (MAY—ZZ)@

3. A et yeiterulled @mbdH B e1eiB LsieldgEF QFbauspBE @M GHend aufluns, BLBH 6&F6060
GoueniiBD. @emd euPflGw GFeveuensd Helfess 34 8 OHBCsWD, 41 1S HpdsE CrTESWD HLHS
Couai(Bo. Gond auPluTeEF CFLUSBGL UTMS DEMLSHSH DLLTMHS PG CF6IIBTeL  6T6l6U6TTo)Y
BLLy Osmensve] BFddslLIBLD?

uren®: | (gemd enfuims) | uteng 1 (QFBSeO®mBEH Slipbens) A

AB =+/342 + 412 AB = AS + SB ,
=+/1156 + 1681 =34+4+41=7518 34 15
=/2837 CrulsaILBID GHTemeve = 75 — 53.26 5
= 53.2618 =21.7418 S a6

[ 831 Curatp IwrksEmat }

Gwiors Lulbd) Gauiwieyb.

Svgluuipd: 5. Qpetip OHTLFeueingsen @6y CHISHHL @ QHTLFouswng HensowlbaHelmbeH LBLILBESIBT. (L&D a6
CuBe CrrTedub, @etiLmeusl ey eILdH@ GBTESWD OFsdsmBear. (PpHed GHTLJeuswig 20 &.u5/wenll GoubHaeVID,
@yemimeug euenng 30 &.8/wemll CoussbHaId CFevdleiiper. Ryeni® wenll CHIHABGL L6 DMeaIBEHHEG RewL Buiulsien
OHTEm6VE)| 6T6)6)6TT6)?
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4. WXYZ eioip QFeieusshger, XY +YZ =17 Q5.6 wppid XZ + YW = 2605.15 aeisd QF6ilalsdd e
H6ND LOBEID DISVSHMBH HEHS BS. _ .
CaTheHII L OFeueusld WXYZ-00mbal, (5M) T ;
XY +YZ =1705.8 wppio XZ + YW = 26 Q5.6
l+b=17 = b=17-1

d=XZ+YW =126
d+d=26 =2d=26 =d=13
124+ (17 — 1)? = 132 60
12 +289—341+1?> =169
212 —3414+289-169=0 @
21 —3414+120=0
2 o6 GEs, = 12— 171+ 60=0
(l-12)(l-5)=0
[=12 ove0m [ =5
l=1205.18 >b=17—-12
b=5 Q.8

5. @m OCFnlsTem (PHCHTEMISHHEN Sjewid APl LsHHHe 2 10OLHIENS L 6 15 &, Gogd
APSIMTEUSD LISHLOTRIH SIemihemnd ol 2 IS @GemmeY 6laned, (PpHBamemibden LSBHIBMmeNS HTemH

AABC-sv ;2B =90’
AB =x = AC = 2x + 6 wppb BC = 2x + 4 @
(2x+6)? =x%+ (2x + 4)* A
4x? + 36 + 24x = x? + 4x* + 16x + 16
x2+16x—24x+16—-36=0
x2—8x—-20=0
(x—10)(x+2)=0
x = 10 (oi6v6051) x = —2
SLETE0 X # —2
x = 10 erevfl6v,
> AC=2x+6=20+6=26 B (2x+4) C
=>BC=2x+4=20+4=24
s usshssT AB =10 15, BC = 24 18, AC = 2615
6. 5 18 [penipsiten @F geiTaidl @M OCFRGHH Fal] LBH FMSSH aussLILGEDBEH. gemiuien GLosv
(pemer goueny 4 15 2 wipHHed OHTHEBHI. gemiulei Sppens gGaueny Cprds 1.6 15 BhajHSULGLOCLITSI,

2x+6

gemiulehr Cosvpener Feufied seleusta) G Tensvey] CELBHTHE HHMID 616nd: HeIBLIY. @
AABC v BD =BC —DC
AB = 416, AC = 518 =3-1.6 18 A
BC = y/AC? — AB? =14 .
=52 _42 A'B =/A'D% — BD? '
=V25-16 =y5: - 1.4 4
=9 =Vv25-196 B 1415 D16 15C
BC =3 18 =+v23.04 =4.818
Car@ssiuLg DC = 1.6 15 AA'=A'B—-—AB=48-4=0.818
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7. APQR-uisv ogliussd QR-6@ QFhigsHsTe 2 eiien PS oamg QR-g3  S-uiled shalésamgl. Gosid,

QS = 3SR eaflsd, 2PQ? = 2PR? + QR? aen Pmioys.

O&mpasaiul gl : APQR -uied
lIGEHID QR-6@ CFhHIGHHTH
2 eiten PS ooz QR-s9 S-uied
FhHSSBSI.
Gwsub, S = 3SR
APQS v = PQ? = PS? + QS?
APSR = PR? = PS? + SR?
= PS? = PR? — SR?
QR =QS + SR
=3SR+ SR

@ [

QR = 4SR

R — SR
4

PQ? = PR? — SR? + (3SR)?
PQ? = PR? — SR? + 9SR?
PQ? = PR? + 8SR? :

-s2-2]

PQ? = PR? + 2%
16
2PQ? = 2PR? + QR?

Q s

[ 831 Cursty BMTEBHT ]

Fwiors Luibd GQFuneyd.

e.&m4.21: AABC-ulsv C oyengl GFmlsmenid ou@h. usbsmiset CA wBpid CB-uflsh bELILsTemNaSe6iT

8. UL &0, GamiBasment (Ww&Bsmemid ABC-ulsd, Gsmemid B oyeng OemiBsmemid wipd D, E e 4 @
LsiTefael LiGsaid BC-0g cpsiml FoLigSHsema 19fléasmng safsd, 8BAE? = 3AC% + 5AD? een Bmioys.
B D E ¢

wpemmBw P wopmd Q eefied 4(AQ2 + BP?) = 5AB? esten Mlmieys. (MDL)

1. elLsHen emwwHHOmHH 25 6F5 OCpTenevelsd 2 eiten Peteis LsiteMulledmbad Ul LSHHBS
aueIWIULL. OpTGCHTLIge Bemb 24 QF .15 66y, UL HH6 LD 61631607

OT = OPZ = PT? T (M)
=252 — 242 = /(25 + 24)(25 — 24) 21 Goif
=/49(1) = V49 =7 Gsis n

[ G5l Guratp mawkEmar ] (0] 25 Q&b P
&uwiors Lulbe QEuiey.

a.81.425: 5 QF.f ugpsion aul LsHsd PQ uenig 8 OF.if BHenpeiienm mrewt i@, PwoBpid Q-efledr suhGw @
Q6D CHTHCBTHE6T T 616l Lisialulsd Fhdlbamal sieisv, TP ety QHTHEHTLIgs Hond Hreviis. (MDL)
a.a1424: 3 QF.6 gapsien eul L GHHer emowiHHeGHE 5 OF .18 CHTensvelsd 2 siten  LsieMulledmbas ol L HHBES

aueIWILL L QHTHESTL 1960 [H6ND HTemiss.

2. QemBsrem (p&Gsremid LMN-ulsd 2L = 90° su@b. @m e Liomeng OFkGsremt (p&Gmmemss e
2 6i1Bem SIH6HT LSBEBMENS OHTOOTH UFWILGEBEH. CFRICHTIIHMBH SHTRIGL LdbDHnhIH6N 6
BeMmaIG6T 6 OF.15 oBpId 8 GF.15 erefled, QI LGHHeT UJID SHTewis.

MN =+LM?2 +LN?2 =+/82+ 62
QI LSHeir oy 17

48 = 24r

r:ﬁ:‘»r:ZQ&.Lﬁ
24

=v64+36 =100 =10Gs.18
I’ oo@sen etefled ALMN et Ll
ALMN e ugtiy= ALON e uging +ALOM e uging +AOMN e ugiiy
(GLMxLN) = (3x LN x7)+ (37 x LM) + (3 x MN x 1)
2 2 2 2
2 o0 Oupds, = LM X LN = LN Xr +r X LM + MNr Q
8x6=6r+(8xr)+10r

. )
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ULGHFHe0 Srliguleiieniig, 8 GF.5, 10 QF15 & 12 OFI6 USBHEIGET 2 6wl
WPECHTMHHMI6N G UL LD Sienopgieisngl eiesv, AD, BE & CF g% &newis.
AF = AD =x; BD =BE =y; CE = CF = 7 e16i1.

x+y=1208.5 .......... (D

Z+y=80&15.....c.c..... 2

x+z=1005.15 .......... 3) [ Sz Burstp sewkBmak ]
swiors uWiBd GFuiweyw.

MDM+2)+B)=2(x+y+2z)=30
a.BM1.4.27: SimSsveTen L HHeVmba, AABC
xtytz= 15 UH @M ULLIMBH QBT (HHOBTENIH

x+y=12=12+2z=15 ALLSMBF  HBY  Swblsiengs  sTeilsD,
z=15-12> z=3Gz8 O 0% Browed mwim o Gg,
x+z=10=>y+10=15
y=15-10=>y = 5 Gg.i6
z+y=8=>x+8=15
x=15—-8=7 Qg6
~ AD =7 0518, BE = 505.8, CF = 305.15

O-enal ewlowloTsd 2 _enll el LHHbBE P-uledmbs asmyuin’ L QsrGest@ PQ. QOR <zl
ol Llb @b, alLsdHs ZPOR = 120° aefled, LOPQ-536 Snenis.
£P0OQ = 180" — LPOR (2m)
= 180" — 120" = 60’
£0PQ = 180" — (£OQP + £P0OQ)
= 180" — (90" + 60°)
= 180" — 150" = 30’
CaT®CxsT®H ST eu L FHenewr B o6y Leitefuied OsnBema. LABT = 65°. AB e&iugl @@ [HT6w
oieiled, LAOB-g3 asnemis. @FHev ‘O’ el6iugl aUl LSBT enowldD @LD. o)
LOBT =90° (OB eyjip & BT- Qz1HCHT6)
20BA = £OBT — £ABT

=90° — 65° AW
=25°
LOAB = 25" LOBA = 25° ,
. 2AOB = 180° — (25° + 25°) ’ B !
= 180" — 50°
2AOB = 130°

G831 Gursatn mriEzmar

swiors LuWiBd GFunwey.

61.8M4.26: LL_sHev, 0 Suengl eu L HHenr enowld. PQ fueiidhl @@ BI6W UGELD.
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11. 7x — 3y = —12 wppid 2y = x + 3 dwu Crjsbsr@sst Fhad@id Lsiefenwun,3x +y+2 =10
oppd X —2y—4 =0 g CrisCarBseT FHAb@GID Lsmafisnwud SQenemisb@ld GhiHGHT Ig6st

FLOGILTL6DL&  SHIT6wISH. PTA-3
3x+y+2=0.. (1) x = _1_56,66[ (4) &b UiggHuiL,
x—2y—4= 0 ................. 15, _3 @
2x (1) = 6x + B
)= x-— ;’y —2y=-3+2 —2y=""r"
= 0 = =0 18 9
X = —Zy = _H = y= H
x = 0 eteor (1) 60 LNyaui 15 o
300)+y+2=0 (3), () slweme FhHlbGID LsiTer (TH)
o y=-2 S (0,-2), (— i) AU LsiTeiaeit eupuime
(1)‘ BB (2) ASDa FHHEESD OF6LsVID GHMI_IgedT FLOGLITL 6L &HiT6vor EaeudT(HLD.
yeiter (0, —2) Y-y1i _ x—xy
7x — 3y = —12.ciernee. 3) Ya=y1  x2=x1
2y=x+3 o=t
Z+2 -2 _9
X—2Y =3 e 4) Y2 B s
2><(3)=>14x—;y=—24 51 ___g
—3x(4)=> 3x—gy=-9 —15(y +2) = 31(x — 0)
SORNGCD) (+) ~15y — 30 = 31x
15
11x =—15:x——§ 31x+15y+30=0
Bmhemeuuimest G _1gett FLoeorm (B
31x+ 15y + 30 =0 @b

[ 831 Cursiy kB ]

swiors LuiBd GFuIwLeD.

12. 8x+3y=18,4x+5y =9 odu GCrisCarhss FhHoed Usiefulea enfursenw, (5,—4) wiognw (—7,6) e
Lsiteliaenen Qenemb@lo Cris6HsTL B @Hiewngsn BBLIL6TeN aflumes OFsvanld ChIsGHTLIgaT FLOTUTL DL & HT6uNH.

SievG LU BS):

9. 4x+7y—3=0 wipw 2x—3y+1 =0 8w CrisCarBast FhaE@D Lsel auflumaad, Sl dFasemst ol B
HIEBEH6T FLOTEIHIOTE CHIHCHTL 1960 FLOTUITL DL SHT6wIb.

Lﬁm@ix uIpsFE - 5 l

SGLUWIBSSETT GBI

afleorm ereuir: 1 - LufBd 52 60 - 10 b eflenm CumeBS). afleorm eter: 4 - LUABE 5.1 60 - 6 b efleum GUTETBEI.
afleorm eteuir: 5 - LB 52 60 - 10 b ellenm GuTEBS). afleorm eteuor: 7 - LuBE) 5.3 60 - 8 b eflenm GUTEIIBEI.
eflewm et 9 - LB 54 60 - 11 b efem GUTEIBSI. afleorm eteuor: 10 - LulBdl 5.4 60 -10 b efleomm BT

2. 9 WabstausHen Ly 5 F.owwGgsst (2,1) wipn (3,—2) eeuer (WsCaTemGbHear Brenih
(emenill  LsitefEsiT  U@D. epeiipmd (emenill Lsitell  (x,y) eteiugdled Yy =x+ 3 el QHHSHT60

SilLeiefenwis HTewIs. PTA-1

M (PHBBTMBHH LTI 5 & . De0SSS6I y=x+3g (1) tighui_
ueiteflaseir: (2,1),(3,—2) wipio C(x,y) 3x+x+3=17
Qg y =x+3 4x+3=17> 4x=17-3

" seein Ly _1[2 3>§x 2] _« dx=14 = x=2=7
W&BHTEISSIE Lyl = - 13{_2 y>:1 = , . 4 2

X =-eeny =x + 3-60 LgsuiL
(—4+3y+x)—(3—-2x+2y)=10 2 ; 13
x+3y—4—-34+2x—2y=10 y=5;+t3=7
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3. 3x+y—2=0,5x+2y—3=0 wpgp 2x—y—3=0 gl CxTBHMEL IMOBBLILIBLD

(WPEHCHTEMSHHI6 LITLIL| BTN,
(OF 3 (OF:: 0 N LN G
3x+y—2=0..... (D
(1) & (2)-mp Fris
(D) x2=6x+2y=4
(2) > 5x+ ;/z 3
X =1
x =1eten (1)-60 gHui, 3(D)+y—2=0
y=-1=4(,-1)
(D) & (3)ms sess 3x -ly& 2
y

5 +2y—-3=0

2x =3
S5x =5
~x=1
x = 1een (1)60 yHuiL, 3(H)+y—2=0
y=-1= ~B(1,-1)

6. @® O BGHHNBHeN FBHL BB SeuBBler CUmBSBUVET (WedBGW 1, -6

CriysCanTBHoaion FLOILITL L& SIewib.
X Goul_BHEHIMB = a, y Qeu’ BHHemh = b
G BHHHImIBHeN6T FnbHso= 1

>a+b=1
~b=1—-a
Oaul_BHGHlIeuIBBeMeT GLIHBBMLIGVST = —6
ab=—-6
a(l—a) =-6
a—a*=-6
a’l—a—-6=0
(a—3)(a+2)=0
~a=3,—-2

........ 2)

€D

2x =y —3=0 ..o, 3
((?) & (3)-mp Fés
2) = 5x+29=3
(3) x 2= 4x —}Z/yﬁ =6
9% =9
x=1
x = 1 etem (3)-60 LggHui
2—y—-3=0
—y =1
cy=-1
c (1,-1)
A(1,-1),B(1,-1),c(1,-1)
61606V L|6TT6TNBEHID @G  Li6iTeribsiT.
wE&CaTemhHe Uyl = 0 .91

6lan6v,

= —2,b = 3 aiavilev
X 4Y-1
-2 3
—3x+2y_1
6
—-3x+2y=6

3x—-2y+6=0

8. x+3y=7 eaeip CryECam_yemens FogHen ouinsd Qstem® (3,8) eeim Letefulen LAbu

LeiTeMenlics &memiss.

x+3y=7 o6
Cpr  Camiigemend
FIOSHOT  SYQUITHS
(A EIC) (3,8)
6160113 LeiTeriludedr
LNibuir LsiTer
Q(h k) eetiss.

~x 4+ 3y = 7-61 ombwWdSGHHHECHTH PQ oBmid

BoUsTe R eteiis. (x,y) = (h;ﬁ,kzi)
o= P83 k+8
CXETTYES

x+3y =760 2 6ten e yeefl R(x,Yy)

() 529 =7

h+3+3k+24=14=>h+3k=—13...(2)

PQ-en gmiie) X (x + 3y = 7)-ei1 gniie= —1
k-8 _ -1

k=8 1 4
h-3"" 3

k=8 _ 4

h-3
k—8=3h-9
3h—k=1..(3)

(2) & (3)ms Ses

2) = h+,3'{——
2 -
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h = —1 aien (2)-60 LggHui
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6. (Pp&EBmreRraiucd

1. Jdeeumd (pBOBTmenLEmen [HapLlbaa|Lb.
(i) cot 0 + tan O = sec O cosec O

6
cotf + tan@ = C(_)S
sin @

cos? @+sin? @

sin @

cos 6

sin 8.cos 6

= —— [+ sin?0 + cos? 6 = 1]

cos 0.sin 6
1 1
cos @ sin 6

= secH.cosec 8

~cotBO +tan 0@ = sec 0 cosec 0

a.8m6.12: tan’ A —tan’B =

2. Udeeumld (pBOmITHenEemen BlimLldbseLD.
(i) 1-tan? 0
cotZ29-1

1-tan’@ _ 1-tan?9

cot2-1 L __
tan2 6

1-tan? 60
1-tanZ @
tanZ 6

= 1—/'631'(2/9 X —tanz o
- 1-tan2¢~

= tan?60

et 9 — 1]
[' cot™ ¢ tan2 @

= tan26

831 Gursrp m:ewdhszmar }

SjeoGLLuIBE: [ gwors uuipd CFiuIa)D.

tan?6-1

. ooy tan?o-1 2
1. BepLbEan (112) =T 1—2cos*6 @
cot® 0 . 5 o
oL.em6.3: 1+ Er—— coseczﬂ 6ISTLINS  HlepLilcbBHaLD.
1+tan? A 1-tanA . .
6.8M.6.15: [1+cot2A] = [m] aand ST B, @

3. Netioupd (PBOBTmHenEmen Bepisseyw. (i)

1+sin@
1+sin @

1+sin@ _ [1+sin6 %

1-sin®  /1-sin®
_ [(1+sin )2
- 1-sinZ6
_ [(1+sin )2
- cos26

1+sin@
cos6@
1 sin @
= + =secH +tan 6

cosf@ cosf@

(i) tan* @ + tan? @ = sec* @ — sec? 0
tan* 0 + tan? 8 = (tan®0)? + tan? @

Gw)

tan* 0 + tan?6 =

iy COSO
(i) ——=secH —tan O
1+sin 6

Gam)

=tan? 6 (tan?0 + 1)
= (sec?d — 1) sec? 8
=sec*f —sec? 0
sec* @ —sec? 0
@31 Curatp WMk sal ‘

gGwiors LulBd Gauiuwieyib.

(am)

e.&M.6.1: tan? @ —sin? @ = tan? O sin? O eeLems HipLissan.(JUN-23)

sin? A—sin? B

cos2Acos2B

6I6HILIN S  BlHLIBHLD.

(sm)

UGS BB
Csredemw 1+sin 0

61.501.6.2:

61.5IT.6.4:

1+sin@
1-sin 6@

LedTeU(BLD  (LpBOBTHEMLDHMET  HlepLldbHa|LD.

cos® _ cosf 1-sin @ 616013 E}6MEuILITED
1+sin®  1+sin@ ~ 1-sin@ QUHEBALD.
cos B (1—siné@
= — (.2 )['.'(a+b)(a—b)=a2—b2]
1-sin4 @
cosf(1-sin6 .
cos?9
__1-sin6
~ cos@
1 sin @
= - =secO—tan 0
cos 6 cos 6

awiore uuiBd Gauiab.

[ 831 Gursrp m:srdzmar ]

sinA _ 1-cosA

1+cosd

6T60TLIN S  [HleHLIBSHELD.

sinA
secld —cos 6 =tan O sinf eehiLnS
BlepLbHeLD.

=secO +tan 0@

() [sEr-20)

931 Guralyp :wrkBaaly
Gwors uWiBd Gauiweyid.

(sm)

aq 1+sin6 1-sinf _
(11) \‘ 1-sin@ v | 1+siné = 2sect 'UUN-ZS)

61.5IT.6.5:

1+4cosé
1-cosé

= cosec 0 + cot @ eehiLieng BlpLIBSHLD. @
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5. Udeaupd phopr@mwsmen BhLissen. (sm)

(i) sec* 6 (1 —sin*0) — 2tan?6 = 1 oAy
sec*0 (1 —sin*6) — 2tan* 6 4. eiiouGD (PHBOBTGHMOSMmST BhLIbSaD. @

— 40 _ cind 4 _ 2 (i) sec®d = tan®@ + 3tan? H.sec?H + 1
sec” & —sin” §.sec” ¢ — Ztan” & (ii) (sinB + sech)? + (cosB + cosech)? = 1 + (sech + cosecH)?

_ 4g_ sin*6 2 tanZ 6 61.51.6.7:
Sec 0s*6 an sin? A cos? B + cos? Asin? B + cos? Acos? B +sin? Asin?B = 1
4 6160TLIN S  [BleHLIBSHMLD. @
( sec* 0 = oot 9) a.&1.6.9: (cosec 8 —sin®) (secd — cos ) (tanh + cotf) = 1

6163TLINS  BleHLIBSHMID.
=sec*d —tan*H — 2tan? 0 @

= [(sec?0)? — (tan? §)?] — 2tan? 0

= (sec?0 +tan? ) (sec? 0 —tan?0) — 2tan?60 (~ a? —b? = (a+b)(a— b))
= (sec’?0 +tan?6) x 1 —2tan? 6 (~ sec’0 —tan?6 =1)

=sec?d + tan? g — 2tan? 0

=sec?d —tan? 4@ [ @z Burskp zmrkEmar

swors LuiBd GaFueb.

I

=1
secf sin 0
(i) cotf—cosf _ cosec6-1 aELOO0: T T cotd
cotO+cosf®  cosec §+1 aT6TLIend HpLidEa|D. (APR-23)
cos 6 1-— 1
cotf—cos O _ o —cos@ — cosec 6
— cos 6 - _1r
cotO+cos O “nd + cos 6 1+ coseco
cos G—Ssiirllrl:.cose cosec -1
= CosO+sinf.cos@ — £eseTtld
——=mo cosec 0+1
__ cos#(1-sinB) -
" cesB(1+sin )
__1-sinf = cosec6-1
1+sin6 cosec 6+1
6. L6iteupld (PBOBTHMLLBm6T HlapLidbseaLd. @
. . @31 Curaly zwhGmar
(i) sinA-sin B cos A—cos B — [ gwiots Lulpsd Qe

cos A+cos B sinA+sin B

sinA—sinB | cosA—cos B _ sin® A—sin? B+cos? A—cos? B HeirauGausiaubean HoLSsD.

= sinA sind
cos A+cos B sinA+sin B (cos A+cos B)(sin A+sinB) 61.851.6.10: 1+COS'AA 1-cosA ZC(;SGCA @
sin cos
in2 2 in2 2 . —
(... sinz 0+ COSZ 0 = 1) — (Sm A+cos® A)—(sin” B+cos B) Sl secA+tanA—1 + cosec A+cotA—1 1 @
(cos A+cos B)(sin A+sin B)
_ 1-1
- (cos A+cos B)(sin A+sin B)
@31 Curaip zFwHZBAY
= FUIOTS LUl FUILIGYLD.
0 Lot S (sm)
03 3 i3 3 A A) (sinA—cosA . . . .
(i) sin“A+cos”A | sinfA-cos’d _ 5 aan6.16: St +ZT_)(Sm3A <0sd _ sin? A cos? A ersiiuens Hmilssalb.
sin A+cos A sin A—cos A cos3ASSCsin3 Awsec cosS Atsind A .
61.5.6.13: ( - ) = ( - ) = 2sinAcos A eeiLeng
sin34+cos34 | sin34A-cos34 EOSA=gna) @SR
Nssen. (PTA-6
sin A+cos A sinA—cos A B oub. ( )
__ (sin4+eosA)(sin? A+cos? A—sin A.cos A) +_(;j_n_A—-—eUs’A')(sinZA+coszA+sinA.cosA)
=1—sin4.eosA+ 1 +sinAToSA
a3+ b3 = (a+b)(a?+ b?—ab)
=1+1 a® — b3 = (a—b)(a? + b? + ab)
=2
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7. (i) sin @ + cos 6 = /3 awaflev, (sm) | (D) V3 5in 0 — cos 6 = 0 aeflsd, STA3
_ 3
tan 0 + cot 0 = 1 aeiiuengd HeapLibsald. tan 30 = % olen  [HBI6Y.

CaTRasiiur Lg: sinf + cos@ = /3 QaT@asILTLgIV3 sin @ — cosf = 0

BrUBWIDaITGSILGSS,(sin 6 + cos 0)% = 3 \V3sin6 = cos

sin?@ + cos?6 + 2sin f.cos 0 = 3 sin _ 1

1+ 2sinf.cos 6 = 3 cosf V3

2sinf.cos =3—-1 =2 tant = =

sinf.cos8 =1 e (g) ~ 0 =30°

__sin cos o 1
tan 6 + F(zt 0 _Zcose " ( tan30 = \/—5)
=0l =2 (D) eobsi] LHS: tan 36 = tan3(30°) = tan90° = oo...... (1)
Stlgn'z)s_*_ C0t91 ~1 RHS: 3tan #—tan3 @ _ 3xtan 30°—tan3;30°
1—3tan329 1—?%tan2 30 L
e ——— 3x—= — (= 2 (= V3-(—>=
e _zatly) Bt P g
o1.51.6.8: 1-3x(i)2 1- 3% 0
cos O + sin@ =2 cosO eafsd, cos@ —sind = /2sinb V3 3 0 3g
stem Ppiise. (1) = (2) - tan3g =22n2ans
1-3tan2 0
-~ COSa . . os a N . . o o
8. (D) osp — M LOBOID T = T, elewes Qaremip (m? + n?)cos? B =n? aeemg BHmLissa. (sm)

2 2
(i) cot® + tan® = x wippd secd — cos O = y aafied, (x2y)3 — (xy2)3 =1 ewiens BHrissayb.

(i) Qan@ssi Lg: m = %, n= (;(::l;
2 2
2 2 2 p _ |fcosa cosa 2
(m? +n?)cos? B = [(—Cosﬁ) + (Sinﬁ) ]cos B

2 2 2 o cin2 2 2

cos?a  cos’a cos? a sin“ f+cos* a cos

= (S5 4 20 (cos? ) = e preo e
cos?p  sin2p cos? f.sin2 g

_ cos? a(sin2 B+cos? ﬁ) _ cos?a(l)

X cos? 3

[ sin? B + cos? B = 1]

sin? B sin? B
2 2
cos“ a cosa . . . cosa
=——= ( - ) =n? [Qarhssiul Lg): — = n|
sin® 8 sin B sin 8

(i) GereEssiu’Lg: cotf +tanf = x, secd —cosf =y

2 2 2 2
(x2y)3 = [(cot @ + tan )?(secH — cos g)]i (xy?)s = [(cot @ + tan B)(sec O — cos 9)2]52

_[fcose | sin6\? 3 [ 1 213
= [(Sine + cose) (secd — cos 9)] = _(COtQ + tan 0) (_c059 — cos 9) ]
2
cos? B+sinZ 072 3 [ 2 %
— [—] (sec® — cos 6) cosf . sinf][1-cos?6
sin 6.cos 6 = N +
2 sinf = cos@ cos 6
= _ 1 21 0 : 2 2
~ | \sin6.cos6 cosf cos _ (COS2 6+sin? 9) (Sirl2 9) 3
: 2 - sin@.cos@ cos@
_ 1 1-cos? 9]3 2
" Lsin26.cos20 cosf — 1 % 51114/9]3
2 i 2
_ 1 sin? 9]3 Mﬁﬁcozse cos26
" Lsin26.cos20 ~ cos® — sin39]3
1 F ,  cos3 6
2
= 2\= sin“ 6
3 XY9)3 = —— ciiiirrernennen. (2
2 2 _Cis o ( y ) cos2 6 ( )
X°YP)3 = ——— e, 1
( y) cos? 0 ) ) ( )
4 2 1 sin? 6 1-sin?6  cos?6
1 —_ 2 e xZ 3—(X 2 3 = — = = = 1
( ) ( ) ( y) ( y ) cos20  cos20 cos2 6 cos26
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9. (i) sin@ + cos 0 = p wipIb sech + cosech = q aeied, q(p? — 1) = 2p eGiLwS Bepissayn. (sM)
(i) sin@(1 + sin? @) = cos? O ewehied, c0s®O — 4 cos* O + 8cos? 0 = 4 MG BeHiEEA|ID.

(i) Qar@ssiL LG: p = sinf + cosd, q = secH + cosec 0
LHS: q(p? — 1) = (secH + cosec 8)((sinO + cos 6)% — 1)
= (sec + cosec 8)((sin? 0 + cos? @) + 2sinf.cosH — 1)
= (sec + cosec @J(1 + 2sinf.cos @~ 1)

cos @ sin @

= ( L )(Zsine.cose)
__sinf+cosf
~__sin@cos6
= 2(sin6 + cos0) = 2p (since p = sinH + cosH)

X-2-sinf-cos 6

~ q(p* —1) = 2p. Hence proved
(i) Gar@ssi Lg: sinf(1 + sin?f) = cos? 0

sinf(1+1—cos?8) = cos? 6
BHUBUWLD MTSSILGSHS, sin? (2 — cos?0)? = cos* 0

(1 —cos?0)(4+ cos*0 —4cos?0) =cos*d (= (a—b)? =a’+b%—2ab)
4+ cos* @ —4cos?0 —4cos?0 — cos® O + 4 cos*O = cos* 0
4 —4c0s?0 —4cos?0 —cos® O + 4 cos*0 = cos* O — cos* O
4 —8cos?f —cos®0 +4cos*d =0
4 = cos®0 — 4cos* O + 8cos? 0
cos®0 — 4 cos*0 + 8cos?’0 =4

swors uwlBd GauueL.

BlepLlsalul L Gl [ ey —rr——y ]

sinZ @

cos? 6 R
61.5IM.6.17: ~ng P obmid
SleoGLILuiBa):

3. xsin®@ + ycos®6 = sinf cos @ wmymid xsinf =ycosh aafsv x2 +y% =1 elen BHepLlbsayb.
4. acos@ — bsin 0 = c eelev (asinf + bcosB) = +vVa? + b? —c? e HBHLIGHAD.

=q aafled, p?q*(P2+q*>+3) =1 aan PHemiss.

cos 6@

cos 6 1 a?-1 .
. ——— == elailev, —— = Sin 0 ereiLIen Lésa|LD.
1+sin a > a?+1 5 Do oy @
a?-1 1 _LZ (1+sin 0)2 — cos2 6
LHS: —— = —% — _ Oasingy>
a‘+1 1 +— (1+sin6)2 + cos2 0
(1+singy>-
(Ued wppIL CsTESMW a*-au 61'@&5&3) __ 1+sin?6+25sin — cos? 6
) _(1)2 " 1+sin2@+2sin6 + cos2 8
= j 2 __sin® §+sin® §+2sin 6
1+ (E) - 1+1+2sinf 8z Gutrsl'm.) m*@m
swiors Lwipd GFuiweyb.
_( cos 0 )2 2sin?6+2sin@ ;
_ 1+sin6 = 21250 61.&1.6.11: cosec 8 + cotf = P aaflev,
- cosf \? _ P21 o 5 5
1+ (55omms) Zsing(sing+1y | S0S8 =z TOUDS HOUSSD. (sm)
__cos?@ 2(1tsint)
_ (1+sin )2 2
- cos26 La -1 .
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@mf'ﬁ;sx‘xum_ eismrd;a;@

Heiemd (pBOBTHemIOEMmeT [HapLisHa|Lb.

] cot A—cos A — cosec A-1 PTA-4 secO_tan 1-sin@
cotA+cosA  cosec A+1 L] = PTA-5
cosA A secf+tan 6 cos @
COtA—CcoSA _ gjpa ~€OS
- A C:) secf—tan 6 secf—tan 6 secf—tané (ii)
cotdreosd Z?SA Feosd \/sec9+tan (7] - \/sec f+tan 6 X secf—tané@
cos A—cosAsinA
— sinA
~— ‘cosA+cosAsinA — (secf—tan 6)?
sinA sec2f—tan2 6
cos A(1—sin A)
=—— _ 2
cos A(1+sin A) _ [(secf-tan6)?
1- 1 cosecA-1 1
— cosecA cosecA
- 1 — “cosecA+1 =secH —tanb
cosecA cosecA 1 sin @ 1-sin@
cosecA-1 = —_ =
= — cos 6 cos6 cos 6
cosecA+1
wijsFE 6.2
1. 103 ) o _wiy(psitem Garysden | 22 9®  Fremeoulst  QeUBEL QL GeusiBuw
ouuledmbE 30 1S GHmemsvelsd Hemyulled @eveumined  auflenFuITes  eiB®EsiT  OHTLIFFLITS
o et  @wm Ueieuledmba  Camyrsadei 2 _6ilenall. SleuBmlsl 2 _uWIyd 43 8. ursamfl

o Fflule gBBHCHTMIHMBES HTERIS.
CemiBsmewt (psBasmewid AABC 60
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Sliguileir gBBECHTemID WBHBID SmHsdCsTemid (Wenpuw 60°, 30°seaflsv LsmImalamalBenBd HTemis.
(D) alens@s SbUSH6T 2 WD
(i) eens@s ®bU 2 WISHBGL DBSGWMUlsT 2 WFSHBGn Ren Cuiwjsien elldawTaID.
(iii) elens@s SLUSHBSL DBSGWIGEGSD QMBI 2 it CFHTN6V6). (\/§ = 1.732) @

o

A egmiBsmesr A AEDesv, 8 = 60
X tan 60° = % =3
E = 30° D Bx_c = \/§
x =vV3 X BC
66 66 =3 x 66V3
- =66 X3
B x = 19818
(i) elends@ad sbUSHHeT o wyb = x + 66
CD = &G0y Guimly = 66 L6 =198 + 66 = 264 15
AB = eflendb@d sibLLD (i) elenses sbu 2 WISHBGD BSELMQUTET
AB = x + 66 2 WIHHB@GID HemL Guiuleien elldSWITFID.
=264 — 66 = 19815
BC =DE (iii) elend@d HIDUSHHBGHID HBHELOTIQHELD
QgwBsmemr A BCD-sb, 8 = 30° @emLGw 2 _sitem QTemsvey= BC
tan30" =2 === =~ = 663
=66 % 1.732
BC = 66V3 oo, (1) — 114.318
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6. A Bupgid Ceeis cpsipl Spmosurdlseit e LeTensHrdbdien
POHAUMHBOBTHEU] CHTEneVCHTHSUTL LTTHESHLM®DI 2 6iTemen.
A5, Béab Gl L Sl & OFTemsve 8 &.if
ppId B-5@ib, C-H@&D L L Henliol L s COHTensvs)
12 &b Aedmbsm B-5& 2 _sien @psssCHmemid 20°
oD B-edmbsH Co@p 2 sien gimEBsmemnd 30° eraisv
LieiiedmedeIeNBenBe  &Hemidbd [Hdb.

(i) A-6@b B-5ab @mLBwujsien QFbIgGHSH 2 WILD.
(i) B-s@b CHaw Qe Cuuysien CFkGHSH 2 wigLb. (tan 20° = 0.3640,V3 = 1.732) @

QsmBsrewr A ADB y= 2 V3
6 =20° V33
AD = 1248
tan 20° = — = 0.3640 3
. BD = 43 = 4 x 1.732
3 = 0.3640 y = 6.928
x = 0.3640 x 8 () A-6@b B-o@n @ Cuusien CFmigsHs!
x = 2.9120 2_Wgip.
QenGsrem A BEC x =291 &lif
0 = 30° (i) B-s@b C-Hab el Cuiusien CFmigda
o_EC_1_ vy __ 1 o _WIylb.
a3 =TGSR v y = 6.93 .18

SvGLLUIBASETRT GBILIL]
m@ﬁ Ulﬁjﬁi -6 efleo etewor: 1(ii) — LuiBal 6.160 - 2 () <ub eflenm GuTEIBSEI.

elleom eremwr: 3.4 — LUIBE 6.1 60 - 9 SUb efewm BT
elleom etewr: 5,6 — LUNBA 6.2 60 - 3 b efewm GUTEIIBEI.

1. Beplidsa)b @ ollemm et 8 — LulBd) 6.3 60 - 5 b ellenm GUTEIBEI.
. secA-1 sinA-1 . 2
(l) cot? A [ ] +secA [ ] 0 [1+sm9—cos 9] __1-cos@ .
st 1+secd 2. 1+sin6+cos8]l ~ 1+coso STenLIENs @
A-1 hBAILD.
LHS: cot? A [ie: nA] +sec?A [ilrsem] @@'—'ﬂ&ifiﬂl.we 2

+ —

LHS: [ s.m cos ]

__ cot? A[(sec A—1)(sec A+1)]+sec?A[(sin A—1)(sin A+1)] 1+sinb+cos 6

(1+sin A)(14sec A) __ (1+sin6)?+cos? §-2(1+sin 6)(cos 6)
T (1+sin 6)2+cos20+2(1+sind)(cos )

cot? A(sec?A-1)+sec?A(sin?-1)
= (Ltsin A)(1+sec A) __ 1+2sin 8+sin? 6+cos? 6-2 cos H—2sinf.cos 6
1+2sinB+sin20+cos? O+2cos B+2sin 6.cosd

2 2 2 A(sin2 A— . .
— cot? A.tan?A+sec?A(sin?A-1) __ 1+42sin6+1-2cosf—2sinb.cosd

(1+sin A)(1+sec 4) T 1+2sin6+1+2cos0+2sind.cosd
_ 1+sec? A(sin?A-1) __ 2+2sinf—2cos0—2sinf.cosO
(1+sin A)(1+sec A) 2 4 24 2+2sin 0+2cosO+2sin 6 .cosf
_ 1—sec2A(1—sin2 A) cot tan — 2(1+4sinf—-cosf—sinb.cosb)
- (1+sinA)(1+secA) 1 2(1+sinf+cosO+sinb.cosO)
1—sec? Acos? A T tan2A —tan®A _ 1+sin6—cos6—sinb.coso
= 1+sinf+cosf+sinb.cosO
(1+sin A)(A+secA) _ (1+sinf)—cosf(1+sinf) _ 1+sinbf1—cosb]
= ; - (14sin6)+cosO(1+sin ) - 1+sinTl+cos0]
(1+sinA)(1+secA) - cosG
—0 :RHS = Treoss : RHS e1e0i@6u, memlidbaiil L g
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<£§ QeupBsls P - 1090 iy FHarsd

7. @ upsel A e AL SHeImbH 30 H.15 CFHTensveilsv B 663 BLHHBE 35° ComemibdHled LBHABHI.
B-6b 48" Caramsdedmhs olevd 32 &5 OFmencvellsy o eien C el @LS5IDGHF CFevsms,
(i) A-et eu_sB@&U Uploted B-6ii Ogmenevey etsueusniey? (ii) A-6ir CoB@l Lpores B-6it Qgdenevey elsielstiey?
(iii) Bt euL&@L Lplonad C-6i1 Gnmenevs) slsueuenay? (iv) B-6i1 dlipd@il LpLoTe C-6i1 OFHTensvey 6lelealsre)?
(sin55° = 0.8192,c0s 55 = 0.5736,sin42° = 0.6691, cos 42° = 0.7431) (sm)
(iii) B-svr au_s@Lmones C-61 Qpremsve = GC

(i) A-sireu_s@l1 Lplors B-61 GghTensvey = BF

QenBasrem A BFAsv, 6 = 557 (90 — 35) QenBasten ABGC 6v, el @
sin 55" = = = 0.8192 6= 42: (2?° —48) :
% — 08192 [AB =30] sin42" = gCC= 0.6691 * —
BF =30x0.8192 =24.576 5, = 0.6691
BF = 24.58 &.8 (Csmymuions) GC =0.6691x32 o A

GC = 21.41 &8 (Bamymuons)
(iv) B-sn dwsal ypons C-sf Gxtensvey = EC
QemiBsmemr A BEC 6v,

. o EC
sin48 =—
BC

(ii) A-eor GuB@LUBLTE B-6i1 OHemeve= AF
CamiBsremr A BFA v,
6 =55 (90—35)
cos 55’ = = = 05736

= = 05736 cos42’ === 0.7431 [BC = 32]
AF = 0.5736 x 30 EC = 32 % 0.7431
= 17.208 = 23.779

AF = 17.21 .8 (Cxmymuiions) EC = 23.788.18 (Gxmymuwions)

[ B3 Curatp mowEsEsar }

swiors LWipd GFuiwieb. @

a.51.624: @ olotand G-uledmba 24° Cameamsmsd HThE 250 &5 Qstemevelsvision H -0 Curésls GFev@mgl.
Gusuid H -60bg 55° alevd 180 &5 Gxmensvelaieisn | -3 CrreadlF OFsvadms siefev,
(i) G-e01 o b@ Hewsuledmbs H -1 OpTeneve| eaien? (i) G-e1 Spsd Hewauledmbs H -61 GHTeneve) 6teiten?
[sin 24° = 0.4067 sinll°= 0.1908]
cos 24°=0.9135 cos11° = 0.9816

(iii) H -e01 ou_ 6@ Hewsuledmbsml [-601 QFHTensve) 6leiren?
(iv) H 601 Blipds@ Hewguledmbal J-601 OHTensve) sleimen?

9. @m Ommelsd &LLLUWD, dHmeowld aHOrdys SHemgulsd 35 15 QenLQeuefuled iMIOBSHICTETEMN.
sLLLSHN o sAldmbs, oo o sAulen gppEGstemid 24°  ppid  FHemev  Siguled

@nssstaramd 34 eaafs, dameoulst o wmb eeen? (tan 24’ = 0.4452,tan 34° = 0.6745)

AB =a&lgLib=y QamBasrewr AABC-6v, @
CE =devov=x+7y | tan 34° > g = 0.6745
fc':Af;f 3518 L = 0.6745

SHLL L LD X

FENa y = 0.6745 x 35

MEVBEGHID 2_6iT6N 530
anrgip = BC) A 340 35 D ‘= 23'6975
GariGament A ADE 6b, , | Fosouden o b
¥ =

tan 24° =22 = 0.4452 \ CE=x+ty

} 4D T N = 15.582 + 23.608
35 = 04452 B 35 =39.189
x = 35 x 0.4452 CE = 39.1918

x = 15.582 Heweoulls 2 wipp = 39.19 1§

wtsteam100@gmail.com
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7. S16weiuusd

1. @F 2 mewemuier <yyib WBBID o wnkisefer eldlsbd 5:7 @b, G euemenuyli] 5500 &.0F.5

olelley, o (Hememuilell YJD LOBEID 2 _WIFLD SHTewic.

iﬂm:::E:r:% ................. (1)

2wy h 7
o _(mewenuilesr eueneruiiy = 2mrh = 5500
22

2x 2% h= 5500
7 7

— (APR-23, JUL-22)

’ (@

590100 o e
W2 = 5500%7X7 r:h = 5:7
2%22X5 %7 =35=h =350g.8
h = 35 eran (1)-60 Uy, r =222 = 25 Gau8 = 25 Q&8 h = 35 Go.18

7

swors uulpd Gaua)b.

831 Guretp z:arszsar }

2.9m FHeoo @y 2 mememuleir Oomdbsl Upiugin] 1848 5.05.5 Gosid iHel euensmUii], OOTHSU LUBLULFULTL Difle0
Mbg LRBTGID 61660, @HIOL o Hewenulsl I OBHID 2 Ul SHTewie)LD.
eL.&m. 7.1 @ o @memem euigeuls Liumuier o wgd 20 QF.5 wBmId Sginm w14 GF.15 eraflsd, SiHer  suemenLITLiL|

BB Grdsl Uspliuglemus sreis. (JUL-22)

e.em. 7.2: 88 #0515 suswenupliemLwl e CHyoul L o memenmulesr 2 wigib 14 G5 sefed, o memenuleir el LD amemiss.

(JUN-23) @

3. @ o eefLBp Wy 2 mmenulen Geuafliyms
b BB Hembd wWempGw 16 GF.5 wBBID
13 G518 G@L. SiHe Hgwer 4 GF.15 eefled
2_menenuiel QLT S YBLILITLIL elclelene]?
GamhasiulLg: Geuefiiimp ourib (R) =16 G&.15
o Lyp oy (r)=16—4=12 5.5 (am)

[~ oimeob=4 .15 ] 126515 W=4Gs .18
Bond (2_wigib) = 13 Q.18 [*

o _sitef_Bm o memenulei 136e8

16Qz 18

Ouomd Sl UpLLIFLL
=2n(R+7r)(R—r+h)
=2x§x(16+12)(16—12+13)
=2xZx28x17
= 2992 5.05.15
[ @31 Gursip mswrEEmeT }

swors uwiBd GaFue.

or.&m. 7.4: @

Hlgeht 218, @ (1B upip 615 & o wpid 2518 2 svLwl @f
2 _HEWET Qllgel  G&JhRIBLLITenGUT6T 2 67T wBmid  GeuefimpL
Ll sEneHE euJemid LFlbBams. @m 60LL] euemdbmdbd
Catei® 10 .15 L& (WIQUIDTETEY, SIMHIBLILITENSHEE 66D
UF e1hHemen 60l LT euewrd Ggeme?

4. PQR e6iip OQsmBxsrewmr  (psHBmTamidhHe0

QR = 16065.5, PR = 2005.5 LOBBILD
£2Q =90° @b QRwBpID PQ-g3  s»ow
SFSHBONMTHHOBTEBH HPEBBIDCUTH 2 [HEUTELD
FalDL|B6IM6N  euensTUFLILIEEm6T QLI [BH. @
UsTagerd BsmmiiLg, P
PQ =+v20% — 167
= /400 — 256
=144
PQ =12 Q5.6
dalbLledr euemerTUL = 7Tl
(1) ewsmenugiay (QRe GuTmESa! sipBopid Gureg)
=n X 12X 20 = 2407 Q5.15........... @9)
(2) suswenugiiy (PQ-g3 GUTSHSI SipBmId GugI)
=n X 16 X 20 = 320n0s.1......(2)
2)>1)>=>
auemenyli] (PQ- QurmeHas spBmid Curg:)
> auemenuyli] (QR-23 QU apBuIDd Cums)
PQ-m OQurpdal sipbpid Gurs,
FalbLl60T QUemETUTLIL] DIFHHIOTE S[HEBGLD.

20 GF.15

1 .
Q 16G#.15 R
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<,€§ QeauiBke o - 1091 iy FHewrds
5 smyupd 1915 OsmemiL gDl 6ligeud FnLMJHH60 [HT6VGN] 2_6ieNan). @MmeUmBHE& 22 &5 ugly
Cxpemeu 616fleD, FLMTHHN 2 WITHNHE HMIHBIL LD,

FalMISHA6 Slglbsid= Tr? = 22 X 4 [ @31 Burety mearEEmar }
% % 2 — 88 gwiors LWiBd GFUIWeD.

o.&1. 7.5 desremends Ostemi 715 Suepd 24 16
2 WP 2 LW @M  Faldl  6lgeNsH  FalMJLD
2 HaUTSSLILGOBE. CF6IaIs algaid HhbHTals DiH60D
415 e1edlsd, Sigedr Hemb Hreviis. (APR-23, PTA-3)

a.am. 7.6: 704 5.05.15 QrdHsl UBLUTLL OQETeml @

r2=88><%=28
r=+V28=V4x7=2JV718
aLTyHHen 2wy h = VIZ2 —1r?

Falbllelr Iip 70F.15 eTedfley, DIHEHT FTUITID HT6UIS.
2 UL-22
= f192 —(2J7) QuL-22)  (2m)

=+/361—-28=+/333 =18.25 18

6. @m Fpfl sk UIBHDH Brenens CBTEHILTLS Fnlbl eugeudh QFTidsemer 5720 &.0F.15 ugliyesien
STHEBHSHSTMEN LWSUBSHS Swrfledmrer. 5 OF.8 suyapid, 12 OF.15 2 wgupld QBT 6156
Oariisst Swmflés (wWigub?

r=5 Qg16, h=12 Q5.6
grqugo [ =VhZ+712 = V122 +52 =+/144+ 25 =+/169 = 13 Gs.18
= 28

. . . . BB SHHBHTeMesT LFLIL| 57207
Ol seller eremtenlldons = 207 =

@® Omuiuier uply (embler o wib Trl) T 22x5x13
SwmissIUBID HTiilseisn sememlbans = 28

7. s o _whsmenymLw Sm ChJ e Ld gwmibysefsnt umiwst 1:3 eeip eldHHHle0 2_sitere.
gnlbysmefedr @ Wiy Al FnlbLlell YFHSIT ApeiTHl 0L MG 6lellsL, auenemUFLILS6MeN alaHID BHTewis.

Al FnlbL: Quflw awibLj: PTAD
Hnor r, = 3r

h, = 3r h, = 3r @
l, = \/(31”)2 + 12 =+10r2 = r/10 I, = \/(31“)2 + (3r)2 =V18r2 =9 x 2(r) = 3rV2
Fw Fmiblienr ewemenmuyliy : QUi gwniDLl6dT euemETLITLIL]

iyl mryl,
r x rvV10 : 3r X 3rV2
V5v2:9V2
V5:9
QUEMEITLITLILB6T6 e85 gH1ID V5:9
8. gm Camensder b 25% SFPSfEGLOUTH, DFSWTGL UBLUFIeT FHMGLD HTewHis. @
Gamenghden LpLLFiL= 4712
UTIDLSH0 CHTend et LmrLFLIL] [
(r =100o106, saaflsd) = 4m(100)2
= 10000 X 41 517 SI60VGH6I.

831 Curary IwHBHATY ]
swiors LwiBd GFuiwe. @

6L.am. 7.8: @@ Carensdlss Lplgliy 154 .16 erefev,

B el L srewis. (SEP-20)

.BT. 79: @m GCx:mem euge  suerBEEmIQEDIGT

ydw Basmengdenr upriugiiny (r =125 o0 eaflev) | (balloon) smbm 2 BeUUGDELTE  SiBET  SuD
e a 120518 emba 16 Q515 s 2 wWEHSBH. B

— 2
25%oiPsidsiien = 4m(125) upiiugiiysefen elladsd sreis. (MAY-22) @
= 15625 X 47 5517 SIevG 6.

. . S Lmrigiy
LDTM3ILD eiglb = [ = — 1] x 100
R oL Fed Ypiugiy
_ [15625x4/ﬁ

~ l10000x4%

- 1] % 100 = 56.25%
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9. 2 sefLBp @ SMIHCHETEN augeud HaWSIABG @M FHJ 0F.5-5@ eaujewid yF I 0.14 ez
CFevauT@ld. SiHe 2 L LB oBmid Qeuediyp el L rissit wempGw 20 OF.15 wBpId 28 GF.15 eefed,
SISO (LPIPMIOWITES GUTeNID LLF sledeuene) GCFeveur@Ld? @
SImHCHTeNHA 6 CoTdHs LMBLILIFLiL]

— 2 2 : - : b, r-o I i
=7n(3R*+71%) @nE R-Geusfiiyp <uib, r-2 (1B aww[ Gz Bursry mewkEmal ]

swiors LWiBd GFunue|.

= Z(3(14)? +10?) R= 1460
el.&T. 7.10: @ Hevino SenyECHTenGSHen gl 1386 .8
6160160, DIFH6N GLOTHBI LBUILITLIENLIS SHT6NIb.

eL.am 7.11: @F 2 seiLBn SimysEbaren @l igs o i
wBpId Qeueiim omhiseT (WeopGw 3 15 wBwId 5 1S
SUGID. @196l QLTSS LBUUFLIL| BB eueneILIFLIHLIS
BHITEHI.

= % x (588 + 100)

=2 x 688
7
Qurds yplugiy = 2162.16 QF.15°

Qgevey = 2162.16x0.14 =T 302.72

10. @m Cuweng alensdlen GeaueflLUBSHHBES (C6OUGH WL T) LWL BLD 6uiewILD
ysiuGadsg. 150518 eafemnd uF I 2 OFvam@Oweaisd elansaBe
QUewID L FeSBETe GoTHEF CFeveneld &HewibHas (BHob. @

r=6 Q5.5 R=12 Q.8
Capemauuimenr LI = Gl ShHemIL S0 eIeneTILITLIL]

+ Gusv LGS eul LGt Ll =2+ (R —1)2

=n(R+ 1)l + nr? : :
= 11(6 + 12)10 + 1(6)? =8 +(12-6)

= 1807 + 361 = V64 +36
=216m =216 x = = 2= = V100
=10 Ga.if

= 678.86 Q5.1
Gaevay = 678.86X2 =T 1357.72

[ 831 Cursrp zFwHBHAY ]

swiors LWiBd GFunueb.

SleGLLULIBEA: @

7. @7 DoLEHMILHH QM (pevenseien aBmenesst 1815, 1615 woBpId SiHer Frujugd 4 15 UGD. @ FHIT BLLGSHS
2100 ofpb Bl sHMIL_SH6 eIen6emUIiLed aUJewid LF WG OCrsbsHF OFeve) sleien?

e.&T. 7.13: @

Q@ bl Qe HHemIF FTUUTID 5 QF.18 SuGID. DiHei B kw6t 4 0F.5 wBpId 1 0F.65 sefled, Renl 6w a6
GUEMGITLITLINLIS  &HIT6IIH.

ol.&m. 7.14: @
M OsmfBareneoulsi 2 BGeurs eutefl, Fablienr @enLSHHemL algalsd 2 6Tengl. DiHe GBLB, Sigls efll L riseT (penmpeul
105 BB 415 PG, DBt 2 Wy 415 61y, DML SHHEMILHH6 auensTLTLIL] BB GoTSSL LBLULFLENLS STemisb.

LuiBHESTD:
6L.&m73: memd 36 wwmp el 2885 o emLw  @®m FOALGHHILD 2 Hmemwd — CamemiG @
CHTL LD FIBHDHU LGHMSH. 8 SHBmIGEensd slelalsney LTl o @ Hemem &Floe GFuwun? (2M)

6.BIM.7.7: 2.405.15 2 _wiypeien @m &Heiio 2 wmewenullsnr el L 1.405.5 @b, 2 menenulsnisT i8H DUT(LP6TeN &nlbL| 6UlgeId
Gfe o mewmenulsl 2 WISHBEG gHUBSSUILBEDBSI 6lefsd, WBapeiten SHewiosdler Gorhbsi Lplugin] srevs. (5M)
6.8M.7.12: @m GC&mend, 2 HEWsT LBEID dnldl| PBWIBSEOT DTHIG6T FLOW.
LL&FH60 2 6T6MUg &aldl] WLBEBID 2 Gevenullen o WJRS6eT UJHHBSGHF &FLOD

v

a.‘,_"_.: 0,
o

erellen, SwuBmles euewenuliLBefen eflds srewis. (2M)

=
I
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<£5 Qaumfss awp - 1090 iy smrss

@mﬁssx‘mﬂ.x_ ﬁmw*m@

1. g Sewio MyECamensHet SugliLgliy 1386 Fu6  eafled OBt  euemenuPLIl  LOBHILD
Upriuglienend STewis. SEP-20 @

Sgrussiugiy =nr? = 1386 5.8
SIMTECHTaNSH @ euenenugli] = 27r? =2 X 1386 = 2772 &.16

orECamansdHear yplugy = 37r? =3 X 1386 = 4158 5.16

2. @@ bl QL SHaI G FTuuyid 10 OF.15 YGD. BT GBLB, HPIB eIl L UG &eM6r
sbmene] 28 GF.15, 18 GF.5 eaflsd DIHET EUEETLTLIENLIS HTERISH. @ PTA6
BemL_bHewi_GHenn grugo [ =10 GF.18
QL HHeNIL HHlei GoBLUB smmene = 2R = 2865156 = R = % Q.15
QML BHWILHFHe SPLLB Fmmene] = 2nr = 18 Q6= r =% Qg .15
AL bHIL_GHFHer auemenuyi] =mT(R+71)l .o =7 (% + %) x 10

— ><2n—3>< 10 = 230 #6516

vuiipEFE 7.2

1. 105 2 'yp ellLd wBpd 1415 e CEBTEIL @I 2 [menen ougeud SHemiBnedmbal eThaHsUIULL
et OHETHEG 515 DBVSHH6L SHewiBenms &bl Gl DMDSSLILGEDBSH  6laied, GoenLuile

2 _WLISHmSHH HTEISD. S
CuenLullelr ®en ojene] = FHleWIBPBl6N HeU D66 C_'g ’ @
2 eiefLBm 2 memenulledl &6 DisNe) = 2 (HEWEMUTET &H6oT D66 .

(R* —r?)h =nr?h | e |I"

X (102 —=52)h=mw x5x%x5x 14
h=20 2 4666.... S
75 3 s+5 =10 16
< GuenLuleir o _wiyib =4.67 18 [ Gzl Curskp mewdkgmeds ]
Gwiors Luibd) GQFuiwieyb.
(2m)

e.&m 7.15: 2 wyb 218 wipn Sugliugiy 250868 Csrewi. @ 2 meenulen searseneneuds srewis. (SEP-21)
eL.am 7.17: @ 2 emefLBB o @mmenulsh 2wy, 2 LB wiBpd Qeusliys oghsst weplw 9 GF.15, 21 GF.5 BBID
28 Q5.6 HYGID. 2 [HEmeenl 2 ([HoUTHHSH CHemeulIIBD QLI Sl DieTeneud HT6uIH.

2. ellLb 200515 2 6iten @J o Mo elgals HeWiewITigdh Gouensmuled 9 OF.L5 o wWISHHBE B
2 sitengl. YJb 506F5 wBEL 2 wgd 4060585 2 oLw @F FAw 2 Bors 2 memen, [Bfled
Wmwwns apPpGweursl gBuB Bfler 2 wjmeas Haubd BHsb.
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N =50 2d, =0 Sfd; =—8 | 3f,d? =78
fid?  (3fidi\?
o=cx JT -(%5%)
78 (—8)2
=1x %~ (%)

= /1.56 — (—0.16)2
=+/1.56 — 0.0256

=+/1.5344

= 1.238
o=1.24

[ B3 Cursary zowkxat }

gwiors uuiBd Geuiwie.

11. emeugerd &TWIFFeNEOL UBBIW SHHSHIH HwilLled, LUTHBBULLL  1pHH6eM6d slewrenibend &6 QBTHHBUILL (BHeTeNg). @
B5srala HL eflevdHsd HTemsb.

UG (SU(HLMIGH6IT6D)

0-10 10 -

20 | 20-30

30-40

40 -50

50-60

60-70

UTEH GBI L 10&H6M6H  6T6uT6mT bend

3 5

16

18

12 7

4

12. o OamBaTensouisd sHWTiGHILLL Sl (HoHelsn el L Sienesst (0F.560) BB sl (Bsismer. a6 HL 6edbHD HT6isb.

el L miseiT (GF.16) 21-24 25-28 29-32 33-36 37-40 41- 44
HL_(BaH61T60T  6T6utT6N &M 15 18 20 16 8 7
SoGUUWIBE: 2. @ eugeusmoinIsd auenguiii’ L sul L hisefeil el L Sieneyssit (10.16-60) SC OBmBHSLILIL [BiTeren.
oL L iss6i 33-36 37-40 41-44 45-48 49-52
QUL Lmubelledn  sTemttenlened 15 17 21 22 25

L 6evbBHmBE HEWIHH BHSb.

6.5M.8.13: &

BHHTNBGHS AL elevdsld HIeuis.

aIGLILsVI6Ten  omemreufde, GUILLLL uTL S&H60 QUBB WICLsIE6T SDdEemILsuTyl OETBSHSLILIL (B6iT6re.
L& LGILIGTTSH6IT 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
LDIT600T6)] & 61T 63T 6160016001 5 6M B 8 12 17 14 9 7 4
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10. o eumpSAHL gbH LTeUl L HiB6eled OeueuGoup DLmiBsed OLUISH enpulsi  SieTeuTenigl Loy

i’ G S0 CET®BHslLLBeitengl. CarBhsllBeiten Losnpwenelsh SHFelBE S L eleudslD HTes.
oenipwiene] (LO.LS) 45 |50 |55 |60 | 65|70 @
@)L _riserien erewtenidens | 5 (13| 4 | 9 | 5 | 4

x| fi |d=x-A| d} fid; fid? Sfidl  (Sfidi)?
= x; — 60 "zx/T‘(T)

45| 5 15 | 225 —75 1125 _ [roso _ (ﬂ)z
50| 13 —10 | 100 ~130 1300 s\ 40
55| 4 =5 25 —20 100 =/76.25 — (—4)?
60 9 0 0 0 0 =1/76.25 - 16
65| & 5 25 25 125 _ VG035
70| 4 10 100 40 400 — 776

N =40 Sfid; = —160 | 3fid? =3050 | 5=~7.76

Gwors LuWiBd Gauiwed.

[ @31 Gurary zswsBEaly ]

(sm)

el.am8.1ll: @n oI L engsdsd 48 wraveisst OTemevdstld  LMULEBSTESF GFevell L @By GalLpuiiul L gl
SbHH HHOUN6T Dol iLienl_Uiley, SPHBTEID HIeT HI L 660HBID HT6wilb.

x 6 7 8 9 10 11 12
f 3 6 9 13 8 5 4
61.8M.8.12: au@ls Bxyelsy reweugseT GUBB LAIGUIEsT &6 CaTBHSLILIL (heisrer. augaerien LLIGLIGRNBE:S
AL elevdsld sremis. (PTA-1)

x | 4 | 68 [10] 12
f 171359 s

14. 100 wreweujEHeiT OETML @B GUelsd, eufseT 6BHS WLHICUEeNeT ayrafl LLBEBID
S Lallevdsoneizs (peupBw 60 wipd 15 @b, deery 45 wBpw 72 a6B B
wFHUCUeTEEREGL USeors (weampCw 40 wipid 27a6im SHaupral udle] GFUwiUlLg S Osflw
albsGH. eBmBF Ffl QFUISHTL e baslCuUBID LBHw sHyelsn Fyraflup gL elevdspld SHTemis.

n=100,X =60, o =15 225 4 3600 = =2 (M)
— 100
¥=2560=2=73x=60x100 = 6000 532

n 100 3825 = =
sHoupren Hyeilen i = 40+ 27 = 67 100
siwrer syelen wgiy = 45+ 72 =117 Haupren Lx? = 382500
Guorgg wgiy = 6000 —67 + 117 = 6050 gilwmen Zx2 = 382500 — 402 — 272 + 452 4 722

. 2 6005
ugw grellsr sgrefl X === 60.5 = 382500 — 1600 — 729 4 2025 + 5184
x2  (Tx)\? sflwmren Xx2 = 387380

T=" ~ (7)
HUBTE &L ale0dbsId gflwines o = \/381703080 — (60.5)2

1o [2X2_ 2

o=15= |75~ (60) — /3873.8 — 3660.25 = V213.55
2

152 = == — 3600 o =14.61

@31 Curetp mewrdkgaal
S&wiots LuiBd GFuiwe).

o.am8.14: 15 syey yseflseflen ggrefl wBpd S elevdsd  wepBw 10,5 e S pwiul BeTeng.  DiewdH
FRUTSG@EUTIREI, OBTHEBLILL(Been @ HIell Lseil 8 el SHoumIHeTsd GlbsUUL BeTengl. Dige Fflwimer Hrelisier
23 et @mbHTev Fflwimer Hrelent FyrFf wBEID Hi L MeVbHBID HTCHID.
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15. gap eyl ysieiselen sFymafl wB@ID elevds afsss Fymefl (wenpGw 8,16 @b, SiPd Wb
srall yetefaseT 2,4,10,12 wippib 14 eefled 15sD 2 siten B SHya|ll Leeflsensnd Hemr_lsb.

JW Iy Ueieiselen Fgrefl wBBID elevdHs
asss Fymsfl weonCu X =8, 02 =16
mbH Hreyll Leeflser 2,4,10,12, &14
X oBmid Y eydlwien 18g5psiten @b HIell
LelteMbeiT eletic. Fymafl = 8
2+4+10H12+144XHY _ o
7
42+x+y =156
x+y=56—42

allevbd alJbsF Fyrafl = 16,

2 _ =% (mx\ _Ex? gep
o2 = ()_n (X)? = 16

n n
~(22+ 4% + 102 + 122 + 14% + x2 + y2) — (syna)? = 16
4416+100+144+196+x2%+y?

. —-(8)?%*=16

460+97c2+y2 64 =16
460+x2+y? — 16 + 64

460+x2+y? - 80

7
460 +x2 +y2 =80 x 7

x% 4+ y? =560 — 460
x2+y2=100 ....... (2)
x4+ )2+ (x— )% =2(x* + y?)

(1) wigid (2) sdeba!
196 + (x — y)? = 2(100)
(x —y)? =200 - 196
(x—y)?=4
(x—y) ==2
x—y=2 eafleb x+y=14&
xX—y=2=>x=2+Yy

2+y+y=14
2+2y=14
2y =14 -2
12
y=-=6
y=66erx —y =2 60 LIrsui
x=2+6
x=28
~x=8y=6

xX—y=-—2 aeafeo,x +y = 14
x=—-2+y>-2+y+y=14
-2+2y=14
2y =14+ 2
16
y=?=8
y=8eenx —y =—260 LIrgsuiL
x=—-2+8=6
L 16BID 2 6ften Q® HIeyll Ustefse 6,8

(purfamiut.L serrdser

1. 76umyseied gm SiEcs. aiT 6bhd @l L hbsT (wempéu 70,80,60,50,40,90,95 B L 6levsdDd HTesib.

. d=x—-—A| d= % 42
1d=x—-70 C=5
40 —30 —6 36
50 —20 —4 16
60 —10 —2 4
70 0 0 0
80 10 2 4
90 20 4 16
95 25 5 25
Yd=-1|Yd?=101

o [ 2
- n n
_ &_(—_1)2 @
A 7 7
101 1
=7 e Xd
=+114.41 X5
=38x%x5 =19
~o=19

2. 20 gyepl Usteissit OBTGHEBULLL. eleursHden S L 6levudsamd V6 SAGD. @eUGeUTH HFeYl LisiTeMud 3-i60
CuUmBSLLILLTL HenLHGID. FHIeyll Lisieriseriei S L 6llevbmd OBBID 66evdsd OMJSHF FIMFF HT6IID.

B Leflovésastd = V6
B S Lalevésd = 3X V6= 36
slevias autesayrel = (3v6)2 =9 X 6 =54

) (prad)
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1. 9 syelen S elevssd wBEID Fyraf
Awenr  (wempBw 6.5 wpmpip 12.5 ereled
TPILIT. (S CHpemeud STawIsH. @
0=6.5, X=125, C.V =?

TRuUT_Gé Ceup= % %X 100%

— 65 0
=Ts X 100%

= 0.52 X 100%
C.V=52%
[@gl Gursarp mzk@assﬁ']

SWIoTs LuiBd GFuiwe)L.

a.&m.8.15: syelen Fymaflumeig 25.6 BHID @
SiHe TEILT BE Cspaureng 18.75 eefled, Siher S L
alevssHmbH STeis. (PTA-3)

2. @ syailsi L alevssd BBID wrpum’ G s
pPwer  weopGw 1.2 wBmid  25.6  aefled e
FITFflenlics SHTeuiis.

3. @m syeisn Fyrafl WBEID WIBILT.GS QB (WemBeW
15 & 48 erafled DiHei H L NeVSBHMBH HT6HID.

5.24,26,33,37,29,31 g fweuippiien otmium’ B
Cs(penans SHTemis. @
24,26,33,37,29,31, C.V =7

g o ZAT26+33437420+31 _ 180 _ JUN-23
6 6
x| d=x—x d?
d=x-30
24 —6 36
26 —4 16
33 3 9
37 7 49
29 -1 1
31 -1 1
rd? =112
0=\/¥= L2 = V1866 = 4.3197
C.V :§ % 100% = 17 » 100%
=219 _ 14399

C.V=14.4% [@g} Gunratrp m&@ma’r]

Swiors LuiBd GFuiwey.

6. 8 orewiugaseT @ BHrafsd il Bl UTL&Hme (WILILSBE
IBHEHIB  QFBM6MEHID  HTL  JeeYH6lT  (BILOLBIH66D)
Leiteuqpomm Osrhobsin Betengl. 38,40,47,44,46,43,49,53
@ssyelen WIBILT. BE CBWMmeudH ST6nis. @

4. n=5, X =6, x? = 765, eaflsv, wrmum G
OB (pemeud STenis.

8. @ eaEUlsd 2 siter 40  OTERICUTHE,
HeisId, Sifieluisd 1BEID Faps nfieluisd
SEW eIl UTLisers0 Qubm
@lusmiseien Fyrafl BEID FH L alevdbsld
&P GBTBHBLILIL([B6iT6IT6T.

LITL_MIgs6iT gyrafl | Sl elevdasld
&6 LD 56 12
Siflelluied 65 14
Fups fiallwed 60 10

@bs cpeiIpl UTLESeMe 615 HS Hlenevd
SHellend OBTEWILSH LOBBID 61&H  GHNBHSD
BeneudHSHeienip GEmemigHl? @
& 6mNGHLD:

n=40,X=56,0 =12

C.V=2x100% == x 100%
X 56

=%% = 21.42 %

Siflefluwled:
X=650=14,C.V =§x 100%

=120 oy = 21.53%
65

saps afielwisd: X = 60,0 = 10
C.V=2x100%
60

1000
—W% =16.66%

Fapds  oPflellulsd UTLID DFPD  Hewevd Heilenio
Oemewi g LBBID Snfellwesd UL  GHmBHH

Blen60d HeienD OBMEmIL Gl

[@5} Gursip m&@ssﬁ]

SWons LuiBd GFuiule.

7. gSWT BEID ST @@daGn 5 urLkisesd GBS
QorsHg WwHIGUeEsT (PensGuw 460 wBmid 480 @ 1b.
Guoaid SiHeT FH L ellevdbshisst (PewmGW 4.6 WwBmID
2.4 eaafled, wnmmLW QFWLHBeI GHHS Hewevd
H6emID  O\BMemIL_G1?

6L.&M.8.16: Llshiou@mD oI Leuewswiuled e(h  Lisernuledr
USSTD eUGLIL| LOTewIeaHemsi © WIFID LOBEBID 6TenL deis
Fgnaf oBBID elevds eafss FITFf sl ELLSSIT
OQamBaéslUL(Beiensr. (PTA-5)

2 _WIyIb 6160
gynafl 1550.16 46.508.8)
aliss asss symefl | 722508857 | 28.094).8°

QauBnfled 61&H HHB BHewevlilldh Heewo 2 enL Uigl?
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@mﬁhmimi.x.. aiam'sas@

1. Qi@ BaEyhGeT A wppid B-uler Gafl] &Teuhaled Hevald OealliLplensy DienedsT &6
QBTHHSBLILIL_(H6IT6T6.

B&JID A-61 Geuliumplensy (i9a8ifl GFsvdluierd) 18 20 22 24 26 l PTA-2 l
BBJD B-6 Geauliupensd (9@fl QFevdlulerd) 11 14 15 17 18 @
61b% [BHJLTIH OeulilBlensy THILITBSeM6L Digsomen [BHlensodhHeieno G\asmemigi?
b&ID A b&JD B
v _ 18+20+252+24+26 _ % — 29 v _ 11+14+155+17+18 _ 15
x |d=x—% d? x d=x—x d?
18 —4 16 11 —4 16
20 —2 4 14 -1 1
22 0 0 15 0 0
24 2 4 17 2 4
26 4 16 18 3 9
Xd? =40 Td? =30
o= o [ _ g ~28 o= 2= [2=6
n 5 n 5
C.V=2x100% =24
28 =22 % 100%
== x 100% BEE 0
280 — 2400 _ e
=2 =127% R
C.V=12.7% C.V=16%
BBID A eugh Geulimplensy OTRILTHEHET60 DIFHBIDTET HlensvHSH6TeMID ClBTEmIL H).
2. 18,20,15,12,25 gl weuippilen ormum’_ Béb OB1pemeud HIeRis.
ot © &
n
7= 1s+2o+155+12+25 _%_1g
x d=x—x d?
18 0 0
20 2 4
15 -3 9
12 -6 36
25 7 49
Y d? =098

= 4.427
CV= g x 100%

4.427

442.7
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2. @m enuulsveiten 1 1psHed 6 euemy etemissil GUHSUULL 6 LbSHIHeNel®HH, @Cr CrISHed Syei®

LbGIB6 eIBLILSDBETE FnplOaleiieonl OJ aIenJULLD cpeoloTdd GUILILIGS.

@@ eowuulsvsienr 1
6l6mTBeT @GN BB L
Qe L&l

FnploeuaTlenul GBIGELID 1O eIeNFLL LD

FapIQeue ,

wpHe0 6 euemy
LbIBefelBbaI.
61(hLILIGHBEHT 60T

S = {(1;2)' (1;3)' (1;4)) (1'5)l (1'6) kil

@), 23), 29,25, 26 | L)<

(31),(3,2),(3,4),(3,5),(3,6)
(4,1),(4,2),(4,3),(4,5), (4,6)
(5,1),(5,2),(5,3),(54),(5,6)
(6,1),(6,2),(6,3),(6,4),(6,5)}

swiors LwiBd GFuiwe.

[ 83 Guratn zrEEzar }

1=

[

o) ([l

SN UGN

e QU W= G

o= W

Ui b

1. cpeiipl BrewILmbGeT el IUBLOUTIS SHmLs@GL dmpltaisienul Wy amIULSmSL LILLBSHS 61(1DHIE. @
o.&M.8.17: O] QUMILLSHMSL LWeTIBHSH Qrewih LSDLS6T 2 L LILGDOUTSH SHMLEGD Fnmiosueilenl 61(pHIH.

3. @® FwamilyF GCnpemaulsd @m HHRFd A 6w PhG

n(S) = 640 aaiso, (i) P(A)

(i) n(4)-ms sreiis.

P(A):P(A) = 17:15,n(S) = 640

() P(A) =?
P _ 17
P(A) 15
P(4) _ 17
1-P(4) 15

15P(4) = 17(1 — P(4))

15P(A) = 17 — 17P(4)
15P(A) + 17P(A) = 17

32P(4) = 17
P(A) = %;
P(A)+P(A) =1
P =1-7=2F=2
(i) n(4)
P(A) = % = P(A) x n(S) = n(A)

n(4) = 5 X 640

n(A) = 340

P(A):P(A) =17:15 1oip@iId

M) (pTA3)
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5 qm Ourg eailiprelsd 1 1z 1000 cueny eremisail L S MLE6T @ OULIgUTsd eneudbSLILIL BeiTere.
allememuUTBD QUCUTHAIMLD Y DILWLemWF FWeuTuwl] (Wenpuled eIBGHBMTIE6T. 6IBHS S 6D
SHmU  meusbslLLeNevensv. BaHIbhOHBHBLULLL SLenLuled siei 500- el oiHHW0OIS 2 _siten
auJH® olewl SMmbBBHTL, Jou] Oeubpldstear Uflensll GupieuT. () wpx6ded ellememum@Guey UfE
Oup (i) wseoroal] OCeupy OuBp Ups, RrewiLTadHTs elemenwrGuel] OGeubpl Oup <wsw
BBIDFF|BEHHHTRN [BBLDHHEYDMEND  SHT6wID. @
1 apsH60 1000 euemy eremibeill L oI enl_d6il @@ GLL igullsd emeudssiiul Beisner. n(S) = 1000

(i) Aeaeiug 500-3 6l oiFH®0ME 2 6iTen (ii) B e16dTLg @JeWILTeUSHTH  alensmuim(BLeT
QITHE 660l ML LILBHBHTEN HIBHIDFSF 6l6icb. Geuinl QUEICIHBHTE BBDFF 61601,
A = {529,576,625,676,729,784,841,900,961} n(B) = 8,n(S) =999

n(4) =9 5 @yemi_TeusHTes  elenemurGLalT Geimas
S p&Hedsy elememumueut ufled UL PHLHH] QUL MBPHH
—na_ 9 n(B) 8
P(4) n(s) _ 1000 P(B) = m =999

guwors LuiBd GeuiweD.

[ @31 Gurary zswsBzaly }

L.BT.8.24: LLSHFHL ST iguisiten DbLSGH SHoBmId el wim’iged 1, 2, 3,....12 61603 6T600IH6T  FLOGUTUILIL]

weopuiled Sleni_és eunuilisitengl. subusGBwreg (1) 7 (i) usr eew (i) U@ e @wieuBis0
PIBUSBETEN HBHLDHHEBHEN6E 6w (1515.

Quewih Fgnen LBMLB6T (WPPWTE @Cr GrrHdev &@LLUU@@@I{B@T.[ APR-23, SEP-20, JUL-22 ]
() @rew®p usen seiaid @6y (s WHNL| e bs

(ii) s wHysefen CLHBBBLICVET LIST 6IememiTods Bl @

(iii) s wAUYBENEHT F(BHO LBT ClUIENITBE L HH

(iv) s vlselar FmBHL 1-ws QmSs PIAwW PERFHEN6T HBPHEHMBM6ND BTCHID.

@yenti® FITe LSHLH6IT (pewmBund 6y GrrsHdev
2 U LOUBICUTSEI, HenLb@H Fnmitsuer
S =1{(1,1),01,2),(1,3),(1,4),(1,5),(1,6)
(2,1),(2,2),(2,3),(2,4),(2,5),(2,6)
(3,1),(3,2),(3,3),(3,4),(3,5),(3,6)
(4,1),(4,2),(4,3),(4,4),(4,5), (4,6)
(5,1),(5,2),(5,3),(5,4),(5,5),(5,6)

(iii) C e1iugl (&  WHUBM6T Fn(BHEO LIST
6T6TTEMITBS ML LILSHMBHTE HHBPFF 616015,

{(1L,D),(1,2),(1,4),(1,6),(2,1),
€= (23),(25),32),34),41D,
(4,3),(5,2),(5,6),(6,1), (6,5)}

(6,1),(6,2),(6,3),(6,4),(6,5),(6,6)} n(C) = 15
n(s) =36 nc) 15 5
(i) A aisiugl @remip LsmLsaieod 9CF (s = P(C) = ns) 36 12

LAY SenLLUSHBHTEN HHDFSF 61601,

A=1{(1,1),(22),(3,3),(4,4),(55),(6,6)}
n(4) =6,

-'-P(A)=n(A)— 6 1

n(s) 36 6
(ii) B et6d1Lgy (& oG ILB61M60T QLIHEBSBLISOST LIST
6T6O0I6T0NT DS ML LILIGSBEHTEN HHLDFS  616015.

B =1{(1,2),(1,3),(1,5),(2,1),(3,1),(51)}

n(B) =6

n®_6 _1

ns) 36 6

(iv) D eistiug) (ps Hlseien FmBHeo 1-ous
AmUUSBHTEN HHPFS 616015

D={}
n(D) =0

o) _ o _
ns) 36

» P(D) =

~P(D)=0
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E 831 Cursry zwHEBHAT }

Gwiors Lulbd Gauiwieyb.

a.&51.8.19: Qe UBMLB6T o U LGS men. Sl HslIoumD we wHiseiar FmBsed (i) 4-6&F Fwowrs
(i) 10- oLt Quists (i) 13- elLd Gopans SEHUILSBSTN HaDese| SHras. (SEP-21) @

.BM.8.22: @ UBML 2 BLLULUGL 65 CrrsHslsd @ Bmrew(pd &S UUBGSBH. USmLUTed menBLLIENL 61630
SOLLUUSBGSLD, BTWILSH60 HMeVdH SMLLLSBGLOMN HHSHHmeuds &rewms. (JUN-23, SEP-21) @

8. apeip Fgmenr BrewiLmEsT (Pepwnd @Oy BGBIHHD EHEWILLILIGIS D6 @
() omenggid smeounss S ss [pras| (i) GopbsULED @® U SmLds |PTA-5
(iil) s’ b @m HMmev HLbD (iv) oifsulsb Qretip LbH6eT Sl bs
SLEIIBIBHTEN B HBPHHO|HMENSH  BHTEwIH.
APSTMI ST  BTEOTULIBIGET greuiil_LLIBa 6360, iii) C eeiug SHBUFD @M  HWeL
S = {HHH,HHT,HTH,HTT,TTT, TTH, THT, THH} BDLLUIGDSTN BIBRFS 61605,
n(s) = 8. C = {HTT,TTH, THT, TTT}
i) A 6160ILgH DIMVSHBHID HEMEOUITSS  BlemLLILIGHBEHTE0 n(C) = 4
Beprd) oo, A = {(HHHY;n(A) = 1 pC) =29 _2_1
n(A) 1 n(s) 8 2
P(A) =——===<
n(s) 8
ii) B e6iIgh @mBbSULFID @ L HewL LI BaETe iv) D eetiug SiFHsULFD QWi Ly dHSH6IT
PHpFS 6T6015. SHDLULSDBHTE BIHDFF 616018,
B ={HHT,HTH,HTT,TTT,TTH, THT,THH} D ={HHH,HHT,HTH,HTT, TTH,THT,THH}
- B _7 = > _7
n(B) =7 = P(B) =13 =3 nD)=7= P(D) =72 =¢

[ 831 Cursry sswsEmay swwrs LB OCFweD. J

4. @@ BHTWIID (el (WewB SHWILLILBESBH. QTG ABSHSHBHS LHH6NT HenLLLISBEHTEN HHLDHEH6Y 6T6xe0 ! @
13. @ efemenuim_igiame, BHienipays &l Lemid X 150. b ellensmuriigsd @b HTEWILID (P63l (DB FH6uiIL LGB! SHeor,
Q(H BImeyF FL(B eUTHIEIT6IT. DieUSTENNMUITL Q60 Q6B DieVEVEHI QT6WIB HMeVE6T (PHSHTEL DievsiT CFMIHHU! HIEDLOEH
Sl L6wiD FH(HIDLG HenlSHBHIIBID. CLOIIDI HM6LHSIT HenL_HHTEL SiRI6TSH] BHIDLO6H S L 6WID EJ6wiB LOL hibTHH Hel H@LD.
BmEOWISTIBTEY SiRIEhES 6ThHH HL LD HHIDLG HenlbHTgH. Reuamompeisv, (1) Rgewi® L kisTs (i) Hevweis
slLewd Hpouleuns (iii) pevwes &l Lembmsd QULGBE, AAU HEDFHBEHEHTE HHDHBHM6SD HIEISD.
61.5M.8.20: QTewiiB HTEWILIBIBET QEIBTHF SFewiL LILIBEemmer. Qewih HrewnbisaMsld CeusuGouml (LPEHhIH6IT SlenLLILIGBEHT6
Papsse) eeen? (MAY-22)

9. @m enuuisd 5 fAeuly PIBU UBSHIBEHD, 6 Geusitenem HMBL LBHIHEHD, 7 UFMHF BBUUBSHIBEHD 8
SMUY BBUUBSHISBEHD 2 6iener. Fweumdiin] wemsuled eouuledmba @m UbH IGHBILGSBS.
sl ubdl (i) Ceusitenen (i) smly Sievevg Feuny (iii) Ceusitenenuires GsvevTLos0
(iv) GexsitansmuITEa|D, SHULTEOD 60L60TLOED SMHULGSBETR [HH|DHEH6|HEM6NES BIERIS.

n(R) =5 n(W)=6 n(G)=7, nB)=8=>n(S)=5+6+7+8 =26 @
i) A slehigl OQausiienen LS aIBlILGHGT Hopsd s, n(A) =6 = P(A) = % = % = 13—3
ii) B & R etetiien  (pswmBu &Y oBmid feull ubengd eBUUSBSTEN BEHDFS 6l6im.
8 5 8 5 13 1
f(B)_z_e' P(R)—2—6:> P(BUR)—P(B)+P(R)—2—6+%—£—E3 )
iii) A e1601g1 GeusTienenT SIVeUTSH Libend 6IBLILGBET HHBpFd e6iis. P(A) = Pt P(A)+PA) =1
- 3 13-3 _ 10
P(A)=1-PA)= 1—5——13 =5
iv) C a1etiugl LIbGHTeugl, Oalsiienemmedald, SHLILITEAID E6060TI60 SHUILISBHTE HHpFS 61605.
n(C)=26—(6+8) =26—14 =12

P (Qausiienenungealid, SHULTEHD Esveumiosd SmiiLismater) = P(C) = % = g = %
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mailto:wtsteam100@gmail.com
http://www.waytosuccess.org/

<£§ Qaumfss awp - 1090 iy smrss

[ 831 Cursry sewsEmat swwors wwiBd GFuweyb. J

6. p ewuuflsd 12 Hev PBUUBHIBEHD, X Faull] HBUUBSHSEHD o siener. Fosumuiiliy] (wempuled @m  Lbd
CapibOshsaLLGEBH. (1) 9Fm Hally BBUUGSTE SGLUSBETE  Honesdmaus &ransd (1) 8 ydw  Feulny
BBUUBSHIGST SiLewLulsd emeudd ey, @@ el Bimlubmnsd CHIHOSGLLSBET Bapssamags (1)-ulsd
QUL L Paspsamaill BuTe BHILEE aaflsd, X-6 wHilmes srems. (5M) @

a.&1.8.18: @ ewuullsd 5 Bev BWULBHIBEHD, 4 UFHF BBLILBSHBEHD 2 6iener. enUUIEIBHSH FosuTullin] wWenmuied
Q@ Ubsl 1BHEBUILGEDBS. 61GHSUILGL LbsTaig (i) Bevwrs (i) Beowrs Eevevmosd S HULSBETE BHDHHMeND BT6IH.

o.&M1.8.23: @ emUuilsd 6 UFmF BIBLLHSIGHEDHD, Feo HHUY BBID Feull] HBUUBSHIHEHD 2 6i6enen. SHHLIL] L6 eor
clevtemidbend, dallll] LbHiSmenl Gumsd @ LMISTGD. UFmF Ubdl SLUUSBETR  BHEDHHe)| Falll] Lbgl
S LIISBHT HbDSHBmIl GLT6L (el L EisTGD. ReuautOmesv, (1) sEIL LbsBeMe 6T6uienlbemnas

(i) GureHsil LbgiseaTea eamenlbmed UBUIIBEDBE BT6wISH. @

svaluipd: 10. @ ouuisd 5 Ceusiewer wBEBID Fev &MU UbBSHIHET 2 sitenen. ewLUNSBHSHI SHLUL  LbSI
ML ILSBHTR  HHIDHEUTENH  Cesiteneil  Libd l HeDLLILGHBETEN  HBHDHHMIBLTEL R  IDLBIG 6l6ie0, B
Lilb&IB61M60T 6160076007 60 BEMUIS  EBIT6wIEb. @

10. 9 Guiguied 20 @emmumgedeoTs elensGHEBL @M o0 GHMBUTGMLW 6leNSEGHHEDHD 2 6iT6re.
Quliguledmba Fwamuiiy wpepulsd BCHIHOSBHHSILGL M NNSHTRIH EHMBUTHMLWISHTED
BmLUUSBSTE euTUILIL gsras’ﬂd), GmBUTGLW a6 dHeiledl  6T6mT6m0NbeNHMUIS BHTEHIS. @

@® Guiiguisd n(Gempumgsvsurd ellensd@asn)= 20
n(@opUTBemLw alend@&HHeT) = X

— 3. -7 D) = _3 83 — 5

P(D) 8,n(D) ?=>P(D)=1 s .

20 20 5
= ==
x+20 x+20 8

= 5x + 100 = 160

P (@emmpumigsbeornd allend@awsl) =

5x =160—100=>5x=60=>x =12

~ GempUThemLW elend@oeien eleemldomns = 12

11. wrewiaumsit allenemuUTBLD @ 6GIENEMUTLIQEL DleuFHenmed eMIWILELD SeveoTendl Ul L LLflFoHa@ 60
al(phsTeL MBS OCeuBlwmsad, el LILf@sE el OFslassHBG&Gem elpbsTed DIMDH
Camevalwnsad &mBUILGHBSHI. clensmur iged GQeubll CETeiTougbBaTear HaeHHe] eeen? (T = 3.14)

Gaeueusshdlen Ly (I Xb) =4X3 =12 219 4 siq @
n(§) =12 o
A e6iiugl ellememumiged Geumpll GaemeieudBaETen HHDFH 6T6iH @Q

3 aug

n(4) = an_Liufg)

ien(A)=nr’=r=1 o

>nax1?2=nm
~allememurl_i9ed GeuBnsl CBm6iTeNSHBHTEN [HlHBIDHH6)
_na_ T
P(4) = nes) 12
_ 314 _ 3.14x100 _ 314 _ 157

12~ 12x100 1200 600
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12. @yeip EHIETGeuTHsiT, Lfwm oB@Id SIS @0 GOHUILL msTgdG, SOILALL  amyshded
(Bssit (pHev Fail cumy) OCFOFBITH6IT. SDIUTHET DEBTIHSGHF FoeuTIL] (PpemBuied eeubeuT(m
BTEDD CFsvdprset. @meumn omsnesE&, (1) @Gy mrefsd (2) QeucuGsumi BT H61fl6d
(3) 91B6H3B5> HILB61Me0L QFLUBBEHTN HHDBHHEBOM6NH HTGIIS. @

S ={ (Fmipel, Hridpe), (HmideT, QFeileums), (SHmhiserr, LGHe), (SHmhiserT, alulmper),
(Hwise1, Geusite), (Hriwelt, Fal), (CFaieurul,CFeieuTul), (QFalauTUl, HhiH6T),
(OFeueurul, yspen), (CFeieurul, elwmper), (QFeieuTul, Oeueierd), (GFeisurul, &Fef),
(UBET, Lse), (Uger, Slmisei), (Lgei, OFeieum),(Lger, alwmpe), (Uger, Geueief),
(U6, gell), (alwimpest, elwimpes), (aluimipedt, SHbisei), (@luwimpss, GFeieuTul),
(efwimpedt,Lgeir), (eflwmpest, Geusiterd), (alwimped, gefl), (Geusiter, Geusitel),

(Qeueiterl, SHmusein), (Qeueitell, OFsieumul), (Geustel, LiFHeon), (Geueslterll, eluwimipesr),
(Qeueiter, Fef), (Fafl, gel), (Fal, Hmsern), (Fal, CGFeieuru), (Fefl, LHen), (Fell, eUITLD6T),
(Fafl, Qeueiterl)}

n(S) = 36

(DA eaeug @meumd B8y mrelled DmIBTHE OFe0aID HHDFF 6I6H.

A = {(Pruzpeir, Hmisein), (GFeueurul,0F6aieum), (L e, LiGHed), (alwmpes, elulmpesr),
(Gousitel, Gousiiall), (afl, saf)} n(d)=6=pA)="D-5_1

n(s) 36 6
(2) B aissiug @ maupid GeuaiGaum Bl Hefled DIhIGTIEG OF6oaId HHIDFS 616i1b.

B = { (Hmzpeir, Gaeueurul), (Hmidbel, LHe), (Hmisel, alwmpes), (Hmiset, Geueier),
(Pmiselt, Fal), (CFeitsurul, FHmise), (GFeuieurul, yspe), (GFeieurul, elwimipes),
(QF6ieunul, Geieitel), (QFeiaumul, Feal), (UH6T, HMIH6T), (LUHe, GFeiaimul),
(ugedt, elwimpedn), (LHer, Geusiel), (UHedr, Fel), (@IWITPET, HMISH6),
(@wimpesr, G&sueumut), (Nwimpeir,LHe), (allwmpssr, Geueierd), (aluimipedr, &eol),
(Qaueiter, FHmiseir), (Qeusitel, GFeieuTul), (Geuetel, LFHen), (Qeustell, eluimipssr),
(Qoeueiterl, Feo), (Feull, Hmidel), (Fel, GFeleurul), (Fei, LHeN), (Feil, elwimpedr),

(safl, GousiiaM)} n(B) =30 = P(B) =2 =2 g T Te—r—
3) C eres . .  efla . 36 6 gwiores Luipbd Qauiwieyd.
®3) m@u@ g@g,g,@g,g, .LF’ rn_aa' .GO @Q.B@J@LD a.a1.82l: om GplLmengsd (leap year) 53
SMBMYHE CFeOMID BlBPFS ereis. FafBAIDMIDBST BN LILSBHTET KBLDHEE) 61660 ?
C = { (Frmelt, QFeueurul), (GFeueumul, LiHe), (@My: 366 =52X7+2) @
(U6, alwimpen), (aflwimpest, Gleusier),
(Geusiiefl, a)} n(C) =5= P(C) = % ==

@wfa‘mx‘m&u Mwa'ss@

1. pPev PB WBEID Fmbusd BB CETewiL. QM LsmLB6T @CF CHraHdHed o @MLLILGSBamBer. FHein
SIMRNHEH MY BMENUID 61(1GIH. LIGMLHeflel L6g allpld eTemiseien dmBHe0 SDOUMBOTHI &SlenL_HH
BapsHEe| eere? (1)8 (i) 13 (iii) 12-6@5 Fwworsaid s el @smmemrraamm@

Fmploauel =6 X 6 =36 (i) 2 usmL_seiear gmbHev 13
n(S) = 36 B aiaiugl 2 usemLsefler gnBHev 13
HevLlgmarar BapFd eaeis. B ={}, n(B) =0

P(B) =28 _ 0 _

() 2 usmLBalaT amBHeo 8

A aaiugl 2 usmLHeTeT SmbHe0 8 n(s) 36
SHOLULSBHTRN B BDFS  6T6315. (iii) 12-s@& sFwwrsa|d Smsd el GmBEUTHEID
A ={(26),(3,5),(44),(53),(62)} C eaiugl 2 UBMLI6MRT GEmbBHe0 12 &&F
_ FOTHOD MG Il GHMBeUTHD SHULISBST60T
n(4) =5 Bapsd eeis. C = {(11)...(66)}, n(C) = 36
e _3 _n(©) _ 36 _
PA) = = 36 PO = =%~
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1. P(A) =§,P(B)=E,P(AUB)=§mﬂm, P(ANB) srews.
P(A)=2,P(B)=2,P(AUB) =,P(ANB) =7
P(AUB) =P(A)+P(B)— P(ANB)

1 2 2
§_§+E_P(AHB)
2 2 1 1 2 5+6 11
PANB) =+ —5=3+5=5F =%
3. gnn gFwamiiF GCsrpmenuisv A, B yduiemel

P(A @svemsv) = 0.45, P(AU B) = 0.65, aialed P(B)-é snesins.

E

2. Awbgio B syfuenen @m  Bepsdlsst, Guwsud, P(A) = 0.42,P(B) = 0.48,

P(A @svamen) = 0.45 = P(A),
P(AUB) =0.65,P(B) =?
P(A) = 1 — P(A @soemev)
=1-1045
= 0.55

wipd P(ANB) =
(iiil) P (Asis0605) B)

61.50M.8.25:
aieiev P(AU B) ma &reiis.

o

B3 Bursatp m:ewrismal
Swiors LulBd GFuiwe).

E 1

P(A) = 0.37, P(B) = 0.42, P(ANB) = 0.09

()

@eemBowTen  alevd@ld HEpFHEeT. BGogud

&) (p1A2)
?

@31 Cursry zewkzxal

swiors uwWiBd Gauiweyd.

0.16 etetie0 (i) P(A @svemev)
SUAUIRNBEDBE  HT6WIH.

(ii) P(B @svsmev)

4. A wppib B-uley, &HoBhsaH gHTOISH @Ml HBausBsTe Habpshse 0.6.

Awppib B @81 CrrsHalsd menL GumsugbaTen BabsHse) 0.2 eeafsy,

P(AUB) = P(A) + P(B)
0.65 = 0.55 + P(B)
0.65 — 0.55 = P(B)
0.10 = P(B)
~P(B)=0.1

P(A) + P(B)-m08 snevis.

5. Hawsd A-samer Bapsse 0.5 wBpid B-dstenr Hansse 0.3. A wbsid B

BN QeTMBOWITEIH eMeVb@GHID Basdsen eefed, A-b, B-ID HaHLOMO60
QMLULSBHTEN HBHDHEHMEUD BHTE0I.

a.&1. 828: A& B sduwiene P(A)=Z,

o QHBGSLTH DWW  Byeiih  Blasdaet eefled,  LisieumesmeuBenm

snemis. (i) P(A oisvsvg B)

L P =§ wigid P(A wipib B) =§
&

(ii) P(A-b @svemsv oBmid B-b B60emsv).

6. Quewih USMHLB6T @B (WPHOB 2 GLLUUBGSemer. WpHed usemLulled (ps wWwHY QrrenL il
LIEDL. 61601 Si6V6VBHI (PSH WHILB6IM6T FmBHe0 8 Ybd SMLULSBBTON BHHDHBMEUD HITCUIS.

Qe LGN BT 2 (HLLUULT60 FnpiGeusr,

S ={(1,1),(1,2),(1,3),(1,4),(1,5),(1,6)
(2,1),(2,2),(2,3),(2,4),(2,5),(2,6)
(3,1),(3,2),(3,3),(3,4),(3,5),(3,6)
(4,1),(4,2), (4,3),(4,4), (4,5), (4,6)
(5,1),(5,2),(5,3),(5,4),(5,5),(5,6)
(6,1),(6,2),(6,3),(6,4),(6,5), (6,6)}

n(S) = 36

i) Aetetiug (WPpHev LBMLUTEL GTL WL 616w
QIHEUBHBHT HBIDFF  6T6iB.
A=1{(21),022),(23),(24),(2,5),(2,6)
(4,1),(4,2),(4,3),(4,4), (4,5), (4,6)
(6,1),(6,2),(6,3),(6,4),(6,5),(6,6)}

A 18
n(4) = 18:»P(A)=% =2

ii) B etetiug (& FHUs6N6 FnbHed 8 b
SmUUSBETE HSBDFS 6T651%5.
B = {(216); (315)) (414); (513); (6!2)} )]

n(B) =5
_nB) _ 5
P(B) = n(s) 36
ANnB =1{(2,6),(44),(62)},n(ANnB)=3
) _n(anB) _ 3
~PAnB) = n(s) 36

[+ P(AUB) = P(A) + P(B) — P(AN B)]
P(AUB)=+=—2

36

_ 23-3
T 36

20 5
"3 9

@3 Gursary

E

Gwiors uuibd Gauiwieyb.

BT HG BT

1 D

61.5M.8.27: @QUewi(h LSMLEH6T 2 BLLULBSmer. @Qrewih (Web
Fa(bH0 4 UEH QMULSBHTEO HBIDHHMEUH BHT6NIH.

LHUUHEBHD FOWTH SHHH D600H (PH  LOSHIIL|H6T 60

oG LULBH: 8. QretiB (LpeBWITET LISmLS6T 2 BLLUUGL QuUTIpsl, (WPps WwaHlseiler QUmHHsL 6 RHCMT DisVEVSHI
ws s aHGHLTFD 5 HRsCT RBHULSBHTE BHBHIDSHEHMEUD HTEwIH.

wtsteam100@gmail.com
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7. @m Guiiguisd 3,5,7,9,....35,37 elehip eTeviteseit @GUiGHULLL. FLBH6T 2 _silenen. FoeuTUIL] (LpenpBuied
TBSBILBD @ FILB UGHI 7-60 LOLHETS Dj6V60HI LIGT 6Te0lenimed SHLILISBHTEN HHDBHBMEUD SHT60dH.
@@ Guliguilsy o sitem FI(BH6eMed GMUlHSUILLL  6T6mIH6I
S$ =1{3,5,7,9,11,13,15,17,19,21,23,25,27,29,31,33,35,37}, .. n(S) =18

i) A el 7-601 DL BIBTH SHUUSBEHTN HHIDFF  616i1b.
A ={7,21,35}, n(A) =3
3
o P(A) =18
ii) B e16diug LIBT eleviteniTes QMUILIGBHTN BlHBIDFS 6160165,
B ={3,5,7,11,13,17,19,23,29,31,37}

n(B) = 11
_n® _11
P(B) = n(s) 18

AnNB={7}, n(AnB) =1, P(AnB):"i“‘(Z?:%

~P(AUB) =P(A)+P(B)—-P(ANB)

1 13

3 11
P(AUB)_1_8+E_1_8 =18

[ 83 Cursry mwHEBBAY }

swiors LuwiBd GaFuiwe.

(5m)

61.8M.8.26: @ SmenLUisvisiten 80 Lehd6il, 70 Heuli] BBID 50 Oeusitens LHH6MeIMdBAH Fo Tl (Wpensuisd b
U CaxibOsbasiBd Curdl il WEhFeT Sivevdl Feaull] BBl uames Qmbs BHeDHEe| sleien?

61.8M.8.29: @ GLUIGUI 1 wWaHsd 100 eueny o 6ilen &He| slewl OsTewiL  aiBoefelpbs Foaumuilin] (pempuisy
Qeiemmd CHIHOHBHGILD CuTEI SibH I I96T HHe| 6160, @F ESJL DL 6160 DIVEVHI (PP 6UTHS 6160l D0V (LP(LY
SHEWT 61600I6WITS QBLILISBHTEN HHDSHDHE] SIS,

9. UGS WAIFTy @LUBSD SeOLULSBETN [HHDSHH6) % D@D GPMTUlEeT  CLIT(HSHBHIUSBEST60T
PUUBSD SemLBBMOed RHULSBHTEN HHLDBHB6Y g SGL. CoId @GHOBHIULFD gHTouH @
UUBSD S SSLICLBINISBHTH  HBHDHEE] 5 oTefleL, @QTIB @LILBSHIBEHD L LILIGHBHTE
BEIPHEH6)| 616160 7 @

PMHEIMBHES WOGIFT) QUUBSID SN ILSBBIN HHPHH6] z, P(A) =§
5

GLOTUISET CUTHSHSHIISBHTN QULHHID HeDL_HBHTOEL SHLILISBEHT [HHIDHHE) g , P(B) = 5
GOBHSLLFID gHTOIH @ @RUUBSID S HHLICLBIOISBHTEN HHLDHH6) ;
P(AUB) =§;P(A nB) =?
P(B)=1-P(B)
P(B)=1-P(B)=1-2=22=2
P(AUB)=P(A)+P(B)—P(ANnB)
2=242—P(ANB)

7 5
P(ANB) = 3,35 _ (56X3)+(35X3)=(40x5) _ 168+105-200 _ 273-200
5 8 7 280 280 280
73
P(A n B) = 280
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[ 83 Cursry mwHEBHAY }

swiors LwiBd GaFuiwe.

a.8m1.8.30: 50 wrewieijHsT 2 siten @B euGLnlsd, 28 Guy NCC-uleub, 30 Guy NSS-spub wmpip 18 Guy NCC @
wipid NSS-aoib CaFFaBmsst. @ Lomemen] Foeutully (WPepulsd CHIHOSHBHHSILGEMTT. 6]

(i) NCC-uleb @wmiba, <penmsd NSS-60 E6v60minsd (i) NSS-6v @miHa, semmed NCC-uflsd Gsvsvminsd

(iii) oenBm @eifled WL G CFiha SHLLSBSGTN Baposabmend Sras. (PTA-1,4, MAY-22)
a.5m831: A wBpd B Pw @@ elevewiustyisst  T-ulsd CoyousBarsd SToHAGHUUNTSHT.  Reuseflsy A

CHIbOSHBSHILBGISHBHTN HHPHEe 0.5, A wBmd B @@meumd CHIb0sGEsLLGMSHBETM Babhse 0.3 seais, B
CaibOshssILBaSBHTN JAHBLLF HHpsHHe| 0.8 e Bimilss. (APR-23, PTA-6)

SvaLuBS: 11. @m wiameast BumHsH CoHyelsd Shdew BB HWPsd CxJFd GupeIsBETE Bansse 0.5
@amlsd BxHiFH SemLwmosd SmUUsBHTe Bapsse 0.1leymdnsd Cxhyallsd BxHysFd il eumBsra Mapsse 0.75
aienfley, HD Cajalsd CaHjFd CLEBIISBHTE HHLDSHHE| 6T60T6n?

10. 8000 w&x6TOHTEN®E OQHTHL G BBJHH60, 1300 Guy 50 auwPdBE OGBULLeNTEST LOBEBID
3000 Guy OGuemiser. Guoaid 50 awdnmE GuwpulL Oueisst 30% 2o sy eaA|D
OxfweaimBpal. CHIHOHGHHBUILGLL @M BUJ, OuKieRTd iebeodk 50 auuFHBE& GBULLeuyTs
BMUUSBBTH HHDHHMEUE HTCOIND. @

n(S) = 8000

A e16tiigl GLiswisemet CHTHOBBHEGHID HBIDFS  6T6015.
o P (A) =

n(4) _ 3000 _ 30
n(s) 8000 80

B stetiugl 50 euwdi@io Gomul Leeny GHiThOSHBULSBETE HHDFH 66,
n(B) = 1300

n(B) _ 1300 _ 13

~ P(B) = n(s) 8000 80

P(A N B) = P(Quewiewine Sieveudl 50 euwidi@ Guomur Leugnes  SmULSBSTEN )

_30% of 3000
8000

30
_ mx3000

~ 8000
900

~ 8000
9

~ 80
- Cmpemeuwimen [HlBIDSHH6)
P(AUB) =P(A)+P(B)—P(ANB)

30 13 9
T80 80 80
_ 30+413-9
80

439
~ 80
_ 34

" 80

P(AUB) =
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11. @@® BErewWD apsii@ (WPemB FMLLILGSEBS. Ffwns QIeNiB HMmevH6T DLV GHMBHSLLFID @
U 960605 SIBSHSHBHEH BIIB HMeVH6NT SN ILUSBETR HHPHHMEUD HT6RIS. @
@@ [BITOIWLILD CLP6IBI (LewB  FemilLLBaEBSHI.
S ={HHH,HHT,HTH,HTT,THH,THT, TTH,TTT}
n(S) =8
() A aretiug silwnes Qreni HMeLE6T S LILSHBHT HHDFS 616015,
A ={HHT,HTH,THH}
n(A) =3 H

. p(4) = _3 1<
“ P(A) = ns) 8 H< L
(ii) B e16diLIg GHOBHSLULFID @ HmeD Heml (ILSHBHTeN BHIDFSF  6l6i1b. .I<<H
B ={HHT,HTH,HTT,THH,THT,TTH, TTT} T
n(B) =7 H
) _ H<
+ P(B) = n(s) 8 . (i
(iii) C a16iug SIBHHBHH BIIB HMeVBET FHeMLLILIHBHTRN HHIDFF  616315b. . <H
C ={HHH,HHT,THH} o3

n) _ 7

n(C)=3
. O _3
= P(C) = n(s) 8
ANB = {HHT, HTH, THH}
_ _n(4nB) _ 3
n(AnB)=3, P(ANB) =" =7
BN C = {HHT,THH}, n(BNC) =2 B Gursip s
BAC) 5 giwions Luibd Geunueyb.
~P(BNnC)= n;(_s) =3 8. Symem peiI| TBIT6UOT LRI 61T Qb (LpedB

FHEWILLUBSMBEN. AHBLULFID 2 1HH6T D06V
ANC ={HHT,THH}, n(ANC) =2  ooppsusd 2 soosst  @oLiugpere

BBLDHBMEND  BHT6NID.
P(AnC) =092

n(s) 8
ANBNC ={HHT, THH}
n(ANBNC) =2,

n(AnBNC) _ 2
n(s) 8

P(AUBUC)=P(A)+P(B)+P(C)—P(ANB)—P(BNC)—P(ANC)+n(ANnBNC)

3 7 3 3 2
P(AUBUC)_ZZI_E-I_E_/{_E_/E-I_/E
_3, 7 2
8 8 8
_3,7 2
8 8 8

P(ANBNC) =
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13. 35 inewiaujseT 2 6o @@ UGLLIL @abauTmaIBESL 1 (WwHed 35 cuemy  eTeRIBSIT
CsTBRHSIILIL (B6iT6ne. LOTEAITHEHHEGID OTauNBEHEGID 2 6Ten efldsonaigh 4 : 3 YGb. alflns
GIWIH6IT  LoTewiouJHeafled  QHTLMES  oTemieldsened  (pYeImLABH. BT  uGUIeI®HHSI
CaibOHBHBLILBGAMBTI. DiGUT LIST 6linsml alflend elemienindd OCBTeRIL.  LoTeRIeUITEET DIGLEVSI
ug oiciienemt euflens elewTeRITES O®TeRIL  TeIIWTSECaT Sisbevg Gl enL  elevwienem  ouflens
oleRIcITBE QBT aITEGauT SWHUUSBETNT HBDHHMID HTERIS. @

QBETHHSIL LS @B UGy 35 wrewaltaen 2 eienet, n(S) = 35

LOTEOTENT B ETHBEHID LoTewIalbEhb@&HD 2 6len aldsid 4:3
4x + 3x = 35
7x =35=>x = 375 =5
=~ wrewieujsen 4x = 4(5) = 20;  wremelssit 3x = 3(5) = 15
Lomemieuj&efeil erewtenidemned = 20, remelaeme sleamlbams = 15
i) Aeeiiugl LST elewiensw Qflend 6lwieniTdd QBT omemalemfd CHTOHBHEGID HHIDFSF 6l6ib.
A =1{2,3,5,7,11,13,17,19}
n(4)=8=PA)="2 =2

n(s) 35
ii) B sletiug L@ etctiiensm aufleng elewienimedsd Gamenil  mewielenu! GHThHOHBHGD HHIDFS 616,
B ={21,22,24,25,26,27,28,30,32,33,34,35}
n(B) =12 = P(B) = ﬁ
iii) C ety @y 6wl eTenTensml cUflend elevwioniTdd CHTewLalmy CHTHOBHBHGID HHDFF 61601,

C ={2,4,6,8,10,12,14,16,18,20,22,24,26,28,30,32,34}
n(C) _ 17

n(€) =17 = P(¢) = 24

n(s) 35
AnB={ }, n(AnB)=0, P(ANB) =0
BNnC ={22,24,26,28,30,32,34},

_ _n(BnC)_l
n(BnC)—7:>P(BnC)——n(S) =
_ _ _n(AnC)_i
AnC = {2}, n(AnC)—1:>P(AnC)——n(S) =

n(AnBNC) :i -0

P(AUBuUC)=PA)+P(B)+P(C)—P(ANB)—P(BNC)—P(ANC)+P(ANBNC()

8 , 12 | 17 7 1
=—+—+——0-—=—-—=+4+0
35 35 35 35 35

_ 8+12+417-7-1 _ 8-8+29 _ 29

35 35 35

swiors uWind GFuiwey.

[ 831 Bursarp zowkxatr }

12. A, B, C s16iuen gj@Gaenid clpsiingl [Heablpsdaeit. Gogid B dlenL LILIGBEmen Hospsse] A-6l Hohssamalll GLTen G HLOL hIGTEa|LD,
1

C doLiugBames Hoepsss Ay ol apdim  wLBETSD o sener.  Gogup  P(ANB) = %, P(BNC) = Z
P(ANC) = %,P(A UBUC) = 11 P(ANBNC) = % saflsv, P(A), P(B) wimib P(C)-ma @ems? ()

0’
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L ﬁm@ix udBF - 8 I

1. decump BapOaisw Lyaedsn Fyraflumers 62.8 wBpld Simaibd Bapoaiesisaier amBoHev 50.
alBu_L MEHDOeIeIEsT f1oBBID f,-33% HHSBS. @
Ufle; QenLGeuer 0-20 | 20-40 40-60 60-80 80-100 100-120
6 & pisuemt 5 f1 10 fs 7 8
X =628, Xf =50,h=20,4=50

L1516y 151D G\6) 6001 EMLOWILDGIIL| _x—A fiu;
QemL_Oeusr fi (%) U; A
0-20 5 10 -2 -10
20-40 fi 30 -1 —fi
40 - 60 10 50 0 0
60 - 80 fo 70 1 f5
80-100 7 90 2 14
100 -120 8 110 3 24
N =ZXf, =50 (D) & (2)-mp Sies
fi+f=50-30 f2+7:20
fot fo = 20 (1) Lofi= 4
gynem = 62.8 2f 24
1 f=2=12
A+cfisfu} =628 @us. c=20 2 =7 =
28—fi+f2) _ f2=12
50 + 20 {5 = 628 £, = 12 e (1) guiL
2[28—f, + f,] = 62.8— 50 fit+fa=20
5 —
28— f, + f, = 32.0 fit+12=20
—fi+f, =32—28 fi=20-12;
fimfi=4 (2 f1=8
3. @M H&Poeusmt Lgeusd &6 CBTBHBLILL[B6iTeNgI.
S L euememiuied, k g Wens (1p1p. 6levds aljbss x|k |2k |3k |4k |5k |6k | (5wm)
agnafiwmegl 160 ereiled, Kk-6i1 LoFHLGNLIS SHT6wID. fl2/]1]1]1]1]1
BBIDORIGHT LITelsD: alevdss afbss agrefl = 160, o2 = 160
x| 1 fix fix? o ek _ (e’
k 2 2k 2k? N N )
2k 1 2k 4k? 160 = 2K _ (ﬁ)
3k 1 3k L5 927ch 48:k2
4k 1 4k 16k? 160 = > T T
5k 1 5k 25k? 160 = 644K%—484K2
6k 1 6k 36k? - 49
 f; =7 | Ifix; = 22k | Bfix? = 92k? 160 = 160k?
49
N=7, Zflxl = 22k, Zflxlz = 92k? k2 =49 =k = \/4_9 =7
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4. Qzevflweried @GUidGsELLLL  Oalupmey FHyeilenr il elevdsonaid 5. @b OGealipensy Hyenel
CJunpeiianl. % LoTBHRIDOUTIE HMLESD SIelsn elevshs JHEF FITFfenuis HTewIs. @

. . 9
o =5, elevss alfbs Fyraf =25, F = ¢ + 32

F o1 ellevdhs eljbs FImaf = zc + 32

(aX + )it elovis aufss arrafl = a® (X & olevdss aufshs Fyraf)

=(§)2x25=2—;x25=81

alevbd alfbsF Fyrafl = 81

5 @m ugeuedso Z(x —5) =3,Z(x —5)%2 =43, oppid Corss SHeyll Lsiefseisn sansmidens 18
aeed FITEf, HL alevbsHMBHH HTENIS.

T(x—5)=3, Z(x —5)2 =43, N =18 Tx? —480 = 43
Z(x—5)=3 Tx? =43+ 480
Tx —¥5=3 ¥x? =523
Sx — (18 X 5) = 3 P
Sx —90 = 3 o= =-(3)
_ vy 93Zx =3+90=93 523 (93)? 523  93x93
X = - 18 5.166666 N1 (E) ~ 18 18x18
X =517
2(x - 5)? = 43 = e = 1 VoA - 868
%(x? — 10x + 25) = 43 ) e
$x2 — $10x + £25 = 43 =5 V765 ==
5x? — (10 X 93) + (25 X 18) = 43 s~ 153
Yx? — 930 + 450 = 43

6. @i bBIEEeT6T LG SLmhiweiied eliuenen GFLWD HevbsLemnev GLITL L 6vkisee  eleneudsit

CanBEsLILLB6iTenal. 6TbP HHJHHE GlencOHeMegH LHBD HENeULITRIHTS 2 6iTengl? @
bHJD A-651 ellenevmsir 20 22 19 23 16
b&SJID B-61 66neumsit 10 20 18 12 15
BSID A-651 6en6VH6iT: BSJD B-6i1 6llene0ss6i:
7= 20+22+159+23+16 _ % — 20 7= 10+20+158+12+15 _ 7?5 — 15
x |d=x—-x=x—-20 d? x| d=x—-x=x-15 d?
20 0 0 10 -5 25
22 2 4 20 5 25
19 -1 1 18 3 9
23 3 9 12 -3 9
16 —4 1 15 0 0
xd? = 30 Xd? = 68
o= [ o= [
n n
30 68
- [ _ E
=6 =2.44 =/13.6 = 3.68
o=~ 244 o = 3.68
BHJD A = 0= 2.44 b&EJD B = 0 ~ 3.68

~BEJD A YoiGHl 0&H6|D BHeneoWiTd 266G
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9. QB GYbMBH6T 2 66N @B GBLUSSD, GMBHSSH @O® OLH GRbMS BOLUSBETEN
BHDSHBMEUS HT6HID ?

S ={BB,BG,GG,GB},
n(S) =4
B - syem @wbsms, G — Guem Gbims,
A sl6tiLgl &HmMbHHH @ CLiswiemmelsl QmUILSBHTEN HHDFS 6l6isH.
A ={BG,GG,GB},

n(4) =3
_n@4 _ 3
P(a) = ns) 4
3
- P(4) =2
OGBS GsTen @il
alleorm erewr: 2 — LuiBd 8.1 60 - 13 oo ellewm GuTEIIBEI. efleum etewr: 7 — LWiBd 8.1 60 - 1 b ellewm GBI
alleorm etewr: 8 — LUiBH 8.4 60 - 6 b ellewm GUTEIBHI. aleom etemr: 10 — LUIBH 8.3 60 - 9 b elleomm CUTEIBG).
alleom eteor: 11 — LuiBsd) 8.4 60 - 10 <o eflewm GuTeBEI.
bapsHHal6n dmlLed CHBBHmS 611pd HapLl. @
FaBOI:

(i) A wBpid B euduiener 68Hanild & MHIDFFH6iT 6l6aev,
P(AUB)=P(A)+P(B)—P(ANnB)

(ii) A, B ioppip C syduiener eJ8Haid clpsdiml HlbpFFH6i stenflsD,
P(AuUBUC)=P(A)+PB)+P(C)—P(ANB)—P(BNC)—P(ANC)+P(ANBNC()

15 (HLIGHTLD:

(i) S- m» FpOaelwures 2 LW @wm Foeuruii] CFrsmenuisy A BBID
B syfwien gf8Hemild Qrewi(B HbIDFFH6iT 616015,

Geusit ULSHHeImbxH A wLBD, ANB oBpid B wl @G ysluienel
RETMBOWTEID  levb@GD  HEpFHHen. Coed eneudbeisn Gy
aesl AU B @b
aemawted, P(AUB) = P[(Awl Bw) U (AN B) U P(B wl_Bw)]
= P(wot B A) + P(AN B) + P(ior_Gio B)
=[P(A)—P(ANnB)]|+P(AnB)+[P(B)—P(ANB)]
=P(A)+P(B)—P(ANnB)
(i) A, B, C syBwen Foeuruiiing Gamaensnuiev S etedim dnmiGleuaiuler J@HemID coedinl BHIDEFFB6IT 6T601b.
D =BUC esis.
P(AUBUC)=P(AUD)
=P(A)+P(D)—P(AND)
=P(A)+P(BUC)—P[ANn(BUC()]
=P(A)+P(B)+P(C)—P(BNC)—P[(ANB)U(AN(O)]
=P(A)+P(B)+P(C)—P(BNC)—P(ANB)—P(ANC)+P[(ANB)Nn(ANC)]
=P(A)+P(B)+P(C)—P(ANnB)—P(BNC)—P(CNnA)+P[ANnBNC]
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